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General Knowledge — Model Question Bank
1. Choose the correct statement?
a) The statue of a dancing girl made out of bronze was found in Harappa
b) Harappan scripts were written from right to left.
¢) Harappa means “Burried city” in sindhi
d) All the above
gflwresr Fnmm1 61817

) CleETTBEVHSHTEOTEN BT IQUI LOHINGEUTN6T 2 HeuFHlensy aByLILITHSH60
ST 6L (BaHBLILILL G|,

b) amyiiues e10dhEH (PdB U6V ILIGBHSHHBHEH S LILSBIOTS 611PSHLILIL (H6iTeren.
C) emyrium ety Hbg) OQTHF CFTELIGE LIMHBUEHIL HBILD 6leiml CLmheTT.
d) oimensHaiIn
2. Who is the 24™ thirtangara of Jainism?
a) Mahavir b) Parswanatha
c) Rishabha d) Chandraprabha
24-400F HTHHMISTT 6leiIm FLoswT FLOWISHH6MIT60 O FTe0eOLILIBLSUT wimi?
a) L&Teiyi b) umierbeumm s
C) Meguir d) #pAyiyur
3. ldentify the planets with rings
a) Neptune b) Jupiter
c)Botha &b d) Neither a nor b
QUEMBTLIBIEGGT CEBTewT(H6ITeN  BHTeTEH6IT 6lemed?
a) QBLigu e b) ellwmped

C) Rrewi(BLd d) ermebevenev
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4. ldentify the wrongly matched pairs

1. Pandyas - Killivalavan
2. Cholas - Nedunchezhiyan
3. Cheras - Neduncheralathan

HUBTH  QUTHHSHWeTenensd CHiH6HMH

1. UTeRNQUITEHeT - Fleiterileerelemedt

2. Gamipimei - OpBEhOFIHWI6T

3. Gayimel - OB B 6hBF 60T He0T

a) 3 only b) 1, 2 only
c) All d) None

5. Choose the incorrect statement

1. Sabha of Rigvedic times included the representatives of people

2. Idol worship was followed in early Vedic age

SHUDBTE FnBml 61517

1. & Goug STevHdHed FuT el 26 oHHeMen LIFHBHsenend OHTewiLensy

2. wphmBw BCaugk HTevHaled Hlemsv aPLTH SHHHIHI.

a) 1 only b) 2 only c)bothl &1 d) Neither 1 nor 2
6. Choose the correct statement?

a) Jainism rejected the authority of Vedas.

b) Buddhism did not accept or rejected the existence of God.

¢) Chandragupta Maurya and Kharavela embraced Jainism

d) All the above

Fflwmenr Famml 61517

a) GauBHmIBemeN FLOGWI FIDWID GBBIGECHT6ITENale06me0

b) Quends &I SLeeT RHLILNS GBDIBECBTaTenCaITIOBIGSECMT Gs0enev.

C) ebAIGLs Genflwimd, STTGaICVHID Flo6w 1DHHMBH HAPeT EITIDHSHEIT

d) simengaind
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7. Who was the last king of Mauryan Dynasty?

a) Brihadratha b) Pushyamitra

c) Bindusara d) Ajatasatru
Qe eubgFHH 6T HewLF DipFt wmi?
a) Wb 6 b) ueguiBlyes
¢) Ubguemym d) oimre FHm
8. Match
a) Paleolithic Age 1. Adhichanallur
b) Neolithic Age 2. Daimabad
c) Iron Age 3. Thandikkudi
d) Chalcolithic Age 4. Ahirambakkam
CUTHSSHIH
Q) UMW &HBHT6VID 1. euflFgmeveut
b) uHw sBHTELID 2. MSIDTLITS
C) B®IbLEBET6VID 3. FHTPle@Ilg
d) Q&ibys smsTeVID 4. SIGHAFOUTHSID
a b C d
a) 4 3 1 2
by 3 4 1 2
) 4 3 2 1
d) 3 4 2 1
9. Match
a) Kalhana 1. Siddhanta Shiromani

3

b) Soma Deva
c¢) Bhaskara Charya
d) Jayadeva

Ao w0

. Gita Govindam
. Kathesaritasagar

. Rajatarangini
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QuUTmEHHIH
a) HeLaENIT 1. 651Hs FGrmeoen]
b) Gemo@meui 2. 8% GCammalbsid
C) urerosyrgs Fmrflwim 3. a1 FlHFTHIID
d) QguiBseui 4.  @ITeysHymHIEe

a b C d

a) 2 1 3 4

by 4 3 1 2

) 4 1 3 2

d 2 3 1 4

10. Ashta Pradhans adorned the court of
a) Shivaji b) Krishnadevaraya
c¢) Buddha d) Patajali
SIOAUL_LILNTHTENHET WTHL T FMiHHHI?
a) floungg b) & magemCaheuymuit
C) GHSI d) usehaed

11. Choose the incorrect statement about the Mountbatten plan 1947?

a) The princely states were given the option to join either of two nations (or) to remain
independent

b) Muslim League rejected the plan
c)Botha&hb d) None of these
e)emtl G L6t S L1b 1947, uBg Heummen FwBml 6157

) BhHWFCHF SyaHen, RHAWT SeLevdH LITHe0HTafl6d JHTOIH @ HTHL 6
Cxipgl OBmeTeNGaIT DIGVVHI FHHBHTHHIL 681 RHBHBHCUT CFUIUIeOTID.

b) werveSio 656 Rbs S LHms gmmis Csmeialgsvansn

C) a, b @yewi@id d) ergiaflevensv
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12. Choose the correct statement.
1. Ahmed Shah changed the capital of Bahmini Sultans to Bidar.
2. Vittalasamy temple is the example of Vijayanagar Architecture.
Fflwmenr Famml 61517
1. umfell opFer HWevbHMT LILMHBEG WIBIIWLEIT DSBS Q.
2. el Leogmdl Seouid, elluibs) CaTuiBsl BLoTaibHsE 61HHHIGHTL (B
a) 1 only b) 2 only c) both d) none
13. Who was called Andhara Kalidasa?
a) Aluri Kuppana b) Tuljaji
c) Serfoji d) Shivaji
ABHTH STNHTFT 6T60T NS BLILIL L )T 7
a)oienfled  @lueT b) sisoegrel
C) &y6uml d) fleured)
14. What is Kalarippayattu?
a) Martial Art played in Kerala and Tamil Nadu
b) Dance festival in Assam
c) Harvest festival of Gujarat
d) Food festival in Maharashtra
ML (B 6T60TLIZHI  6TedT60r?
a) Gasyenid WwBHID HLOPBHHHELMEMETUTLLILIBID SHBBHTLILIGHE60
b) oimier BLeig &mepr
b) GerTHHeh SipieusnL g Hmedipr
d) wasmymeaagyrelsd HMLCOUBB o emie|dhad Hepm
15. The Second World Internet Conference in December 2015 was held in
a) India b) China
c) Brazil d) Germany
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QATeRILTONHI 2605 SenewiiHeNld MHTH SLbEH lgFbui 2015-60 6ml@ BLHHHI?

a) @bHuwir b) dewr

C) UGrdlev d) Gggiwed

16. Who is the eight Chief Information Commissioner of India?

a)Vijaysharma b) Radhakrishna Mathur

c¢) A.K.Mathur d) Deepak Sandhu

QbH W6 61U LTOUH HEN6VEDID HBHEUSD SLeMETOTIT Ui ?

a) eflegul eQiioT b) grsrdmagemt TSI

c) A.K.orgii d) Sus Frpg
17. Who will be the chief guest at the Republic play parade of January 26, 2016?

a) Barak Obama b) Shinozo Abe

c) Angela Merkel d) Francois Hollande

meeufl 26, 2016, @bHwTale GQUTHSHHOMSHBE HMevenLlo ll(HHHMITH cbHHeUT
wim?

a) ugTé  @QUITLOT b) geioizgevm G d6lE60

C) HenBam 26U d) .. yre@smulsd emmeveLTEITGL

18. Which of the following is not under six most highly polluted cities of India as indentified

by CMCB?

a) Kanpur b) Ghaziabad

¢) Faridabad d) Agra

CMCB B8giib0sBHai6men 105a|bDHS THUBHBULLILB6T6N [HEHTBIBEH6T IITHHI
61517

a) sediyi b) srdlwmuns

C) ufsTums d) suabym

19. Shabeen - 1A refers to

a) Nuclear Missile of India b) Nuclear Missile of Pakistan

¢) Nuclear Missile of China d) Naval Exercise between India and Pakistan
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agmanien -1u] eTeiLg
a) BhHWITON6T DIl 6]6) M 6T b) urderoFHTer SigmI EFEIBEM 6T

C) Feumellel Digml 6]6)|56M6HT
d) @bHwumelBe@id, UTdesTaIHEGD Gl Guiwimer SUILIBLML  Sewlel@ELIL|

20. Which country was the first in rank in Forbes best countries for Business report 2015?

a) Norway b) India
c) Denmark d) China
Bumiienilsr euemiessHBS FBHS BIGB6TIABEMS 2015-601 (LPpH6edled BBHEGL BIH 61517
8) i Geu b) @beun
C) QLedTomid d) e
21. The Olive riley turtles are classified under which category by IUCN?
a) Vulnerable b) Extinct
c) endangered d) critically endangered
16061 M6l yeminseit, IUCN-6i1 61hdH auendUled 2 6iTond)?
a) oufeuruitiy G b) oufujb smeutulsd 2 _siten Geud
C) 21fbs d) s Simpdu Reb.
22. India’s rank in Global Gender Gap Index is
2 608 uTedean @emLGeusll Guluiigsd EmSwimelss Benev
a) 130 b) 139 c) 109 d) 108

23. Choose the correct statement
1. Dhanush Missile is a variant of Prithvi Il missile

2. The range of Dhanush Missile is 350 km

gflwmresr FnBm1 61817
1. Hm0s gamament LImHal-l1 geysemenuler GeoumiLimh
2. SN  QevdH@ 6levemev 350 .16

b) 2 only c) both

d) noen

a) 1 only
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24. The new indigenous anti-submarine worship inducted to Indian navy is

a) Kadmatt b) Vikramaditya

c) Vikrant d) None

AbHW FHLBLML HGH6IT Eememrdballl L Ll 2 6Tl (B Bidppd eidiiy Gumids
HLILISY 61517

a) &L oML b) elléyiomagHuim

C) elérmbs d) e1gieLe0emevem

25. Which of the following is true related to seventh central pay commission’s
recommendation?

a) The rate of annual increment to be 3%
b) The minimum salary would be 78,000 per month
¢) The maximum salary should be 2,50,000 per month
d)botha&c
Jomeugl HHw oaHuid @Grpele ufibaimyset uBBlw Fflwrer HmaHaHIeTSH?
a) eI eardw 2 _wiey eldsn 3%
b) eomphsUlF sagfuibd @h.78,000 WHTHID
C) @ WIHHHe &L F 2anguid ph.2,50,000
d) a & ¢ @yewiBId
26. Choose the incorrect statement
1. Asian Development Bank is headquartered in Manila

2. ADB will finance the increased transmission capacity of cross border electricity link
between India and Myanmar

SHAUBTEN FaByl 61517
1. o fwl eueniFflen MU HMEVENIDUISHID  LD6TTEVT

2. @bHwr - Wwrenor el Cuiwimer eTevemev  LOGTFTT Rememililen B @elLTLiL]
SHmwisE Hawsal oefitug ADB

a) 1 only b) 2 only d) both d) none
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27. Who won Man Booker Prize, 2015?
a) Marlon James b) Leuis Hamilton
c) Jack Dorsey d) Onsari Gharti Nagar
@Gsir Lbsi ufla 2015 Oeusimeui wimi?
a) mievedr BagLberd b) edeflerd emTDEd6LL 631
d) oirigmf sy oisi

C) mrd LmiGs
28. The investment criteria for Super Mega Project under Tamil Nadu Global Investors meet

2015 (in USD) is
a) 60 million to 170 million b) 170 million to 200 million
d) 800 million and above

¢) 170 million to 800 million
SODBETH 2 608 (PSGHeOLLTemidE6T rBTH 2015-61 Ly, @GUUT GsT Hi L HHBSHTen

W&H60H eugby (oI6Iwflébas LTevflev)
a) 60 1evedulesl (Lp&Hed 170 10606IUISHT Gl
b) 170 Wevedwiei (&> 200 106L6SWIGH 6u6D]T
C) 170 1flevedwislt (1pHsv 800 LOl6LEINWIGH UG

d) 800 WevelwignIBE G(Lpsd

29. The late actress Monorama was awarded
b) Padma vibushan

a) Padma Bhushan
c) Padma Sri d) None of the above
LoemBHS Blgend TN 61hd el GLmBBeuT?
a) UGID L6960 b) usio ellyeage
C) ugionf d) ergiaflevensv
30. Which of the following is not a dwarf planet?
a) Charon b) Ceres c) Eris d) none
fml Cxmeidemend FmImHa l 61517
b) Q&erd C) giilerd d) ergieilevemsv

a) gr@rmedr
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31. Which of the following is responsible for the seasonal changes occurring in the earth?
a) Inclination of the earth b) Rotation of the earth
c) Revolution of the earth d)Botha&c
HAUMBTH  OUITHHIUeTeNHI 61517
a) W& memomenr B3 - ACLgFmei b) Bs Guflw BH - emmBsed
c)a&b d) ergieyilevemnemsv
32. Gomathi is the tributary of
a) Yamuna b) Ganga

c¢) Brahmaputra d) Satluj

Camng) 61bd BSledr Hiewemruimm)?

a) WI(Lpemen b) smims

C) yibLoLyg 8T d) g1 60g)
33. Which of the following belong to Andaman and Nicobar island group?

1. Chetlat

2. Kadmat

3. Vaadhoo

4. Havelock island
5. Baratang

6. Neil Island

7. Viper Island

SIbFHLOT6T, HEHTUMT Heydenend FmipbHdl eleneu?

Badhevsh
&L

GUTGHIT
QMBTEIEOTES  &6)]
UMTT&Hml

b60 SH6

MSULIT  &56)

NS R » D=

a)4,5,6,7only b) 1,2, 3,4 only

c) 1,2 3only d) all the above




o2 f*"'/‘?ﬁﬁ-, |
O ¥ NATRAJ INSTITUTE OF TNPSC

cormvese (A Specialised Institute with shortcut Ideas)

34. The thickness of earth crust below the ocean is

ylullelr @B SLVIGE &S 616666 HIQO6T E[HDBEHLD

a) 5-20 km b) 0-5km

c) 5-30 km d) 5-10 km
35. The percentage of minerals found in Mantle is

Qs EREML_LDETIL 605 H60 61HHme llbHTH HTHIHH6NT RMHBHGLD

a) 80% b) 85% c) 40% d) 45%
36. The number of latitudes across the globe is

a5 I FH Canpser yal wrglfluled Rme@Ew?

a) 180 b) 179 c) 181 d) 360
37. Which part of the earth includes aesthenosphere?

a) Mantle b) Upper Mantle

c) Lower Mantle d) Lower Crust

S0 HCT DIBHG Yoluledr 6bdh LGHulsd Smeb@EGHD?

a) HeUFID b) 19BevseuFiD

C) & L &eusFid d) &ip GuwGeur(h
38. Choose the incorrect statement

a) P-waves are the first to be recorded by the seismograph during earth quakes

b) L-waves cause most of the damages on the surface

c) S-waves are similar to the sound waves

d) P-waves travel through gaseous, liquid and soild materials.

SHOABTEN HB6UGD 6157

a) P- oimevsmsit HevpBhassHde Cursl (pHeded Ferv@uoradlymiiilsy &y GaFuiwiiuGib.

b) L-aiemevsmsit Lifluied 1l oiglaiiguiner ifleyssil gBUbBISDBE STJ6IoNS
SIS BG].

C) S-im6euB6iT @6 DieWEVBEMGILI BLITETBE]

d) P- oiemevsmsit euruy, &yen wBmid H Heweoulsvisiten QUTHL Heriled 2B mes
QFsLeVID
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39. Choose the correct statement
1. Jute grows in areas of rainfall of 50 - 100 cm
2. Jute grows in well drained fertile alluvial soil
Fflwmenr Famml 61517
1. gemis0 50 - 100 Q&F.15 wenp Siee] 2 6iT6N LGSHH6Ms0 ellewenu b
2. gewieL QleneNeNldHd GUETIL 6D LO6WI BB
40. The fungi involved in the synthesis of Riboflaviin is
a) Amanita Phalliodes b) Armillaria gallica
c¢) Erymothecium ashbyii d) bothb &c
myGumiGenallell @ BLSHuUlL 2 FHAYD L6hensF
a) SIDTEIL  LI6VEVTUIL 61D b) @iisveomfiwm &6l
C) emM@rgdwid Sier. L6 d) b & c @yewipid
41. Malaria is caused by a
a) Virus b) Bacteria
¢) Mosquito d) Protozoa
SICeuflwm gBUBSHHD SHMyem
a) KIEM6ID b) umstefluwm
C) Qura d) yGym GLrBameur
42. When was the social forestry project started in India?
QbHwimellsd FUpHTWS STHH6T SHLLID 61hdH UeWBH OCHTLMmsIULL &7
a) 1980 b) 1978 c) 1976 d) 1986
43. What is the common name of Sodium Carbonate?
a) Washing soda b) Baking soda

¢) Limestone d) Bleaching powder
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Gamouwid smiuBeu_lgest GuUITEIL GQuUUIT  eTedTenr?

a) FevemeuF GamLT b) Qym9F GamLm

C) GEWIGMITIDL |60 d) Feveneudaimeit
44. Atomic masses of Hydrogen and Oxygen in the ratio in H,O is

bflsb 2 6iTem enaml JegeT BEBIDIHHMNINM6N6T eilagHID

a)l:16 b)2:1 c)8:1 d1:8
45. Which of the following is not a Mega Diverse Country?

a) South Africa b) Pakistan

c) Ecuador d) Peru

o _uffleriileiniowl G MmIsEHeT DILOTHHI 61517

a) Oper I NIMNHHT b) uraerogmest

C) A& GeuLmi d) Qu
46. Identify the true statement

a) Ethanol helps in hardening of rubber.

b) Ethanol is used to preserve biological samples

c) Ethanol damages the nerves of eye

d) all the above

Fflwmenr Famml 61ghI?

) THHMMO@TLILIT LTenevds Ol 1IplB& S LWTLIGEBSI.

b) sissemeoulflwied or&flements LUTHIBTES 2 Hab

C) 6THSHMT6V H6WI [HIIDLIBEMENLI LT @D

d) simengsibd
47. Assertion : A glass tumbler cracks if very hot liquid is poured in it.

Reason : The inner side of the glass expands slowly than the outer side

MBIl : QM Hewienimly Gelemenulsy WeF @GLmen Hewy 2aBmid Gurgkl Siglsv eliflaed
JBUBLD
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HMYewID : @Geuenenuied 2 I LGa Geaafiliugsdenw el Gugiers aifleienl ujb
a) smml WwBpIo sryewid Ffl.  Guwewld Sryewid Fmmpilesr Fflwmer elendbaom@b
b) snBm BEGID &ryewid &Fh.  UEITeL HTJeNID Fm@pflen FRwimer 6lenGhaL6060
C) emmml &M, SIJEWID Housl

d) saBm seuml, &ryewid &

48. Choose the incorrect statement

1. Bones help to hold weight of our body

2. Bone help to maintain osmotic pressure in the blood and tissue
SHEUDBTEN FnBml 61517

1. 6TEUIDL|FHEIT 2 L 60 1ML UG HTHIGSBSHI

2. IVIDL|E6T, QTHHHIHVID Hadseled oam@B Hevlll DPHHHMSH FLOBemevlLBHS
2_56|SmE!

a) lonly b) 2only ¢) both d) None

49. Formation of rainbow is due to?

a) Reflection b) Refraction
c) Dispersion d) All the above
QUTETeNl60 2 (HEUTAUFHET SHTT6IILD

a) geril 61 Qymeriiin] b)gefelsvssv

C) gofl Fewsay d) omenggib

50. Choose the correct statement.

a) Life span of WBC is 4 weeks
b) There are 2,00,000 to 4,00,000 thrombocytes in one cubicmetre of blood
¢) Red blood corpuscles are irregular shaped cells

d) all the above
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Fflwmenr Famml 61517
a) WBC-651 oumippmeit 4 eumyhicseit
b) o sanslLi Grsssseo 2,00,000 - 4,00,000 jpuhkBur enag Beosit 2 _sitere.

C) ArHeH FoUlILamIbH6T QUOBIBHBB UQAID CBTENIYHEELD.

d) smeangsib
51. Match

a) Potassium

1. Cellular Metabolism

b) Vitamin B, 2. Maintain Blood Pressure

¢) Vitamin D 3. Functionary of enzymes

d) Vitamin By 4. Calcium Metabolism
QUTHSHSHIS

a) QurLrdflud
b) eweul Lideir Bo

C) emeul LOeht D

. QFevmeen euenidleng LOTHBMBLD

Q655 AWHSHHMS LITOH&SH60

OpTEHsemen GFwsOLITHSB6NT

d) eweut Liflenr By 4. ®Tevelud euenidleng LOMHBEBLD
a b c d
a) 2 1 4 3
b) 1 2 4 3
C) 1 2 3 4
d) 2 1 3 4

52. The Right to Education Act was passed on
HevRBHTR 2 Memip FULID 6lhdh Ui DM (LpSLILBHSIILL L HI?
a) 1, April 2010 b) 1, April 2005

¢) 1, August 2010 d) 1, August 2005
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53. Which of the following states have a bicameral legislature?

1. Uttar Pradesh

2. Bihar

3. Tamil Nadu

4. Jammu and Kashmir
5. Karnataka

6. Madhya Pradesh

FIemed &L L Lo6iBLOGIGTemT (BTN  LOTHIEVmIGET 6Teneu?

2 555 Uyésaid
e

SHLODBT(H

WD - HTOROT
SIBIL&HLD
WwHHWOITCHLF

A e o

Choose the code

a)l,2 4,5, only b) 1,2, 4,5, 6 only

c) 3,6 only d) 1, 3,6 only
54. The total number of high courts in India

@bHwTelsd 2 6o 2 WITHADETBRIGET6T 61601601 &6ndH

a) 21 b) 24 c) 23 d) 27
55. Which of the following is a Gandhiyan Principle under DPSP of Indian Constitution?

a) Equal pay for equal work for men and women

b) Make uniform civil code

¢) Promotion of cottage industries

d) Minimize inequalities in income

bHW sFwevenoliF FLL S DT GEM(wenmds CHT_LTHSEH6T HThHHUd
Gariurha®elr ereullILIBGog 61517

a) ouemr, QLK GaumevbE&HF FID 2ENAUID CULPHIGHH6D
b) SimaahEb@&GIDO LITEHIeUTET F1LBIG6T SUIBN3ISH60
C) GmFH OHTIHEOHEMET AI6TT &HIH60

d) el gBBSHSTDma BHES60.
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56. The Article mentioning the manner of election of the President in Indian Constitution
a) Article 55 b) Article 54
c) Article 56 d) Article 61
GwrdHsh Henevalfler BHTHed (Lpemmenwl GFTELSID FTdHSH
a) Frha 55 b) syHE1 54
C) 675& 56 d) 5768 61
57. ldentify the characteristic of village life.
a) People depends on each other

b) They carry out hereditary occupation

c) Very less medical facilities d) all the above
58. Match

a) National Integration Day 1. December 10

b) National Unity day 2. October 31

c) World Literacy Day 3. November 19

d) Human rights Day 4. September 8
QuUTHHHIS

a) Cxdlw @mEmWUIUT_H [BT6iT 1. g&wbur 10

b) sl @BuIemILD HT6iT 2. o166 31

C) LIGHSNTL L 6T(1pHBHNe  [BT6IT 3. meubui 19

d) el o Menwser gemd 4. Qai_bui 8

a b c d

a) 1 4 2 3
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59. Which Constitutional amendment reduced the age of voting from 21 to 18?
a) 64" Constitutional Amendment Act
b) 61% Constitutional Amendment Act
c) 82" Constitutional Amendment Act
d) 92" Constitutional Amendemnt Act
amHHeMeEGD auwgl 21-60mbaH 18 Ud GHOBSHSLILLL S 615HSHMTLTEUS]
FLL B BHSD?
a) 64-augl F1 L HHHHHID b) 61l-aug &L L HHBHEHSHID

C) 82-augl I L HHMHBHHID d) 92-auz1 &L HHHSHHID

60. What is the term of Rajya Sahba members?

a) 5 years b) 4 years C) 6 years d)Itisa
permanent body
,uh[;a rgh cWg;gpdHfspd; gjtpf;fhyk; vj;jid Mz;Lfs;?

a) 5 oy emBBseit b) 4 siewiBsei

C) 6 <y Baosi d) 913 9@ BIHsy Semioi

61. Who among the following can establish an Inter-State Council?

a) Parliament b) Prime Minister

c) Supreme Court d) President

LOTHIEVRIBEHSE RemL CuiwiTer gnl L enollenLl Blpie|ueut wimi?
) LMy @pLOGIBLD b) Wysior
C) 2 &5 BHIDIBID d) GuursHSHmevaIT
62. Which Article is related to “Equal Justice and Free Legal Aid”?

a) Article 15 b) Article 16

c) Article 39A d) Article 39
FIohd BHBID RevaudF FLL 2 Hel 6lhH FrHHe0 2 6ieng?

Q) e7H3 15 b) sydHe1 16

C) #1655 39A d) #1651 39
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63. The Original factors of production are
a) Labour b) Capital
¢) Organisation d) botha &b
o _BuSHHUIET 2 _6iennd GIyewname 6ighl | eleneu?
a) 2_eipli b) epsugeud
C) GHMPevemIOLIL] d) a @b b
64. Efficiency of labour depends on
a) Duration f work b) Racial and hereditary factors
¢) Climatic conditions d) all the above
2 enipliLmeMaberiei HMewip 6TenHL GUTHBHH RMHBGLD.
a) Geuemevuilenr GryLD b) ugibuenyd  HryeRiE6i
C) & U GeuriLBlensv d) simeanssiIbd
65. Which Organization releases the world Economic Outlook?
a) World economic forum b) International Monetary Fund
c) World Bank d) None of these
2 0% OuUTmeTHTT CoBuriena Sfidme CeueMulBl iemwliy 61g?
a) 2_60% QUITHENTHTT  LOESIMBLD b) gicuCsa HTewIw Bl&uwib
C) 2 60 eumId) d) ergiaiflevensv
66. Excise duty is a tax levied on the
a) import of goods b) export of goods
¢) Production of goods d) sale of goods
&eomev aufl eTHent g GUTLLILIBeuSI?
a) QuT(psiTdeMe EMd @S b) Qurmeiselen eBBILS

C) GQuTeimdeMe 2 BLGHI d) Qurpsitaeflen aliBLENENT
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67. The percentage of Indirect taxes in the country’s revenue is approximately
AbsHwrellsr aumeuTuied edBps eufl sTHHemen 6ll(HHM([H
a) 70% b) 75% c) 80% d) 86%
68. The Cooperative credit societies have a
a) Two - tiered structure b) Three - tiered structure
c) Four - tiered structure d) None of these
anl_(Bme)] HLET FAPHHIH 0 DienIOLIL]
a) GreniB SIBHE b) awsim BEE
C) prIeh® IBHG dO srgieilsvensy
69. Whois the Chairperson of NITI Aayog?
a) Amitab Kant b) Narendra Modi
c) Arvind Panagaria d) None of these
b pCunsdlen GHemeveui wimi?
a) SUOHTLIBMHS b) BCyHaly Giomg
C) oelpbs uTeTafuim d) ergieyilevemnsv
70. Identify the false statement
a) The proposed GST tax can be levied only by the centre government.
b) Implementation of GST requires constitutional Amendment
c¢) Alcohol and petroleum products are kept out of the purview of GST
d) botha & c
SHAUTBEN FaByl 61517
a) GST aufl wghauw siyaFTeowl HEW eN&dbsUILIHLD.
b) GST aufl B (WOBLILGHHATHUID DIWILILF FLULHHO HmbHn CHemeulLiBLD.
C) waieyd, Gur Grmedur GuTL semo GST-&@slT auyTg

d) b B> C GyewmiGen
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71. Which of the following release the date of estimation of National income?

a) Planning Commission b) National Data Centre

c¢) National Sample Survey Organisation d) Central Statistical Organisation

CarAw eumeutul UBBW HEBalsvBmen GauslulBD Siemli] e1gl?

) LIS b) Bsfl B@eusdL emIDWID

C) Bpdlw wrdf Syuie) enowib d) wspAw ysiteMuiuwied Siemioliy
72. Choose the correct statement

1. Sukanya Samridhi Yojana is for the welfare of girls below 10 years

2. By this scheme, bank accounts are to be created in the name of girl child and to return
the interest when the girl turns 21 years

gflwresr Fn@mm1 61817

1. s@eiiwr FoMg) Guiregenm sl LSHSH QUGBS LI L QLTI &HL0HeMHBHETHHHT6
S LID

2. RSP L GHFHer BHIp, GLewt GbnSHHeMen GQuUIfled eumis HewrdE CHTLmslUL (B
DIGHBHT AU 1genUl CLswTenien 21-a1%h euuIgled HILILIHLD.

Choose the answer

a) 1 only b) 2 only c) both d) None
73. Identify the impacts of Black Money

1. It creates a parallel Economy

2. It leads to misdirection of Natural resources

B UHA 6 eNlenena)menem infls

1. QememQuITHH QUITHENMTHITHMS 2 (HeUThEHLD

2. QUIBENG EIGTHIGMGT HOUBTH &enFdHLILILD

a) 1 only b) 2 only ¢) both d) none

74. From which of the following countries, the concept of Economic Planning in India is
derived?

a) Russia b) USA c) UK d) Australia

o
wiormwese (A Specialised Institute with shortcut Ideas)
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QumeNTHTy HLIOL 6D 61hd BT Iged Shbdl GUMBLILIL L G?

a) reguwim b) QufdasT
C) @mia6eombaI d) servdGyeduim
75. Match

[EEN

a) Kelkar Committee . Banking Reforms

N

b) Narasimhan committee . Small Savings

w

¢) Tendulkar Committee . Tax reforms

d) Shymala Gopinath 4. Calculation of Poverty Line
QUTHHHIB

a) GmpevaiT 1. oumid i hdHHmIH6N

b) mydlibws @& 2. FAm Gy

C) OLeiBevsT @Y 3. aufl FrFHmdbHHmisei

d) edwmosnt GamMiBISH G 4. IBIMWHCHTH HewIHESH
a b c d
a) 3 1 4 2
b) 1 3 4 2
C) 1 3 2 4
d) 3 1 2 4

76. The price of a house is decreased from Rs.15 lakhs to Rs.12 lakhs. Findthe percentageof
decrease

QM i er eleweowmengdl oh.15 @60l FHHIBHBH (H.12 VL FIOTH GMBHMBHI 616360
DHN HOBHDH FHNBHHNSH HTEWIH !

a) 10% b) 20% c) 25% d) 15%
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77. Rajesh buys a pen for Rs.80 and sells it to his friend. If he wants to make a profit of 5%
what price for which he would have sold?

186 ereiiLoNT (15.80-5@& @ CuUeTeNaN QUTRISITT DiendH Hedl HewrLifi b 5%
QoML waubHH aBE HenaTSmIT elellsd DiUTDIMS 6l6ilen allenevdd 6liH
Goueutt(BHLD?

a) Rs. 82 b) Rs.86 ) Rs. 84 d) Rs.88

78. A shopkeeper sells a watch for Rs.540 making a profit of 5% then what would have been
the cost of the watch?

R HOLSBMT h.540-5@& @ MBHBRHMTHMS NBGHLOUTIHH 5% Georuid
SIMLBBIT 6Tl DBBHYHT JTHHN DLHDH alenevenuldh HT6mIsb.

a) Rs.514.19 b) Rs.514.29 ¢) Rs.514.39 d) Rs.514.49

79. Raja buys a colour TV set for Rs. 15200 and sells it at a loss of 20%. What is the selling
price of the TV?

@yTegT elediLeNT @ 1961-83 h.15200-6@ eutmia 20% BULHHe0 elBaimri erefled
Siaufler eliBmellenevenuids SHres?

w) 12160 b) 13160 c) 12180 d) 12190

80. A Scooty is sold for Rs.13600 and fatches a loss of 15%. Find the cost price of the
scooty?

QR gl lgenul h.13600-6@ alB@GL QuTpgk 15% BLLID gBESBsH selled Dighei
DI BB 6eNeVenUId FHT6lsb.

a) 14000 b) 15000 c) 16000 d) 1800
81. Cost price of an article is Rs.7282 andits gain is Rs.208 then finds its selling price.

Q@M Ourmeien G &oHelensv h.7282 WBMID DiGHeT eomud h.208 eTellsd oNBM
alleMEVENUI BTN ?

a) 7480 b) 7490 c) 7510 d) none of these
82. Cost price of an article is Rs.320 and selling price is Rs.384 find it profit anf profit %

Q@M Ourmeien SiLssalemsv hH.320 WBBID BB elemev (hH.384 slaflsv@60TLID LOBEBID
QT FHAHHMBHDH BHT6viIH 7

a) Rs.64, 10% b) Rs.64, 20% ¢) Rs.64, 15% d) none of these
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83. Find the selling price if a profit 5% is made on a bicycle Rs.700 with Rs.50 as over head
charges.

.700 w&Hiysiten W Geuswnguimengl ¢h.50 GFevey Gauigk GbUBHBHUILGH MBS sl6ls0
@eurLID Sep HeWL BB eT6ien alenenevudE oliBd Ceusmt(BLd?

aRs.735 Rs. 735.5 ¢) Rs.737.5 d) none of these

84. If loss is % of 5 S.P the loss percentages is
BLLLOTeg eBLene allemevuisd % UmI@ 6660 Bl L FHoNbHHend HTewis?
2) 16% b)Rs. 20% ¢) 25% d) 332%

85. By selling a table for Rs.1320 a trader gains 10%. Find the C.P of the table.

.1320-6@ @ CLiemenm alB@LOUTWE 10% Reorubd L sSBH ey Db
CLefledr oILdbs elensvenuids HTemTs.

a) Rs.1200 b) Rs.1300 ¢) Rs.12500 d) None of these
86. By selling a fan for Rs.1080 a trader loss 10%. Find the cost price of the table.

.1080-6@ @@ Weralalflenw elBs@ Gurpgd 10% BULD gBubBEBa sallsd Db
et ellFpSlulledr oI55 alleneveniid HTenTs?

a) Ts.1100 b) Rs.1200 c) Rs.1280 d) Rs.1350
87. By selling a chair for Rs.1560 a trader gains 20%. Find the cost price of the chair

QM BIBSTedemW h.1560-5@ eB@Gw Gurwad 20% @eorud SHenLsHBH srefle0
SIHHT L HH 6enevenlldh SIS,

a) Rs.1200 b) Rs.1250 ¢) Rs.1300 d) Rs.1350

88. If selling price is g of cost price then find the loss or gain %

alBm ellemeowiTed DL Hd alnsnsoulsy % LUmkI@ 6Teie0 SlenLb@GID S6vTl DisLevG

BlL %-m& STenis
a) 33§%loss b) 33;% gain

c) 20% gain d) 25% loss
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89. If selling price is % of cost price then find the loss of gain %

BB alemeLUITISH DL SHd alensvuied % LUBI@ 61a60 Blemld@IDE60TL  DI6L6VGEHI Bl L

%-m& Brewis?
a) 33 9% loss b) 33 % gain
d) 25% loss

c) 20% gain
90. If cost price is % of selling price then find the loss or gain%

IILHSH alleneowlTengl alBLens allsneoullsd % UmI@ 61660 SHlemlb@D QeVML  Di6060SH]

Bl %-23 srewis?
a) 150% gain b) 150% loss
d) 60% loss

c) 60% gain
91. If cost price is 80% of selling price then find the loss or gain%

SILEHH allensowimargdl elmusner ellsnsoulsy 80cp eTaflled HemL @D GO DI6LEVHI
Bl %-m& smenies?
a) 20% loss b) 25% loss

d) 25% gain

c) 20% gain
92. By selling 44 metres of cloth, one gains the selling price of 11 metres. Find the gain

percentage?
44 15 glemienw elB@GLOUTEH Sl b@G Reomuonergl 11 15 sHiewiuien elBLenest
alleMeVdE FIOID 61660  EN60TL FHe)HHMNHHBM6uIH !

C) 16%% d) none

a) 50% b) 332 %
93. By selling of 5 kg of fruit one gains the selling price of 2 kg. Find the gain percentage?

5 & upsHme alBG BCurgdl ded@id @eomuwTergl 28 LpsHIH el IBLene

alemevdh@E FIOID 616360 EN6UTLI FHeNBHHMBHH BTN,
b) 66 % ©)332% d) none

a) 332%
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94. B selling a pen for Rs. 15 a man loses one sixteenth of what it cost him the cost price of
the pen is.

Rm Guenmened h.15-6@ eIBGWL CUTIRH FBUBD BHLLIOTEIH DUH6T DL HHemevuied

T LB sTadleL DIIBLIeIITal 6T DI SHHaTenevenUIsH HT6mIs?

a) Rs.15 b) Rs.16 c) Rs.17 d) Rs.20

95. By selling a pen for Rs.72 a man loses five seventeenth of what it cost him. The cost
price of the pen is

®m Gueimeney oh.72-6@ eIBGL QUTIRSH gBUBLD BHLLIOTEIH  DIFH6T

SILHFHANem6VIULIED % UmIEBE@ &b elelled SILGUeITale DL SHd alneusnuld HTemlH.
a) Rs.96 b) Rs.84 c) Rs.102 d) Rs.108

96. 10% loss on selling price is what percent loss on the cost price?

elppelensoulsd 1-% BLLID 6l6Lg bbb elenensouisd sihHmen FHaldh bl L HHBHE
gLo?

1 1 3
a)9H% b) 9~ % c) 10% d) 9%
97. 50% loss on selling price is what percent loss on the cost price?

alBpalensouisd 50% B L IDeTeTLS LB 6lenevuiled 1HHmel FHaid &FL L HHMBG
gLo?

a) 30% b) 33 % €) 162% d) 20%

98. 25% loss on selling price is what percent loss on the cost price?

BLLomengl elBusne alensoulsyd 25% e16imTed, DL HEHaleneoulsvbl L FHAHID SHT6emiH
a) 30% b) 332% €) 162% d) 20%

99. Cost price of an article is Rs.9684 and its loss is Rs.684 then find its selling price.

QM Ourmeien SiLdHalensv (H.9684 LBMID DiGH6ei BL LD 0H.684 elellsd alBm
AlleMEVENUISH  HIT6ITH

a) 10368 b) 9000 ¢) 9500 d) none of these
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100. Find the selling price if a profit of 5% in make on a table top wet grinder boutht for
Rs.2560 and an expense of Rs.140 on repair charges.

H.2560 LOAIILIETEN LOTeUEnTHGD SWhHSHTIoTedl (h.140 OFeve] CFUISH LD
baEBILGEBH ealled Demd 5% ReoTubHHME eledien alenevdh@ elBe GeusmBLd?

a) Rs.2700 b) Rs.2845 ) Rs.2835 d) None of these

101. Choose the correctly matched

1. Amuktamalyada - Allasani Peddanna
2. Maduravijayam - Gangadevi
3. Manuchairtam - krishnadeva Raya

gflwre QuTmbLHweTenend CHiHosHMH

1. SIPSHSHLOTEOULIST - SI606VMY  ©ILIS> 60016001 T

2. waIyelleguid - HMHIBTCHA]

3. waFFMgD - Smagewt CHeugmuii

a)l, 3 only b) 2 only c) 3only d) none

102. Choose the correct statement
1. Oxidation number of Fluorine is always “-1” in all its compounds.
2. Oxidation number of Hydrogen is “+1” in MgH»
3. Oxidation number of Oxygen is “+1” OzF;
Fflwnenr Famenmd BHism

13

1. et6veur Gaiomiseend . .L{Gemmielerr dbendeyCGemmbm stemr “-17 o DM BSI.
2. MgH2ailed emewsl regetiienn <y dendleg@eurim stemr “+17° @Lb.
3. OyF, Gaisdsdlev ydberdmeien obendm@arbm eemr “+17° S@ID.
a)1, 3only b) 1, 2 only c) 2,3 only d) all

103. The famous painter during Akbar’s reign was

a) Mir Sayyid Ali b) Ahmad Sahah Abdali

c) Shaukat Ali d) Muhammad Ali
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SGUT Y FHETevHHHHS LS OuBsm eellwi wimi?
b) ois0aE agr Si15H60

a) 18T Fuiugh 60
d) wswa 6l

C) Geogenasd 2160

104. Choose the correct statement
1. a-rays produce intense ionization in the gas through which they pass

2. y-rays are deflected by electric and magnetic fields

gflwresr Fnmm1 61817
o- BFHis6 aumbsemen auflCu GFsLebCUTSHI, suTuHSHM6N WIGHHSH Di6Ne)]

L.

DWW &b 6\F U185 eTme.
2. Y- ®aFisein 06 OBHBID STHFHLI LIGVBISENTE0 6608 HL0ENL LD
a) 1 only b) 2 only c) Both d) None
105. Which of the following is not a bacterial disease?
a) Plague b) Syphilis
c) Cholera d) None of the above
ursleflwmeursd gBUBLD CBTUI DieL6OTHHI 61817
a) L1Gené b) fiederd
C) &meoym d) e1gieie0emsv
106. Which of t he following is the S.I Unit of Luminous intensity?
a) Mole b) Kelvin
c¢) Candela d) Lux
eeflFQapfelen S.I o6v@ etetien?
a) Guomed b) Gsevee
d) eudserd

C) Camewirigevr
107. Which of the following is also called as Antacid?
b) Sodium Hydroxide

a) Magnesium chloride
d) Potassium hydroxide

¢) Magnesium hydroxide
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108. Match

131
|

a) Radio lodine 1. Blood vessel blocks

b) Radio Sodium Na** 2. Anemia
c) Radio Phosphorous P* 3. Skin diseases
d) Radio Iron Fe*® 4. Brain Tumor
QuTHHHIS
a) s@iflubs oBwmger 113 1. QrHHHI6en v L]

b) sffsus Gemouib Na**

2. Q155 Caremnsm
C) sHfwdbas ursrougsro P2 3. Gxmed Grmul
d) sfflwss Bmoy Fe* 4. penends HLOEM6V
a b c d
a) 4 1 2 3
b) 1 4 2 3
c) 4 1 3 2
d) 1 4 3 2

109. The only site of Indus Valley civilization which is divided into three parts as “citadel”,
“middle town” and “lower town”.

a) Harappa b) Dholavira
c) Lothal d) Kalibangan

CamienL, BHHHT BBID, S BHID o6 cpeimprall Lfldsiul Lymbhsd @61 FHba
FoGeueM BHTHTHSH HMID

a) emylim b) Gmmevmaiym
C) Boord H6v d) ®6dLimig e

110. Who among the following discovered that glucose is stored in the liver as glycogen?
a) Claude Bernard b) Luigi Galvani

c) Louis Pasteur d) Edward Jenner
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a) deney GLieonmL

C) sumuflerd LmerdL it

a) Asoka

¢) Kumaragupta |

a) o8FTHT

C) GMrGUs |

a) 23%

111. Who is the founder of Nalanda University?

BTENHST LISVHMVSHINHHMS CHTBWI aldHHeur wimi

113. Choose the incorrectly matched

SHUBTH QUTHHSWeTenensd CHiHoHMH

&EnHCHTEL H6L6STeV0 HlemendChTmeaTes CFbHLILBMMSBE HewILMlbHeut wimi?

b) sure smeveuTen

d) e eui Gegebreuri

b) Dharmapala

d) Chandragupta 11

b) siwureor

d) spdrensi |1

112. What is the percentage of forest based on the Indian Forest Report - 2015?

bHW s1hHHeMe Dfldma 2015-601 Ly RbHwimelsd HTHH66 FHAIHLD
d) 28%

b) 33% c) 21.34%

Maintenance of tissues

1. VitB, - Riboflavin
2. Vit.By, - Cyano cobalamine - Maturation of Erythrocytes
3.VitB; - Thiamine - Nourishment to Nerve cells

HMFH6T  LITmIOfCiL]

1. emeul”_.B, - MGumYermeedt
2. emaul_.By,- mFWIBeom  GHMTLITELEMLOEHT o iugmisbsefen (pHTFd
3. eweul.B; - M GHUILO 6T BILDLOF60HEHHE 261 L 1D D61 HgGH6e0
a) 2, 3only b) 1, 2 only
c) all d) none

114. Choose the correct statement

1. All Lanthanides are metals

2. Caesium is an example of lanthanides
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3. All lanthanides are d-block elements
4. U - 235, a lanthanide element is fissionable
gflwrenr Fnpenmd CHis
1. eUThSHMDMBHET DMASHEHID 2 BeoTs QUHBMUIF FTTHHIHI.
2. Ferllwid eVTHHMMBHBEDHHE THHHIHBTL B ELD.
3. 6UTHHMIBEH6T M-OHTGEHSH HeMIDMBIGBET G LD.
4, U.235, eretidd eonpHewen(h LleMe|LiL Sanlgpuig
a) 2, 3only b) 1 only c)1,3,4only d) all the above
115. Choose the correct statement.
1. Lysosomes are found in all prokaryotic plant cells
2. Plastids are found in all prokaryotic plant cells
gflwresr Fnmml 6187
1) swensHg LGImCsflwm e srauy GFsvseladd mevOFTCFTIDE6T E[HHBEID
2. HTauy WBEID elevkld 6CFe0HaMNed HewlBRIB6T EMHHBESLID.
a) 1 only b) 2 only c) both d) none
116. Which of the following category does a neutrino belong to?
a) Boson b) Fermion

¢) Positron d) None of these

Blugl NGeum 61hdH eUEMBEMUIF FTiTHHHI?

a) Gumeromedt b) Guirtluimedt

C) urdl_ymedr d) ergiaflevenensv
117. Match

a) Jhelum 1. Parushni

b) Chenab 2. Vipas

c) Ravi 3. Askini

d) Beas 4. Vitasta
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QuUTmEHHIH
a) eSe01d 1. umege
b) Q&1 2. elumerd
C) gme 3. Serodle
d) wmerd 4. afl_merogim

a b C d
a) 4 3 1 2
by 4 1 3 2
) 2 3 1 4
d 2 1 3 4
118. Identify the true statement

a) When a moving car stops suddenly, the person sitting inside the car falls forward is by
Newton’s First law of Motion

b) A bullet fired from a gun can pierce a target due to its kinetic energy
c) Surface tension of water helps Detergents in cleaning the clothes.

d) All the above

Filwmer FnBens INlH

a) @b &1 HleOyew BHmIHH1 LGIDCLTH, ST 2 I HTiHHHBGWD @ BUT
(pediBanTésasl all(peugl Hlul LTedilen (PpHev elFHlenwd FmibHHl.

b) siursduledmbal eiMeasILBL Gaih, BTevbmd SNGHIEF CF6LMBHBEHT HIJ6wID
SHN QUSHB Y MBMEL

C) FeLMUHEHIT6N, Hiewlevwl FHHID QFuwl 2 Heeudl, Biler ugly Supelend
d) simeangsiIb

119. Which of the following has a 13- chambered heart?
a) Cockroach b) Snake

c) Hydra d) Crocodile
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13 siemmamsit OsTewi. @HWD 6hdh 2 ulflarhalsd o steng)?

a) srliumer Fd b) umibyy

C) emauBL_Jm d) wmHemev
120. Arrange the layer or atmosphere from the earth surface

1. Mesosphere

2. Troposphere

3. Thermosphere

4. Stratosphere

BleoliugULlso@ bl suelioemiLev DIBHEBGHHmeN auflenFLbBHHIS

1. WFmerOLIWIT

2. L @ym@umerdLuir

3. QgiGwmerolflwir

4. erol_@ym@LmerbLilwu

a)l,234 b)2,3 4,1 c)2,4,31 d)2,4,1,3
121. In the study of Air pollution SPM refers to

STBMI LOTHBISHEVI6 GH, 6T6LIG

a) Suphur Phosphorus Matter b) Sulphur Particulate matter

¢) Solid Particulate matter d) Suspended Particulate Matter
122. Who is Missile Man of India?

a) Vikkram Sarabai b) Myilsamy Anadurai

c) Attal Bihari Vajapei d) APJ Abdul Kalam

Qb wireler ealmenemiulen Hhend 6160M eSS LILIGLIeT wimi?

a) eMéyib  FTymumul b) wulevams  iestemiTHieny

C) eurgguImul d) APJ aiigi60 &eomd
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123. Which one of the following country has reduced the voting age from 20 to 18 recently?
a) Nepal b) Bangladesh
c) Japan d) South Africa
SpSHHemILuBmIeT 61bd BTG L Gflenn euwma 20-60 @mbaH 18-UH GmmSHHIeeNHI?
a) Grumerid b) urkiEeMTCHAG
C) egriLmedt d) Oper o nIfdbsT

124. LAN, WAN, MAN are computer network covering different areas their first alphabet L,
M, M stand for

a) Local, World, Middle b) Long, Wireless, Metropolitan
c) Local, Wide, Metropolitan d) Least, Wireless, Maximum

125. British - Colombia state recently appoint the women judge of Indian origin Justice
Valliamai. The state British - Colombia is located in which country?

a) England b) USA
c) France d) Canada

@bHw aubameusl eusiteMwibenwolIfgad - GaTeobLIwT LoT&STem BHHUHWTS
BwblesUULBeitenTi.  @bd OTHTENID 61h& BT 1960 2 6iTeTg)?

a) @RISeVTHSHI b) @iGwfdbsT

C) Ugmedra d) semm
126. Which is not correct?

a) National Handloom day - August 7

b) world Youth Skill Day - July 20

c) World Refugee Day - June 20

d) National Women’s Day - February 13

SIpHEMTILuBmIeT Fhwnes QUTIHHHTHMS CoHicm:

a) Cxrdlw maEHHN Held - HeH 7

b) 2 v @emenEpidmen Hed - £grenev 20
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C) 2 o0& SiBHB6N Hend - ggoeir 20
d) BsAw Queniseir &embd - LMigeufl 13
127. Which one of the following state has established first Dolphin Reserve in the country?
a) West Bengal b) Bihar
c¢) Uttar Pradesh d) Telangana
@bHwmeller (LPpHev LmeOLIET LITHISTUILSID 61hFH LOMH6VHIHL DemLObHEHI6T6NSHI?
a) CLoB@ eUBIBTENILD b) Semi
C) o 581 LrGsad d) QOseumismenT
128. Period of 21* Law Commission is?
21-0u& 1 FLL HLOGOENT FT60LD
a) 2010 - 2015 b) 2015 - 2018
c) 2015 - 2019 d) 2020

129. On March - 2015 United Nations Organisations passed the resolution on ‘Sendai Plan’
which is related to?

a) To control the IS terrorist

b) To decrease the Carbon Emission

c) To decrease usage of Nuclear Energy
d) To reduce the world disasters

ort& 2015-ub UewiB .BTFmU  ‘OFeormul’ sl S L HHBG SHfLomerd
HeopCauBmlLl L&l & THMIL 651 QHTLTLemL U7

a) IS galyeurs @iy
b) 2 sva Seneled &TiLET DieTenel B0 HH60
C) SlgmIFaHE LIWLGILITL DL &MBHSH60

d) 2 v BGUNLi®BmeT GHMBHH60
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130. Which of the following social security schemes are launched by Government of India

recently?

SIPHHMIL_QIBEIGT QHHUI DIFFTHIBHHT60 QBT UFUILIL L FUPHTUI LITSHIGBTLIL
HILLMIH6T 6T6meu?

1. PMSBY
2. PMJIBY
3. APY
4. PMIDY
5. PMKVY
Choose the correct code
a) 1, 2 only b) 1, 2, 3only
) 2,3,4,50nly d) 1, 2,4,5o0nly
131. Ayodhya is located at the bank of which River?
a) Yamuna b) Ganga
c) Sarayu d) Saraswathi
SpHHMIL 6lhd MBPBleT HFHbHmIulsd “DCWTHuIn” DiewLobEHIeTendI?
a) wi(Lpeorm b) smisT
C) &Fruy, d) Frerveud

132. Match (WTO)

Members Country

a) 160 1. Kazakhastan
b) 161 2. Yemen

c) 162 3. Seychelles

d) 163 4. Afghanistan
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QUTHGHHIB (2_60FH ITHHH HMBICIGILD)

SIpILILT 6T 61T CE

a) 160 1. sm&er0EHT6
b) 161 2. Guisit

c) 162 3. GFdlederd

d) 163 4. syl ismelerog e

a b C d
a) 3 2 1 4
by 3 2 4 1
) 2 3 1 4
d) 2 3 4 1
133. What is the number of union territories and states in India?

QbHwmellsd s1HHemen HH W L FILHSHHH6T OBMID LOTHIEVHISET 2 6iTeren !

a) 29 and 7 b) 28 and 7 c) 7 and 29 d) 29 and 6
134. Match

Exercises Field

a) Ekuverin 1. Air Force

b) Varuna 2. Military

c) SLINEX 3. Disaster

d) SAADMEX 4. Navy
CUTHSSIB

uuwIB&sei HIDBEH6IT

a) Ekuverin 1. eflomesiiLient

b) Varuna 2. JremeNLD

c) SLINEX 3. GuilLi Goevrewiento

d) SAADMEX 4. ®lILeOLIENL
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(LY
b

a b C d

a) 1 2 3 4
b) 1 2 4 3
C) 2 1 3 4

d) 2
135. In Arithmetic Progression 97 times of 97" term is equal to 103 times of 103" term then

find 200™ term?
QM FLBHHOHTLAT 976ukh 2 miider 97 wLmEGW, 103-6ugk 2 mitider 103 LRG0

d)0

g eaNed 200-0u%H 2 mILenLIS HTEWIH.
c)l

a) 200 b) 2000

136. The Sequence -3, -3, -3,
a) AArithmatic Progress only

b) A Geometric Progress only
c) Neither Arithmatic Progress nor Geometric Progress

d) Both Arithmatic Progress and Geometric Progress
-3,-3,-3, ..... 01603 QFHTLT euflenFuimeng)
) @M Fl(bH OHTLITEHHTE E[HHELD
b) 9@ CUEBEGSHOSGTLITESSTE BHHELD
C) gl BH OBTL(HID Sievev QLIBHBGHSH CHTL([HID DisL6L
d) gal BHOHTLIT wBE@ID CUHEEGHOHTLIT

137. LCM of a’bc, b’ca, cab

asz, bzca, cZab -@eir 15.0uT.OU. ST,
d) a’bc

a) abc b) 1
138. An organization plans to plant saplings in 25 streets in a town in such a way that one

sapling for the first street, two for the second, four the third, eight for the fourth street and

so on. How many saplings are needed to complete the work?

¢) a’b’c?
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R BBEJHHe6TeN 25 CHmBHere0 LJHHAIBIHMET B @ OCHTRHIB HmieueDd
Lereu@®oTml (I LUBHHIETENSE. (PHe0 CHmaled @ WFHHaImID, QTewiLmb Cemaisd
@rewi(h OJHHEAMID, CPSIBTID CHmelsd HTENE FHHEIBID, HTAIHTAIH CHMmalsd 61l (B
DT HHAIDBILD SeIUTBTHOSHTLTHHI HLLILBHSBe 6lafled DisiGauemsvenul  CFUIg
WPY&HH 1HHMEN DJHSHMBIH6T CHemeuliLiBLD?

a) 25 b) 125 c)2®+1 d)2®-1

139. Eight men and twelve boys can finish apiece of work in 10 days while six men and
eight boys can finish the same work in 14 days. Find the number of days taken one
manalone to complete the work?

8 oemideil LoBBID 12 Fmeuiser CFibd @ Gouemsvenws 10 BT H6illsd GFUIH
wpuUTisseT. 6% Gemeusvenut 6 SewIE6T WBWILD 8 FpieuissT 14 BT H6iils0 QFUIH
wplumisseiened 1 opemr WL GH HCw ibH Couenevenut 61&HHM6N [HTL H61i60
Qeuwigl wiglimi?

a) 100 b) 140 ¢) 120 d) 280
140, /x6+l6—2 =7
X
1 1 1 1
a) x* + = b)x® — o) [+ 5 d)x® — =

141. The base of a triangle is 4 cm longer than its altitude. If the area of the triangle is 42
Sg.cm, then find its altitude

QM (WPHCHTMSHIHN DlglILidE LOTIH SN SHHHWTHMS L 4 OF.10 DFHsD
Gusud oiHedr UL 48 F.0F.15 6lafled DIBHET HHBHIWIDTHMBHEH BTGNS,

a) 8cm b) 6 cm c)12cm d) 15cm

142. One year ago, a man was 8 times as old as his son. Now his age is equal to the square
of his son’s age. Find the sum of their present ages?

R AGBLSHBEG (WPl HhHmHUT6T QIUSTOIH HekHl H6Mel auwlendll Gumsv 8
OLBEIG PGWD. OBOUTWSH HhHewdHulen euLSHTangl Halel euuHer auibsHIHBE& FLob
ST HBOLITINH DIUTHENH ULSHIHENT Fn[BHNEVDH  HT6U0I.

a) 30 b) 42 c) 56 d) 72
143. Find the area of the triangle whose vertices are (1, 2), (-3, 4), (-5, -6) in Sg.units.

(1, 2), (-3, 4), (-5, -6) e dAw1 Lsielimemen 2 FHsernnes 2 L ul (BT d 6
UglienLd SHIeniskb. (F.91)

a) 25 b) 0 c) 22 d) 28
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144. The diameter of a road roller of length 120 cm is 84 cm. If it takes 500 complete
revolutions to level a playground, then find the cost of leveling it at cost of 75 paise per
square metre?

Rs.1584 b) Rs.1188 c) Rs.31680 d) Rs.5000

145. Total surface area of a solid hemisphere is 675 cm?. Find the curved surface area of
the solid hemisphere

Hewio DemrHCHsTensHe GUOTHSILTIL 675T QF.15° 6laled DB GUMETLITLIHLIS
SBITCO0T .

a) 450 cm? b) 4501 cm? c) 600 cm? d) 600Tcm?

146. If the height and base area of a right circular cone are 5 cm and 48 Sg.cm respectively
then the volume of the cone is equal to

Cpioul L gnblied 2 wigd wBpIbsIglLFiy wWenpGw 5 0F.15, 48 F.05.10 6aed DiFHeor
B DI6TEN6UDH BTN,

a) 240 cm? b) 120 cm? c) 80 cm? d) 480 cm?
147. Find the coefficient of range of

aiFFHDH Ob(pemeNd SHTENIH.

43, 24, 38, 56, 22, 39, 45

a) 0.546 b) 0.436 c) 0.152 d) 0.732

148. If the average of 4137 numbers is 1500 then every number is decreased by 20% then
find the new average

4137 eremimeledr gnl (BFaymafl 1 Gsvld eeuCeuT@ erewienswid 20% @MBEHSLILIL L TED
yHw ggreflenwd Sremis.

a) 1500 b) 300 ¢) 1200 d) 1480

149. Standard deviation of “n” consecutive even integers is

6‘ 2

OeTLiFflwns QrlemL (pp eleidbeleir &L 6ilevdsLd

a) n21;1 b) n23—1 C) n23+1 d)O
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150. Three coins are tossed simultaneously find the probability exactly two tails turn up

CPGIIMI HTEOTLIBIGET SHeni(BHHevled FHWTH STewi(® LLoHH6eNT Henlbd HoHDHBHmeldb
BT,

1 3 7
151. The Probability that a leap year will have 53 Fridays or 53 Saturdays is

QM eSLILITeNTgsd 53 OleueiellbaIpemIDE6T DI6L6VFHI 53 F6lbEIDMOBEIT 6)([HEUSHBHT6EN
HBDHBMEUSH  SHT6ISb.

1 2 3 4
a); b)7 3 d)7

152. One - fourths of a herd of camels was seen in the forest. Twice the square root of the
number of herd had gone to mountains and the remaining 15 camels were seen on the bank
of ariver. Find the total number of camels

hHemSHUTeIeTeN Ya LMIE QUL EHIG6T STLIge00Fameill Ler.  whmSHulsisien

QUL SIS 6UTHBHAPVHHN RMHOLMIEG QL LIHIE6T LNl ILGHHE CFammpien L 6.
WaHueen 15 QUL SRIG6T YBoHISmIUIcd UTTHS (PIYHHe 61660 DIDLOHNSHUTe0

® 66 L L HMmIGH6N6 6T6mI6mNbHendHenLl  SHT6NIH.

a) 25 b) 32 c) 36 d) 49
153. Which if the greatest value?

o1g Quifiw wglemull QuBEIeTENS)

a) V3v2 b) V23 V2 d)VV3
154. Which digit comes on 10" place in 1234567891'234%678%

1234567891124°678% goy aiiflelsd USHSHTD B HFe0 QIBHID QeVHHHMBEH HTEWIH.

a) 1 b) 2 03 d) 4

155. A tap can fill a tank in 30 minutes another tap can empty the tank in 12 minutes if two
taps are opened together how many taps are opened together how many minutes will take
for fill for the tank?

R SWTWTIH @@ OHTLIgenwl 30 BHIOILSHH60 BIFLLWD, LOBOBTH GLTWTEISH! &HevTeutit
BirbLwesten SiwbHeH 6 STl enws 12 HIOLHisefed STl GFUIUD 6Tamed
SJbupBensouied Qm GTUISEHD @GCr CrrHFHey Hmbal el Ll Lmed
WPWHEOBTLIQUD 6l6lcusTey GBIHSBled BIFDLLD?

a) 42 HiolL_misbeit b) 60 PO rimeit

¢) 20 P migseit d) eriGuITpGHID BiFibLITE)
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156.  Legislative Assembly has the ultimate power of passing an ordinary bill. How long
can a legislative council delay or detain the ordinary bill?
a) Three months b) six months
¢) four months d) 14 days

Rm Freryent WEFTHTemal HepCauBnid @miFH DH&TID FULUCUFmaIUILD 2 6Teng).
STOINETE)| HTVHHBE L&FL CoevensuTed @ FTHTTew WEFTHTm HLHH HBIHSH
(21) &M SMPSHH SWsvId?

Q) (PSSl LD HHIG6IT b) @umi wrHrhisei
C) BT6HIE LOTHHIBGIT d) 14 pBrCsei
157. Which among the following is not true regarding the pardoning power of Governor?
a) He can grant pardon, reprieve or respite a person convicted against a state law
b) He cannot pardon a death sentence
¢) He cannot grant pardon for sentences by a court martial
d) He cannot suspend, remit or respite a death sentence

h6emBen el Sefb@ld DHaTImisen uBBiw LNeTeumDd FnBnISeisd SHeusraig
61517

a) wrBley FLLBIGmeT PWISBHTH DeMGBBUILII L HEWILD6NSHEThHE)
weirel Lol ssCour, @enL @uie ieMdsGaur Gulsvid

b) wyew SHewi_ene GUPRIBLILL L BLIHHE DEDHHT 6T kIS GRUIeOTS

C) Quremien BADMBHED GUPBIBLILIL L HEWILN6HE OB LO6TEIL] 6ILPHIS
Quieorgl

d) ouemBEITed Wy HWILeneienul HBHEH BHIHHEIT, GHMBHHEMT D606V
st HTHHCouT  GuieoTs)

158. Consider the following statements regarding convention of appointing Governor

1. He should not belong to the state where he is appointed
2. While appointing the Governor, president must consult the Chief minister of that state

Which of the statements given above is/are correct?

S EHHI6T Bluloer oFLseT GMlda S0 CaTHoHEHLILIL (BT 6)T a5 WIhIgGmerT
BMHBHEL CBM6ITD.
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I. @@ oML UEHHITES HulldsUUB BUT Gouml WIHevhmHd CFibHaITes S[HHD
Gousmr(HLD.
2. GQUWIHSH HMEvalT LOMHE DUEHHMI BHUILSGSLLOUTWOSH, Db LOTHI60S S 60
(WP HEVMIDEFFHL 6T Y CoomdFl Sl Hluidldss GeuewrBLp.
CoBammiu snmmisefley Fflwimeteney s1gi/eTeneu?
a) 1 onlly b) 2 only
c)1&2 d) yemiBLieoemnsv
159. Which of the following is not a leap year?
SLpHBeMILUBMIET 61&% 601 LIBLLD 60607
a) 800 b) 1200 c) 2000 d) 2100

160. Which among the following is a Voluntary Provision mentioned in 73 Consittutional
Amendment Act of 1992?

a) Organisation of Gram Sabhai in villages

b) Reservatin of seats for backward classes

c) Establishment of State Election Commission
d) Reservation of one-third seats for women

1992-o10 e OQsmemiBeuglitil L 73-6uH AFFWeVenIOLIL] HHHHF FLL HH60
GBILLIL_Beiten  HevievTiod @SB 61817

a) Aymomibeiled @ITD FenUBMENT DIMLOLILIGI

b) IBUGSSILL L euGIRIhEE B @HI6SH

C) THlev BHTHL UMEWIUIGHMSH DHLOLILIG]

d) QuemisEhHE APEINfed @ LMIEG @HIGSH eMliLg]

161. All executive actions of government are taken in the name of:

a) President b) Government of India

¢) Prime Minister d) Union Government
DATFTBIBHBH6H DMHH CFWIEOTBHI HLAIYHMBBEHID WITHEDL WI/6TH6 CLIUITTED
BenmEauBmLILIH s eoT360r?

a) GUUTHS HENEVaIT b) @b SiyaTHIBD

C) Lo d) wspaAw e
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162. If we decrease the side of a square by half. Then the area decreases by what
percentage?

RMm FHTSHIHO USBD UGHWTS GmBESLUILGD CUTH DiHe LITLILIETR| 6161666
FHNHD GHempub?
a) 50% b) 75% c) 30% d) 45%

163. In an Examination 75% passed in English, 85% passed in Maths and 70% of students
passed in both the subjects. Find out the percentage who failed in both the subjects

m BCxielsd 75% wremalissT HYhIEBHHWID, 85% oTewINTHT H6wiHHHeVID LOBHID
70% orewieuise @yewi(h UTL misefevid CHiFd QUBISBTTHeiTeTaed ET6ewi(H
uTLmiseiavid GHmevalllisnl [bd LoTewrali&Hellel FHaighlD eTeine?

a) 12 b) 8 c) 10 d) 15
164. Consider the following statements

1. The loss percentage is 10% accured when a man losses Rs.10 on selling an article for
Rs.100

selling price—cost price

x 100

2. Loss Percentage =

selling price

Which of the above statements is/are incorrect?
SIDBTEID FnBBIHNET HAUGH HHALD.
l. @m BTUT @M Oummenen h.100-6@& BB h. 10 BHLL LML 6uGHIT60 BLBLD
gxaind 10%

= afiy mafismes - myL & =afisnen
e mafisnso

x 10d

2. Bl L FHeisHID
CLoB&HEMTL_QIBBIST HAUBTEINe 6THI. .6Ten6l 7
a) lonly b) 1 only
c)1&2only d) Neither 1 nor 2
165. ldentify the incorrect statement from the following

a) If the cost price of 12 pens is equal to the selling price of 8 pens, the gain percentage is
50%

b) Bananas are bought at the rate of 6 for Rs.5 and sold at the rate of 5 for Rs.6, then the
profit percentage is 44%
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c) 0.75% of 40 kg. is 30 grams.
d) 20% of 20 is equals to the value of 20% of 25.
LI 6iTe)HeUGTIBMIGT HEUBTEN 6UTHBUIHINN  &H6mTL 1515,

a) 12 Guenmiseflenl i_dbsalemeoulid 8 CuenTdhseien elBm eleneoujld Fo erefled
LD Geomuld 50 FHNHD YGLD.

b) 5.5-B@& 6 GUTEMIDLILIPHIGGT 6IHID UTHRIBLILLH (H.6-6@ 5 UTENPIILIPBIGET i
QIBSILLLTEL SIDLU|D SeoTUF FHAIHID 44 G0

C) 40 &.&gmied 0.75% sereiiLigy 30 &ymid

d) 20-60 25 Fmeisd WD 2560 20 FHeiGHD WHIYD FLOD

166. .......... was the first Bengali Weekly Journal.
a) Mirat-Ul-Akhbar b) Bengal Gazette
c¢) Samvad Kaumudi d) Calcutta Chronicle

aumis  GomPluilsd Geuefluimen (pHeveury e 61517

a) 157 H-2_60-ibLIT b) QuEiIsTed Ol

C) Fbeurd QB6N(LPH) d) sevassT &CrTeailssy
167. Who among the following is not included in the union Executive?

a) President b) Vice President

c) Attorney General d) CAG

SIpHHeMILaBMled WHAHW FFlen BHieutashs CFgmsHeut wimi?

a) GURUTHS HEN6EVaIT b) siement GuuIzHs Hemeveut

C) @hHU DITFHH HMEVMID IPHBEHT d) CAG
168. Which among the following is called as Super-Cabinet?

a) Economic Affairs Committee b) Appointments Committee

c) Political Affairs Committee d) Parliamentary Affairs Committee

28 Hmeir semwssyenel (Super Cabinet) et SiemipbalILGRISI 61517

) QUTHETTHTY ONEUBTIBRIBET (& (1D b) Bluioesiisst &g

C) ordluisd eNleUBTIRIGB6T (10 d) urgTEpoeB eNeUETIRIGST &0
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169. Which among the following Parliamentary forum is headed by Chairman of Rajya

Sabha?

a) Parliamentary forum on Youth.

b) Parliamentary forum on children

c) Parliamentary forum on Population and Health

d) Parliamentary forum on Disaster Management

Leieu(medseuBmIeT LOMHleumIBeTeneld Henevauflsl Hemevsnloullsd HenL GBI LITFTEHLO6s
gL 61517

a) Bem6NEhTE6IT GHMfiHSH LITTTEHLOGHE G (1D
b) @wbms®st GBS LTITEBLHB &W
C) &L OHTNS WBEBID FHTHTID GMfihSH LTTTEHLOGIHE G (1D
d) GufiLi GeoTewienid GHBlGEH UTITEHLOHB (1D
170. Consider the following Statements regarding Gram Sabha.

1. The 73" Amendment Act provides for a Gram Sabha as the foundation of the Panchayat
raj system.

2. It is a body consisting of persons aged 25 and above of a village comprised within the
area of Panchayat at the village level.

Which of the statements given above is / are correct?
&Sgmo Feoll GNHH HCPOBTHHBLILIL BTN UTHBIRIGHMeT H[HHH60 CBHM6NsH.

1. 73-s46usm DTHWEOHIDLILF FLU L HHHHBHIOTNH LiGhFTUISHSH TTER  Di6enLDL L TN6d
DYSHHENDTEH BT FEDLIGENET DHEMLDEHBIBI.

2. @& QM UHFTWSHSHII UGHEG 2 LUl SIToddHled 2 6Tem 25 euuighl LoBE3ID
HBE& CUBULL QIULGIML U SHHN6T 2 616 _ddlul Fnl L enOLLITELD.

CoBammi smBmiseiley Fflwimeeney sigil/eTeneu?
a) lonly b) 1 only

c)1&2only d) Neither 1 nor 2
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171. Which among the following is not a component of Bicameral State Legislature?
a) Governor b) Legislative Council
c) Advocate General d) Legislative Assembly
LeiieuhedeTeuBmIeT FJened LOMH6V FL L LO6TIB DU DBIGSLD DALOTHH! 61817
a) SLEMBIT b) g L Gosvene
C) ML DITHSH HMEVMID DS EHM] EhIT d) ' Lweii Guigemeu
172. Which among the following is called as Magna Carta of Local Government?
a) 73" Amendment Act b) 74™ Amendment Act
c) Lord Mayo resolution of 1870 d) Ripon Resolution 1882
o _6itenTl_ & DIHLILNGH LOBTFTFID 61601 DMIPSBLILIBISHI 615]7
a) 73-0u5 SPFAWDIILF FL LS FLLSHHHSHHID
b) 74-speug iwwevenibF FU L FULSHHHHSID
C) 1870-u1b syewngedr omGuim Lyyeledr gSiomesid
d) Miuesr giromemd 1882
173. Which of the following gas(es) is/are emitted in the complete combustion of coal?
a) Carbon dioxide b) Nitrogen dioxide
c) Sulfur dioxide d) All of the above
Blevsasfl (pupeusmions eflujld QUTIDEHI BSpeHEHEmIL 6hdH auTumer OleusiulBaima?
a) STTLIEH-6mL - BB b) enpl yeg6ir-enL -y demer®
C) FeOLIT-6mL - Hem6rH d) @emeuwienendgIb
174. Which among the following is correctly matched?
Element Valency
a) Boron 2
b) Hydrogen 2
¢) Aluminium 3
3

d) Magnesium
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SlpaumaleTaBBeT o1kl Ffluums CQuTmbauleTeng?

HEMLDLD B em6u1 B 6dT
a) Gumymedr 2
b) eweamt yees 2
C) Sisuidlesiuiid 3
d) Quéseidlwd 3

175. Find the number of neutrons in the element sodium and calcium?
Camouib oBBID STELVAUI HeMoSHHed BluLl Jrenderein 6166w HemNHMUL  Hemisha([Hdb
a) 20, 12 b) 18, 20 c) 12, 14 d) 12, 20
176. Blance the following chemical equations.
&6 @M _Beiten Cougdelensenul Fosr OFuIs
aNa + bH20 cNaOH + dH2
a)a-2,b-2,c-2 b)a-3,b-2,c-3
c)a-4,b-3,c-4 da-3,b-2,c-2
177. Which of the following factor(s) affecting the solubility?
a) Temperature b) Nature of solute and solvent

c) Pressure d) all of the above

SLPHBHEMILQUBMIGT HMTHMENEIL LITHSHGHID HMJenidHeT 61gl7

a) Geuliuplensv b) senyOuTHeT WBBID ST ILITEN 6T
HEOEDLD
C) SIIPHHID d) @emeuwienendgIb

178. Which of the following metal could be drawn into thin wires?
a) Iron b) Copper
¢) Alluminium d) all of the above
HIPHHWIL 61hHH HeMIDD SIDLIWITS 1OBTHB  (LPIQUD?
a) @by b) smiui

C) aiidlefuid d) SwelwmersHgId
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179. Match
Element Electro Distribution KLMN Orbit
a) Nitrogen 1.2,2
b) Fluorine 2.2,8,5
c) Phosphoruos 3.2,5
d) Argon 4.2, 7
d) Beryllium 5.2,8,8
QUTHSHSHIS
HEULOLD eteusbL gmet udie KLMN esul Liiumens
a) embL_Jegen 1.2,2
b) yem st 2.2,8,5
C) UTerOLIFerd 3.2,5
d) syismen 4.2, 7
e) Gumeveduild 5.2,8,8
a b C d e

a) 4 3 5 2 1

b) 3 4 2 5 1

b) 1 2 3 4 5

d 3 5 2 4 1

180. Find outthe incorrectly matched pair
a) Dispersed phase + Dispersion medium - Colloidal solution
b) Non-ageous solution - Carbon disulphide
¢) Solute + Solvent - Suspension

d) Sugar solution - Aqueouos solution
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HAUBTH  OUITHHAUGTEN Slenewteniid SH6mTL 5.

a) Ufemns

Bemsvenilo + Lflend 261 Sl - FwmlDlod HEWJF60

b) ByBm semysed - SITLGH-mL -F6e0mLIH

C) BmIQLIHET + HEOILILTET - QHTHIBEOBH6IT

d) Fissmy HmIF6L - Bisd HMIF6L

181. Consider the statements

1. In mendeleev’s periodic table, few elements having a higher atomic mass were placed
before elements having a low atomic mass.

2. In mendeleev’s Periodic table, hydrogen is given with group - | position.

Which of the

statements given above is/are correct?

SPHEMIL. FnBBIHEN6NTES HEU6MN

1. QeniLedll Hafo euflend i L eusnswiuisd, Sigml Hlewm DFHHpeitenm Flev
SN LOMIHET, SIGIHNMB GHMBEUTEN HETNOMIBEHEE (PTeNT i eusneniuisd GL b
QuBIeiTET6M.

2. QewiLedll Hello auflend i L alenemnruied, enaml JFmeid@d@ TGS - 1-60 LD
PSSSUILLRTHSS-

CuomaewiL. Fammled Fhlwimeng eTeneu?

a) 1 only

b) 2 only

c) both 1 and 2 d) Neither 1 nor 2

182. Which of the following metal(s) react with hydrogen to form metal hydrides?

a) Sodium b) Potassium

c) Calcium d) All of the above

BHIHHMIL 61 2 Bsunsld enaml Fmamil 6 alsnel|fhsl 2 Geors enaml enyHosenser
2 HOUTHGHHBHI?

a) Gamouiid b) Qum’_Lradluib

C) smevdluwib d) @emeuwienendaid
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183. Find out the correct statement

a) The atoms of the different element with same atomic number and different mass
number is called Isobar.

b) The atoms of same element with same mass number but different atomic number is
called Isotopes.

c) Atom is a non-bonded entity.
d) The atoms of different elements with same number of protons is called Isotones.
gflwmenr auTdhSlWSHHlenannd HewiL1b.

W) @55 el eleidemenud Coumil L Blenm slemidenenuld OBTewiL @@ HodHdHlen
CeusiCauml SiEmIBHeIT WEFTUTTHET Y ESLD.

19) @5 Hens elenibmenuid CoumiLi' L gl 6lenibmenud OsTewniL GleusiCoum
HevomiHelel DiemIbasl CFTELTILS6T SELD.

2 ) ol eleLFH LIenemrlILmng HiH6iH6i

o) HFH LGTTLLmen slemienfldensuld Coupiul L Sigwml eTenidHenenub, 6lame
OCeusiBGauml HeMomiser 6 DiemIbHei CFTELT6IH6T S EHLD.

184. Which of the following meta(s) does not react with sodium hydroxide?
a) Copper b) Aluminium
c) Chromium d) Both Aand C
HIPHHWIL 61hH 2 BeuraID(MIb6T) GFmouid emaBl JrodemnervBLe ellener Lflouglsvensv?
a) s b) odefwin
C) @&Cymdluid d) A & C @rewi(Bid

185. Consider the following statements:
1. A molecule is the smallest particle of an element or a compound.
2. A molecule is a non-bonded eintity.

Which of the statements given above is/are correct?
SIPBHTEID QITHEHUIBIBMENH HHHHD OBT6TH
1. @M Sl DevevdH @M CFTHHen WaFFBW HIGH6T (ALPELHIBTGHLD

2. cpevddnml eT6iilgl Llenemiliprd  HidbeiT
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CBamemiL. gnmpiled Fhlwimergsl e1gl?
a) 1 only b) 2 only
c) both1 &2 d) Neither 1 nor 2
186. Consider the collwoing statements:
Assertion (A) : Bases which completely dissolve in water are called alkalies.
Reason (R) : Aluminium hydroxide and zinc hydroxide are alkalies
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but (R) is not the correct explanation of A
c) Alis true, but (R) is false
d) Ais false, but (R) is true
Leiieu(pD SnBymIsenend  Heueild o
FBm A SMIEISET BHied (PIPEUBHIOTS HmIHH HenLUH Si06H60 sl ILIBLD

s1gewid R sidleilwin eneml jrébenerv® WoBmid bl enaml Jrdbenev®  CuTemBenel
SIV0OBH6 Y GLD.

a) Apmpid R oewmi@ i Gwed R seiiug A elig afwmer elendeasid
b) A wppio R @remi@io oM, oemmed R eleiiug A-ali@ sflwnen allendsiosve.
c) A gfl, syemed R sHeum
d) A saum syemed R &l
187. As we move from top to bottom in the periodic table atomic radius is
a) increases b) Decreases
c) Constant d) Decreases and then increase

Helo aufleng i L suenemruied Gellmbaml H6p GFsLIDEUTH Dieml SLTLIOTEISH

a) siFHsfbE b) @emmuyid

C) WBIosy GMHEHELID d) oosbs &1 siHsfsb@En
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188. Pick out the odd one out
a) Cuprite b) Haematite
c) Magnetite d) Siderite
CUTHBSTSH QeatmBs CHiHOHG
a) GLieyL b) Gamwent 1”
d) FALemyl

C) Gudemeni 1.
189. A Magazine ‘Andhra Prakasika’ was deeply associated with ........
a) South Indian Liberal Federation b) Potti Sreeramulu
d) T.Prakasam

¢) Jai Andhra Movement
wbAT LysTdar’ eeiaid RS 61hdH BHUT | DD 6T QBB W

O TLiyemLuwIg)?
a) Ompeelbdul Hev 2 _femind HLPHLD b) Gumiig wfymoe
d) w.ysrgo

C) Omui UHATT RuibsID
190. With reference to C.N.Annadurai, Consider the following Statements

1. He introduced two language formula in Tamilnadu in 1968
2. He founded Anna Dravida Munnetra Kazhagam in 1949
Which of the statements given above is/are incorrect?
SIETeRIT  QHTLTUTEN SIPHTEID ITHBUIBIBHMeNH HHHIHEL CBT6iTH

Aeutr 1968-Q60 @ GomPles CQEBmeTensd HI L HmEH HIPHTL 1960

DL (LPEmBLILIHH 6.
2. @6 1949-Q60 Sjevitemim  HITAlL  (PITGHIBB HLOHID 6T6TNID DHEMLOLIHLI
IBUGHB e
CoBEewIL. FnBmIBeTeL Bl .6T6me  HEUBTEIH?
a) 1 only b) 2 only
d) none of these

0)1&2
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191. Who amon the following protested against the Devadasi System?

1. Dr. Muthulakshmi

2. Anni Beasant

3. Moovalur Ramamirdham
4. Padma Subramaniyam

Craumprd (pemmHE eiFHrme Curgmouisuiast wimi?

LT&LIT.(pHEHIe0L Gl
Sleitedi  GILIFed1L
CLPSUGUTIT  @FTLOMLAT HID
ugLom  SLLTFLoslluib

el o

a) 1 only b)1,3,4
01,23 d)1,3

192. Find out the correctly matche pair:

Events/Organisation Organizer/Headed by

1. Chennai Manavar Mandram - S.Dharmambal

2. The conference of Isai Vellalar - Moovalur Ramamirdham
3. The Mahad March - Ambedkar

4. The Anti-Hereditary
Education Policy March - Rajaji

gflwre  QuTphauleen Eenewienuld el e

Bo1e] | Siemioliy] gHUTLLTent / SHenevsnio

1. QFeciiemen LOTEwIQUT LDGIMBLD

2. @enFCauenmeni OTHTH

3. &g Guiem

4. Gevddeval erHmiyl Guireml
a)l,2 b)1,34

616Y0. ST LOTLDLIT6IT
KUV ETMIOTLATHLD
SDCLISH GBI
@yregres

c)1,23

d)1,2
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193. Which of the following organizations were established to protect against the caste
discrimination?

1. The Satya Shoodhak Samaj

2. The Theosophical Society

3. The dharma Paribalana Yogam
4. The Bahiskrit Hitkaraini Sabha

gHEH OBTHMLHEHHEG 1HITH HJOTs GUITTIQL! DIHLOLILIE6T 6Ten6u?

LIyLDLD

el o

a)1,2 3

FhHwW Carmpd Flome

@hTer FemLl

Hio uflumevest Guimasld
uBagdfls amssflen Femu

b) 1, 3, 4 ¢) 3,4 d)2,3

194. Consider the following statements.

1. A space craft ‘Chandrayan I’ was launched by ISRO in 2013

2. A space craft ‘Mangalyan’ was launched by ISRO in 2008

Which of the statements given above is/are correct?

BIPHBHTEILD

QUTHIHLIBIBMENH FHHHIHL 6HT6iS.

1. ‘ghaHgmwer - 1° ealewiseod Ser0Brmeured 2013-86v allewrenisd OCFeISHBLILIL L FI.

2. ‘omisewimer  eflewiassod erv@rmsd 2008-Q60  elewiTenlle0OFeVIGHSHUILIL L .

CuBmeniL Fammleveidl | sleweu Fhlwimeng?

a) 1 only

b) 2 only

c)both1 &2 d) none

195. The objective of vinoba bhave’s Bhoodhan Movement was .....

a) To implement the Green Revolution

b) To determine the land ceiling

c¢) To demand subsidy for marginal farmer

d) To distribute land for landless poor
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apFgmiwr allGsmur UTGey GFHTLMISW YlHTer Ruidbsdhdlen Gnrdseld slee?
a) ugsemOLl LT fleduwl BHeDL (LPeBLLIGHEGSHIHE0
b) Mev o _&F& eupibL] (WemmenHUW! BHT([HSH6V
C) fm ou lusFTWIBEHHG SId WTelwD GHTHEHM
d) MevoBmeliseEnhsdE Geuemmemt HeOD aILDHIESH60
196. Who said ‘Democracy is a Government in which everyone has a share”?
a) Abraham Lincoln b) Prof. Dave
c) Prof.Seeley d) Herodotos

“ooaBTUIBID 6THILIGHI @(H DJFTRIS (POBULTGHD, RH60 DMHH DHBHEHD MG
QU6 6l6or GnpSluleuiuim?

a) o ysmd 60misbes b) GuyrAfiwi &1Ge
¢) Guyrdfwii agGsv d) GamG@ymrGLm
197. The Swaraj Party contested in election for the first time in the year of

GW greeduwl &g (pFHeT (WpHeord BHrgHedlsv Gumiguil L oyemih

a) 1919 b) 1920 c) 1922 d) 1923
198. Match

Art Subject

a) 312 1. All India Service

b) 124 2. Inter State Council

c) 93 3. Lok Sabha Speaker

d) 263 4. Supreme Court
CUTHSHSIS

FIHS QUITR6IT

a) 312 1. omenhabdHul Lewiaser

b) 124 2. 1DTH6VBIBEHES L GUILITET @ (1D

c) 93 3. WEHBETmaN HEMEVEIT

d) 263 4.2 55 B8 &IBID
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b C d
4 3 2
4 2 3
1 2 3
1 3 2

199. The winner of 2015 French Open Tennis

a) Rafol Nadal b) Roger Fedrer

c) Nali

d) Serena Williams

2015 J0peh&F euett OLsdiellord LILL D Gleusimeurt

a) grelLeL [BL M6V b) Grmeg QuiLgi

C) Bres

d) Gaflenm aflsbewiberd

200. The main reason for India’s current account deficit is

a) Inflation

c) Petrol

b) Gold

d) Money value

@bHwimeller BLLUL BTG LBBTHESHMBEE (PHETEDLDEDH  HTJ6mID

a) LemieddbaID b) smisid

C) Gun_Gymed d) uewTog

201. Identify the true statement about Shyama Prasad Mukherji Rurban Mission

a) It aims to develop 300 Rurban growth clusters over the next 3 years

b) The project out lay is 5142.08 crores

¢) There are 14 development desirable for the cluster

d) all the above

euwimo Lyensd (psieg giuet L Gemsil umps Fhlwmer gnmml 61g1?

a) @& e GBTHHID 300 L6 eueiEFHd &H(pHHMN ANBHS APSIDI U6 ([HdbE:61
2 _Heurhs GauewiBLD.

b) QsBars 5142.08 Csmy BH @&IGHUILL B6TeNE)
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C) @aileur® @Gapaleuid 14 euenigd] Goum (B CHemeudsem SSwliLL (Heieren.
d) oimengaib

202. The new National Institute of Designs is going to be set up at
a) Kurukshetra b) Jorhat
¢) Vijayawada d) All the above
Capdlw augeuemIOIL] BBIIGIRISET 61hIE BpeuliuL 2 6Teng)?
a) BBSCagHIT b) egniamrs
C) ellgguieumL d) Smeanghsib

203. Which of the following is India’s first complete River linking project?
a) Godavari - Krishna b) Krishna - Cauvery
c) Cauvery - Vaigai d) Ganga - Yamuna

QbFHwmellsd (WHeded B HHmeT SRMeb@GHD HLLD cpsvld GenerrdbSlLL L HIHSH6N

eTemeu?
a) Canareufl - &Hmadewim b) @&megemr - &mGeu
C) &mBaufl - eweueHH d) smhiens - wipent

204. Who are all included under the list of “Makers of India?

1. Jaya Prakash Narayanan
2. Jawaharlal Nehru

3. Bhagat Singh

4. Indira Gandbhi

5. Rajiv Gandbhi

6. Netaji

7. Ram Manohar Lohia

“@ipHwmemel HWTfeHHalToen” L 19uiels0GmUILIeITESeT Wwimi?

Ceawiniysreg  [HTymuI6sTeT
Melamisored Ghm
UsbSHFmI

Ol it

Gureded Fb

GpoHTed

gmid @srai Geomamiwim

NS R ND =
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Choose the Correct Code
a)l,2, 3,6,7only b) 2,4,5, 6 only
c)1,3,6,7only d) all the above

205. FDI limit inprivate banks is

SHONWTT  eumidSdemen pHUl GBIy (PHeSH D66

a) 74% b) 100% c) 49% d) 27%
206. National Highways Authority of India is going to build roads in which of the following
countries?
a) Nepal b) Iran
c) Sri Lanka d) all the above

b BTBH6Med CaHrFlw CBBEHhFTEN6VHNT HIMM FTMEVHENET DMLOHH 2 6iT6NH| 7

a) Gpumend b) mymett

C) Bevmind d) simeanssiIbd
207. Which of the following is the harvest festival of Odisha?

a) Nuakhai b) Bihu

c) Wangala d) None of these

RRET WMBlVHBI6N DiBIeUHL HBBHEMPT 61517

a) BHIUTEND b) e

C) GUMBIGTENT d) ergiaflevensv
208. Uniqu Identification Authority of India is under the control of

a) NITI Aayog

b) Ministry of Communication and Information technology

¢) Ministry of Home Affairs

d) Ministry of Parliamentary affairs
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QbHW HelHHan DHLWTENT IOl 6TH60T S BLUUTL 1960E[HEBHEGLD?

a) P& uBuwiék

b) B®au0 GOHILIL WBBID HH6IL OHTHOHIL LI DDDFFHLD

C) 2_6HINB DIDIDFFHID

d) unymEnwes ENeUBTTRIGET DIEHLDFFHLD
209. Which of the following is the cheapest city in the World?

a) Kuiv b) Delhi

¢) Mumbai d) San Fransisco

2 0HHHG0CW WS LelleuTen BHHBILD 61517

a) daflsy b) &s060

C) (pLbemL d) gmesr Lymeirondero@esm
210. Choose the incorrect statement

1. The green highways Policy is to set up highways with WiFi connectivity

2. The investment would be 1,000 crore for this project

SHOBTEN FaBml 6157

1. usemo COBHEHFTMED GBTETeND 6IaTLIGHI CHHEHFTENEVHENET  BI6H S 6
CLPEVLD S M 6TOTL LI

2. @smarar 1WHeSG 1000 GsHmig
a) 1 only b) 2 only
c) Both 1 and 2 d) None of the above
211. Who among the following introduced the Local Self Government in India?
a) Lord Ripon b) Lord Lytton
¢) Lord Canning d) Lord Wellesley
@phHwmeled o sitenm & HFFTHIGSHMS AB(WPSUILGSS Weut wimi?
a) Miuesr Ly b) e Ledr 1Ly

C) smeimi L7y d) GeusvGeverved Ly
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212. The Institution of Lokayukta was created for the first time by the state of

a) Odisha b) Bihar

c) Punjab d) Maharashtra

Coomrds YUWIBSHT iemIollL] 61h%H LOMHVHSH60 (PFHedled Bmieuli L g)?

a) Qe b) Semi

C) UEhaTLI d) wasryregeyT
213. Choose the incorrect statement.

1. Article 370 states that provisions of Article 1 does not apply to Jammu & Kashmir
2. Part - IV of the Indian constitution deals with Jammu & Kashmir

SHOUBTEN FnBml 6157

1. gp5& 370-ug, Frhal 1-601 alFHe siFHoDd WD HTOSMHBESG CUTHHIHTHI.

2. opfwed semoliy FLLsHe fley - IV mibep sredlmesd QUT®HbHID

a) 1 only b) 2 only c)1&2 d) None of these
214. Who was called as “Zil-i-Ilahi’?
a) Balban b) Akbar
d) Ghazni

c) Aurangazeb

‘fle0-@-@sveomans’ et QUwiT  GUIBMeT wimi?

a) LIm6LLIGH b) esur
C) SieIHIBEL d) sege
215. Match
a) Britain 1. Election of members to Rajyasabha
b) Germany 2. Rule of law
c) Ireland 3. Suspension of Fundamental Rights during Emergency

d) South Africa 4. Nomination of members to Rajyasabha
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QuTmIHSHIH
a) LML edr 1. @rrgw sur 2 _miileriseflss GHiTdHev
b) Gegiiioe 2. FLL
C) SIWITeVTHES! 3. QBpmHBHBlY HevsoulsoigliLienL o fenLnsHemer

QL HEHHID CFUI15H60
d) Oser S Ifesm 4. @uregwl FurT SIBILILTeT BT BHIUILDSD CFUIgHe0
a b C d
a) 2 3 4 1
b) 3 2 4 1
c) 2 3 1 4
d) 3 2 1 4
216. Choose the correct statement.
a) Governor can pardon, suspend, remit or commute a death sentence.
b) Governor nominates one-sixth of the members of the state legislative council
c) The term of office of governor of a state is four years
d) Consittution specifies that the Governor should be a person from outside the state
gflwmresr FnBm1 61817

Q) SLETHBT LDTENT HEWIL el GHMBHHCaT, Heiell eneudbsGar, Weaieiiy eupmhisGar
(LPIQULD.

b) # L weiip Gosvemeuds@ fled @ LMIG 2 BINIITEemen SuEpbT Buidldaamri.
C) 2u6embBile LGHeNHBT6OD BTG 6I[HE6I

d) suenBEi Sibd IHVHMBF FTihHBHMITE BRHBSH L TH 6160 HTFUICODIENIDIIL]
FULID @MlbaILBGS MBS

217. If a Panchayat is dissolved, elections are to be held within
a) Month b) 3 Months

c) 6 Months d) 1 year
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QMM LUEhFTWSHH HM6VHBLILLLTE0, CHTHev 61hH HTeVHHBG6T HewL LB Geuemi(BLo?
a) 1 wrsb b) 3 rsRIHsT
C) 6 T HmIH6IT d) 1 eueLID

218. Who among the following have held the office of the Vice-President of India?

1. Mohammad Hidayatullah
2. Fakhruddin Ali Ahmed
3. Neelam Sanjiv Reddy

4. Shankar Dayal Sharma

& OBTHEHBILLLITHEHT QbHHWTelsl Hemend GUT&Hid HmeLaIITHLl LGl
QUF HGI6NTeTeNT 6l WM ?

l. (Pp&BWLGH ABSHUIGHIHIE060T

2. LUSGBIHOT D0 DSBS

3. peuld Fehdleu Ol iy

4. FMISHT HUWT6ET &FLom

a) 1,2, 3only b) 1 and 4 only

c) 2 and 3 only d) 3and 4 only
219. Qhich one of the following is the largest Loksabha constituency in the area wise?

a) Kangra b) Ladakh

c) Kachch d) Bhilwara

uglideneilsd WSLGUTW bdhHemensl CHTEHSH 61HI?

a) SBIG]T b) svL_mé

C) &l & d) eveumym
220. Who is the Chairman of National Water Resources Council?

a) Prime Minister

b) Minister of Drinking Water and Sanitation

c) Minister of Environment, Forests and Climate change

d) Minister of Science and Technology




CaprAw pieuer FemLuledr Hewmeveut wimi?
a) ysLior
b) GUBILBDID HSHETHTT NMDFFT
C) GBEBIIUBEFSIO6, 6 OBHID SHTEVHN6L OBIBID LMLl DIDIDFFT
d) emlelwstibpmid COHTHOBI L DienFFT
221. Which of the following statements are incorrect?

1. 61% constitutional Amendment Act of 1991, provided a special status to the Union
Territory of Delhi

2. The Chief Minister of Delhi is appointed by the Lieutenant Governor
SHEUDBTEN FnBml 61517

1. 6l-eug FLL FHHHH0D, 1991 FHeved welwen LFCHFHaB@&HF FmUL DHSTILD
QULDMISIWIG]

2. Hevelullell (LPHeLEMIDFFT HIWEW [HleN6D U EBBITEL LGl GBS ILBEBTI.

a) 1 only b) 2only c) both1 & 2 d) none of the
above

222. Which of the following statements are correct?

1. Religious tolerance of Ashoka is evidenced from Major Rock Edict XIII

2. Kalinga War of Ashoka is stated in the major Rock Edict XII
Fflwmenr Famml 61517

1. oBstafer waHFdlLSHHemwenwl QUi Hs06su’ B Xll-s0 Qmba CsNSBa

2. oBsnafen &edmsliCuri, Qufi &Gl G Xl CeaueflulGaefs

a) 1 only b) 2 only 0)1&2 d) none of these
223. ldentify the wrongly matched pairs

1. X Schedule - Anti defection law

2. IV Schedule - Allocation of seats to Rajyasabha

3. VI Schedule - Administration of scheduled Areas and Scheduled tribes
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HAUBTH QUTHBBUeTenend CHihOHH

1. ulguied X - & TBIHmeY HHHGHWD FLULID

2. uliguwev; 1V - @rreaw Fepuulenr @ MIs6T @&HIBHD

3. ulguied VI - QUMTWIBIGSLILUL L oBEID LpkiGluierierel & (wemms
a) 1 only b) 1, 2 only c) 2 only d) 3 only

224. Who was the king during the first Buddhist Council held during 483 BC?
a) Kalasoka b) Ashoka
c) Ajatasatru d) Kanishka
&.19.483-60 HeWL QUMM (LPGH6eOTD OLieTHSH LoMBTLIgenr Gurgdl oiggt wmi?
a) &sTevBaTaIi b) @i@gnasi
C) MTHF & d) saflaism
225. Who completed the construction of Qutb-Minar?
a) Qutb-ub-din-Aibak b) lltutmish
c) Aramshah d) none of these
GO HLIQ (Wlgdh Heut wmi?
a) GalILE Qudb b) @svaidad
C) SugIb&FT d) ergieyilevemsv
226. The Supreme Court of India tenders advice to the President on a matter of law or fact.
a) On its own initiative
b) Only if the President seeks advice
¢) Only if the matter relates to the Fundamental Rights of citizens
d) Only if the issue poses a threat to the unity and integrity of the country

GLRUWIHSH HMVHHEG FLLID FIOLUBSIONS 61hH FIOUISHHD 2 FFHEILD6IMBLD
L CeUTFEMEN  FnM360MID?

a) seigl QFThs wWwBdulsed

b) ®uurss semeveui syBsomgemen Gl @G UL FHFH60I0L (HLD
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C) omgliuenL. o Menipsdeit FbUpbHIOTEN GFuIevH6sd O H(LP
d) BT 196l @BEBIHDEUWILID, @HEDIILTL MWD LUTHBGID OFuisoseisowl Bib.
227. Who among the following are travelers to the Vijayanagara Kingdom?
a) Nicolo de Conti b) Marco Polo
c)Botha&b d) None of these
alWhs] SITEusSHBEG CFaBaITseT sroui?
a) HB&TGeT 19 Hmedig b) wriéGsr GuIT@som
C) a mmib B @yewiGid d) s1gieie0em6v
228. Arrange the following in chronological order,.
a) Formaiton of Muslim Legue, Surat Split, Partition of Bengal< Swadeshi Movement
b) Swadeshi Movement, Suratsplit, Formation of Muslim League, Swadesh movement
c) Partition of Bengal, Surat split, Formation of Muslim League, Swadeshi movement
d) Partiition of Bengal, Swadeshi movement, Formation of Muslim League, Surat split
srevalfleniiLlg  DiBdHH6) D
a) (erveSid 688 BCHMBMID, GIH Llenmey, eumislfelemer, F8hd Huibasid
b) 5858 RQuisbsid, GJH Lleney, ekl Lflalener, evedid 656 GHTHBBID
C) aumisll Lflelener, @yé ey, (wperedid 656 CHTBMID, HOHH @RuidbsId
d) emisl Lifelener, &8sF Fuibsd, (WPervelid 656 CHTBMBID, GIdh Llere
229. When was the Tricolour flag unfurled on the Ravi River bank?
a) December 31 b) December 1
c) January 26 d) January 20
apsaienids Gsemg Jrel HalbsemIuiled eBBUILL L 6D
a) giui 31 b) w&bui 1

C) gaveufl 26 d) egemeul 26
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230. Who was called the “Greatest of Peshwas™?
b) Baji Rao

a) Balaji Vishwanath
d) Shaji Bhonsle

c) Balaji Baji Rao

Lagaurssellsd HemsodmbeHauyred Gumbmiil Led wmi?
b) uredgme

a) ureumed  eNerveIBETSH
d) egred Gumsiero@ev

C) ureomed LTEFT6N
231. Choose the incorrect statement about the Governemnt of India Act, 1935

1. Introduced Provincial Autonomy

2. Introduced diarchy in the provinces
1935-10 oiewIh RbHWSTHF FLLD UBY SHeuprer FaBpl 6187
1. wrsTeumiseied Hererml & S psUUBSHSLILLL S

2. wrsTenmiseled Qrlenl. ol & BlpsILBHSILLL S
a) 1 only b) 2 onlyl 0)1&2 d) none of these

232. Choose the correct statement
a) ‘Deliverance day’ was observed by the congress to show their condemnation for

dragging India into the Secon World War.
b ) Karachi session of Muslim League in 1945 adopted the slogan ‘Divide’ and ‘Quit’

¢) Quit India Movement was a leaderless movement
d) all the above

Fflwmenr Famml 61ghI?
a) @hHwirensn @TewiLmid 2 sl CuTiled FEUBHHHBHT 61ATIIL CHMeilldsELD

auendUlsyd STRIFTeD aMBHME BTN OEHTEIIL M6
b) 1945-60 ®yr&d] BT IgL (pervesid 656 LIMNeHEI OeueMBuiml 616wl (LPIPSHSBLOL L 6.

C) GeusitemenuiBenr CeueNBUIBI BuIbHID, QM HMEVUTHBB EUlbHID

d) simengaibd
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233. Choose the correct statement.
1. Fertilisers are inorganic substances
2. Fertilisers give long term benefits
3. Manures are easily soluble in water
4. Manures contain all nutrients in small quantity
gflwmesr Famml 6117
1. QFwBend 2 JhIE6T SNl CUTHETH6T S E&HLD
2. QFWBNS 2 _JRIS6T [HEWIL HIT6V [HETENLDEH6T H(IHLD
3. QuUIBeNE 2 JHhIG6T sleMdHls0 bHifled HemenFuid.

4. QuBenas 2 JrhiFlened 616060 el L (1 GUTHTHEDHLD GHMBHS ienellsd S(HEHGLD.

a) 1, 2 only b) 2, 3 only c) 1, 4only d) 3, 4 only

234. Match
a) Treaty of Bassein 1.1792
b) Treaty of Srirangapatnam 2.1782
c) Treaty of Salbai 3.1784
d) Treaty of Mangalore 4.1802

CUTHS SIS
Q) L6l 2L &iILIQdHeNd 1.1792
b) Fymisiin iger @riLIpHS D 2.1782
C) &TeveML 2L &AILIQ&HNS 3.1784
d) wEiIsEHT 2 L 6iLigdhamns 4. 1802

a b C d

a) 1 4 2 3

b) 4 1 2 3

) 4 1 2 3

d 1 4 3 2
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235. Which of the following is not aninvertebrate?
a) Echinodermata b) Arthropoda
c)Annelida d) Repitilia
KJInfYk;gw;w caphpdq;fSs; my;yhjJ vJ?
a) (6iTBH el H6I b) samibsTedH6N
C) UM HENFLIL|(LQEHBH6IT d) estieuen

236. ldentify the micro nutrients among the following.

. Calcium

. Zinc

. Boron

. Magnesium
. Chlorine

. Sulphur

. Copper

~N o ok DN

BIGOHT 261 L g SHefllomhisemel sl

Sreodlwid
HISSHHHID
Guimymedt
QLodetdluib
& Cermifletr
BhHHLD
STOTID

A

a)2,3,5,7only b) 1, 2, 3,5, 6 only

) 3,4,5,6o0nly d) all the above
237. Choose the incorrect statement.

a) Swarajya Party was formed in 1925

b) Poorna Swaraj was declared in Lucknow Session of 1929

¢) Gandhi accepted to drop civil disobedience and to participate in Third Round Table
Conferecne after the Gandhi - Irwin Pact

d) all the above
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SHAUBMTEN FnByl 61517
a) 1925-a1D eI HWITTRUWI &Ld PG EUL LS
b) 1929-oyib yewiB 60HGaIT MBI 1960 LLT6m HHHATD DipPelbsliul L5

C) RHBIMPWITDD RUISHHMNBHH SN [H, APHBID 6l L Gensy OTHTL 1960
URIEGERUILSBHTE HTHAH-ETellen QUIBSHID APeOD HTHEH  eULILIECISHTEwILTT.

d) oimensHaID
238. Choose the correct statement
1. Prokaryotic Cell has a single chromosom
2. Ribosomes are larger in Eukaryotic cell
a) 1 only b) 2 only 0)1&2 d) none of these
239. Which of the following is the World’s fastest snake?
a) The black mamba b) Gecko
¢) King Cobra d) Python
2 BHHBOW DFHB Couslond CFeL60HIIgUI LITIDL] 61517
) &@HLIL| OTDUT b) Cs&ECsT
C) TmegBIeLID d) wemevriLimibLy
240. Which of the following help in Nitrogen Fixation?
a) Nostoc b) Nitrosomonas
¢) Pseudomonas d) both b and ¢
ML T6HlemeVB BISHHILBH60 2 Hayb 2 ulflend erg?
) BI6roL T b) memi Gyr@amGiomenmerd
C) @&BLTGmenTTerD db&c
241. Which of the following is not a viral disease?
a) Jaundice b) Hepatitis

c) Leprosy d) all the above
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emeuTery CHTUI SIevEVTHSHI 61817
a) 1DEhF6IT HIDTENED b) Gamumgl” igerd
C) OHTpBGHMUI d) oimeansHaIn
242. ldentify the correctly matched pairs

a) lodine 131 - Brain Imaging

b) Sodium 24

Photosynthesis

c) Phosphorus 32 Leukemia therapy

d) Cobalt 60 Trace flow of blood

gflwres QuTmbSweTenend BHihHoHMH
a) o1Bwimgeir 131 epsmemenl  LIL 1DLTIg & gh60
b) Ggmouwib 24 @elFCamidbens BuibsD
C) umeroLyerd 32 IBBLOWIT  LD[HESHSHIAID
d) Gsmuevr. 60 THH PULSHMS HEuIBT6NNHSH60

243. Match

a) Lysosome

b) Mitochondria

. controlling Centre

. Suicide Bags

c) Nucleus . Protein factory
d) Ribosome . Power House
QuTHHHIS

a) emeuBsromGeromid
b) ewwor G smewsr Muim
C) Bluydefuterd

d) MGumBamib

. SL_BUUTL 960 6DLOUILD
. HBOBTEMEOII EMLIGHSIT
- WISH0STBETEm6

. BV EMLOWILD
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by 2 1 3 4
C) 1 2 3 4
d) 2 1 4 3

244. ldentify the wrongly matched pair

a) Cloning - lan Wilmat

b) Vaccine - Edward Jenner
c)Hotha &b

d) None

SHUBTH  QUTHHSHW6TeNGl 61517
a) &Gemmeniii - QUITET  eI6VLDL
b) sGiyd - o1l Glgedreor
C) a wmmib b GyewiGid
d) ergieievemsv
245. The State of Hyderabad was founded by whom?
a) Aurangazeb b) Nizam-UI-Mulla Asaf Jah
c¢) Nizam-Sadatullah Khan d) Mir Zafar
‘maBSHITUTS’ LOTHEVHMSH 2 (HeuTdhalulet wmi?
a) enymisELl b) Blegmb-2_sv-(1psvd 6. .01 8T
C) BDTID-&F HHHI6060M SHIT60T d) i sgmui
246. The ‘Quit India Movement’ started in
‘QeusitemenuiGenr GeuefCWB’ Quidbdld GHTL MBI L eTH 6157
a) 1930 A.D b) 1946 A.D

c) 1942 A.D d) 1940 A.D
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247. ldentify the true statement.
a) Kaleidoscope works on the principleof Total Internal Reflection

2. Scattering of light is responsible for the blue colour of the sky

Fflwmenr Famml 61517
1. ®semeuLTer0Cam (pp oI5 @6l e1FHErmafiiys CEsmeTenaliLy RuIkiGIH MBS

2. QUMD BV HIBHH60 SHLUUSBGHS HTT6WID 66lFF Hm6e0
d) None of the above

a) 1 only b) 2 only c) both1l &2
248. Which of the following states have the highest population density according to census
20117
a) West Bengal b) Bihar
c) Kerala d) Manipur
&S CHTensd HesoaBlL 2011-6 YU AFHH HEH6T OBHTnD I TEHEH OB TENIL
DT H6VID 61&HI?
a) GuoB@ eumIBLD b) Semi
C) Gsyemb d) wewfl iy
249. Identify the correctly matched pairs
a) Himadri - Glaciers b) Himachal - Pilgrims
d) all the above

c) Shivaliks - Duns
rhpahf nghUe;jpAs;sij NjHe;njL
b) aflwrggsd - yails G mibsl

a) efliors M - vl mIBe
d) simeangsibd

C) flaumedld - (Bedies6i

250. Choose the correct statement
1. All the North-Indian Rivers originate from the Himalayan Glaciers

2. The largest delta of South India is delta of Godavari

gflwmresr Famm1 61817
. el @hHw BHH6T DmHSHID @Rouineneouier LisNlLTenBH6Me0E (b

Careamisma
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2. Oxer @bsSwmelleir WslGUflw GLeoLTr, Gsrareufluiler GLsoLm

a) 1 only 2 only c)bothl & 2 Neither 1 Nor 2
) I b) I ) both d) Neith

251. Which of the following is the highest peak of Aravallis?

a) Gurushikar b) Mahendragiri

¢) Anaimudi d) Pach Marhi

T6U6060  LosmevUTled 2 wiFlome FBJID 61317
a) GmHeagsi b) we=sHA M
C) SumEI(LPIQ d) u&womieans
252. Arrange the central highlands from West to East
a) Malwa, Baghelkhand, Chotanagpur plateau, Bundelkhand
b) Malwa, Bundelkhand, Baghelkhand, Chotanagpur plateau
c¢) Chotanagpur plateau, Baghelkhand, Bundelkhand, Malwa
d) None of these
wHHW 2 wipevmisemen GBalelmbs HwbeTs auflengFliuBGdHsHen
a) LomeneuT, LIsBe0HewIL, QFTU Lrpmrafl 1Ty, Les 60T
b) wemeur, LWL 60&T6, LGevEemI, CFmLmprabyf iy
C) GamLmprahyf (fLiyl, LSe0HEmIL, LIGWHIL 60BM6H ., LDT6T6UT
d) e1gieyevemnsven
253. When was Integrated Rural Development Programme initiated?
QRIS DMHS 2sH eueNTFS S LD P WPsLUUGHSIULL  HeiB?
b) 1985 c) 1980

a) 1976 d) 1990

254. Which of the following is/are tributaries of Luni River?

a) Sukri b) Jawai

¢) Jonk da&hb
soredll  blullelr GHiememt U wI(&s6iT) 61517

a) & b) eeueumul
C) M6 da&hb
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255. Choose the correct statement.
1. EI Nino is the reason for the delay in onset monsoon in Indian
2. ElI Nino is unusually cool temperature in the equatorial pacific
Fflwmenr Famml 61gI?

1. e160-HGei 6T60TLIGHI HTehT @bHwnelen GHeTGBE LHISBTEVD HIDHOTAIHBE
&ITJ600TLD

2. 6160-HIB&IT 6T60LIH UPHBHABG OIBTH G6flibhdh Hemsv LwHHW L6
QUEHRIBL 6D BlBLDaIH

a) 1 only b) 2 only c) both d) none
256. What is MITRA SHAKTHI, 2015?

a) Joint Military exercise between India and Sri Lanka

b) Joint Military exercise between Sri lanka and China

¢) Joint Military exercise between Sri Lanka and Pakistan

d) None of the above

WOHIT FHHFH, 2015 el

a) @hHwr Revmiens GenL Cuiwtenr @rmemien LulBE

b) Qevmiens, Fair enl_Guiwimen GyTemien LB

C) Bevihiensds LTHe0HT6 Renl Guiwimer Gyremier LulBd

d) srg@ieilevenso
257. Which country ranked 55" in Global Competitiveness Index 2015?

a) China b) Sweden

c) India d) Pakistan

o v Bumiigds @Muilh 2015-60 55-euk LD LNgdhHsH BTEH 6157

a) eorm b) g6 e

C) RbaSwir d) uralerogmedt
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258. Which of the following mountain is renamed as Denali?
a) Aravalli’s b) Sahyadris
¢) Etna d) Mckinley
FHeorme 6106TmI QT WTBBULL L 106n6e 6157
a) SUTeIsHE b) g
C) eTL 6w d) Quadeied

259. Who ranks top in the Fortune’s most powerful women list 2015?
a) Arundhti Bhattacharya b) Chanda Kochar
¢) Indira Nooyi d) Niti Vasudeva
uriFweien WGbHH FHFH eumulhsd GuemdeT UL iguisd 2015-60 (WpFHedsd @pliueut wimi?
a) DAMHHH L LrFFTiwm b) shay CarFat
C) @bSHyT Hrul d) B8 euraBgeur
260. Assertion : Mumbai receives more rain than Pune

Reason : Mumbai lies in the leeward side and pune lies in the wind ward side of Western
Ghats.

BBl : (wibewl UGsiener 6l DiFH®H wewp CUNBISBSE

STJID : (PpedU STBBI @BhIGL UGHulsed LG &TBmI gmid uGHulsvid
SIMLOHSH (HHSHBSHI

a) FnBml WBBIbETTeD Ff. Geld &rrewid Femple Ffluwimer eilendaomE@iD
b) gnBm WBDID &Tyewid Fh.  UeTEL &HTJENID dm@pfle FRwimer elenehaLo6060
C) emmm &M, SIJEWID Housl
d) emBm Heuml, Sryewid &

261. Choose the correct statement.
1. Cyclone winds rotate clock wise in the Northern Hemisphere
2. Jet streams determine arrival and departure of monsoon winds in India

Fflwmenr Famml 61517
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1. quev &TBmI 6uL_CHTenmidhHHdHHe0 HIpHMT (P6iT SHlendlulsd HLPEVID LISKILIEHL UIGI

2. O &MBELBI LI @hawreleoLmeld STBBTOHTLHHdH HT60HMBUID, DI
(PYAIHL WD HTEVHMBUID HlfewrulssSmal.

a) 1 only b) 2 only c)bothl &2 d) Neither
262. Match

a) yellow Revolution 1. Horticulture

b) Golden Revolution 2. Egg

c) Grey Revolution 3. Prawn

d) Pink Revolution 4. Oil seeds’
QuUTHHHIH

a) wehFeir Lyl & 1. LpRIGHeT 2 BLGHE)

b) Gumesr Ly & 2. (LML

C) &mbusd gL 3. @mrev

d) @emehFeuiy ygi & 4. srewiQemrul 6l &HEHIHBH6N

a b C d
a) 4 1 3 2
by 1 4 3 2
C) 1 4 2 3
d) 4 1 2 3
263. Which of the following is called as Golden Fibre crop?
a) Cotton b) Banana
c) Jute d) None of these
Hhid SempluuiT 616 SemPHBLILGBISGI 61517
a) LSS b) auramip

C) Femied d) ergieilevemsv
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264. The distance of Coastal line of India totally

@bHwrelsy GQTshs SLBEmIUleT Qomdhd e

a) 7886 km

c) 6000 km

265. India is not a member of

a) UNO

c) Asean

@bHWT 61hd Sewwlidlen 2 pIli et sis060

a) UNO

c) Asean

b) 7516 km

d) 6586 km

b) Common Wealth

d) G- 15

b) smwsit Gsusdd

d) G- 15

266. Which of the following tax is collected by the Panchayats?

a) House tax

c) Customs tax

uehsTwhHgH Crafed@d eufl 615)?

a) of B eurfl

C) amis  eulfl

b) Sales tax

d) Land Revenue

b) elBusner eurfl
d) Mev eul

267. Who wrote the book ‘Planned Economy for India’?
a) Jawaharlal Nehru b) M.Visvesvarya
¢) Subash Chandra Bose d) None of these
‘@igHwreler SLULWLL QUIGMTSHTID’ 61608 LHHHHeme 6I(pdluleui?
a) EUABT6VT6LGH(H b) erb.eMervo@aisroeusmyu iuim
C) auned FhAHyGumerd d) ergle|devensv

268. Open Market Operations means sale and purchase of
a) Gold b) Bonds

c) Rice d) goods
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Hwhd Fhewd BLAIQHMBHET 6ITLHI 61hdH GLTHeM6T alliBIBe0 OBMID CITHIGH6D

FoUbHLOTETHI?

a) SHHIBLD b) ugs&yrissit

C) oifld d) sys@ 60
269. Match

a) Hirakud Project 1. Mahanadi

b) Farakka Project 2. Tapti

c) Kakrapara Project 3. Godavari

d) Poochampad Project 4. Ganga
QUTHHHIB

) aligmsGL FHIL LD 1. L&MHS

b) ugrésr &L 2. HU

C) sréyuTyT S LID 3. Gasnsmeu

d) yFewur AL 4. BHIEND

a b C d
a) 3 4 2 1
b) 3 2 4 1
) 1 4 2 3
d 1 2 4 3
270. Which of the following parts refers the cooperative societies in Indian constitution?
a) Part IX b) Part IX B
c) Part XII d) Part XIV A
QbHw sFwevenolig FLLSHH60 6bd Lfle) sl Bmey FUPSHTWMHISST LB Fnmisimgl?
a) ey IX b) Lifley IX B

¢) 19fley XII d) ifley XIV A
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271. Which of the following is a Red-collar job?
b) Bank officer

a) Agriculture
c) Teacher d) None of the above
fouli] BB SHWSHHIILIL L euenduilet
a) GeuenmensTenLD b) euridlit Liewiwimeri
C) el d) ergmieyilsvemnsven
272. Economic Planning is an essential feature of
a) Mixed economy b) Dual economy
c) Socialist economy d) Capitalist economy
QUTHEMTHTIHI LD 61H60 (P& LswrL?
a) seolll QUITHEMTSHTTID b) @y enL GuThenTSHTFID
d) waeorefgien GUITHEMTSTIID

C) Gamdlwedd QUITHEMTSHTTID

273. Choose the incorrect statement.
a) Black money helps in estimating theNational Income
b) Double counting occurs in raw materials first and then finished products leading to

error in the computation National Income
d) None of these

c) Both

SHAUBTEN FaByl 61517
Q) BHULLILINIDGTEILIGI BTL (B QIBLOTOIGHMSHH BB 2 Ha|BBEH
b) &L Gurmeitaeedr AILD, (PQeyBB QUTHsTSHeM6 WD SHemrdbdLLILI[HIES 60
RmUPeOB  HEWTHH ([BHFGH60TEV, BT (B QICHLOTEID 2 6wleniowlTen Hlewev LI1FaSLeIlILIge0em60

C) ByewiBLD d) ergieyilevemnsv
274.  What is the aim of Nirmal Bharat Abhiyan?
a) Women education b) Rural development
d) Urban development

c¢) Clean Toilets
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Bifoed uMydH Sllwmedr S L GHFHer CHmebasd eTeien?
) GuiexiTE6v6a b) ooy sueniEd
C) &BIHTIIOTEN  BIOLILINBEHEIT d) paiiiyms euenidd

275. Which of the following will happen to demand when the living standards of people
improves?

a) demand will first increase then decrease

b) demand will not be affected

c¢) demand will decrease d) demand will increase

0HH6M6 UTDHEMBHSHTID 2 WD GuTg 6eT6ite [HLdb@ELD

a) Cpemeumeil (pHelsvaiBsMNHSH L6 GenBuD b) Gaemaumsit LT BHIILL TSI
C) CHemeumeit GHemmulLd d) Bhemeumsit HNHBLOTGHLD

276. A man sells tow wrist watches at Rs.594 each on one he gains 10% and in other loses
10% Find his gain or loss percent on the whole.

QMU SAT6WIH MBHBIHMTIRIBMENT 6NCEUTHINBULD (1H.594-5@& B 6dBT6.
SBBled eepflsd 10c S@eomud BEBTEINYsd 10 BLL (D DIENLSEIBT6. 6T6TaM60
QLB OLTHHHHL Siauel DL [HH S6VTL DIeLVHI BL L (-5 HT6NIH.

a) 1% gain b) 1 % loss
C) @60OMLI(PID [BL_L (LPLDEV6V d) none of the above

277. The average marks of 5 students is 76, 8 students is 78, 7 students is 77 then find the
average marks of the class?

5 wreoeliseflenr Fymafl wHUCOUswIEsT 76, 8 Wremauiseilesr Fyrafl waIGUTERISeT 78,
7 wremeliseflesr Fymafl HUICUsHT 77 ealed Disuau@Gller Fymaf ogGILI6wT

a) 77 b) 76 ¢) 77.15 d) 77.25

278. The average age of a class of 37 students is 15 years. If one student removed the
average decreased by 1 month then find the age of removed student?

QM auGLLesTen 39 wreueuisellesr Fgmafl suwgh 15 pewiGamer.  epdfluiflen
alWemHF Caihpmev gyrafl 2 opaflbang seafled dflwisefen suwmeHd SHTevis.

a) 16 b) 17 c) 18 d) none of these
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279. The average of first nine prime numbers is
W& He0 9 usmetemidbeled Fnl HFFTTSM
a) 9 b) 11 c) 117 d) 112

280. The average of five numbers is 27 if one number is included the average becomes 25.
The included number is

O ercmibeMetr Fymam 27 QeUBBIL6T @ elcwienswt CFihHHTeL FIrafl 25 HPHIMSH 6T6M6L
CaidslILL L cTemTenemids HTemISH !

a) 30 b) 35 ¢) 20 d) 15

281. A shopkeeper allows a discount of 10% on the marked price of a camera which costs
him Rs.600 to make a profit of 20% should be

Rm BmLHHMT Cagrele Gfidhs alemeouledmban 10% - Hemenuy QFwgsn 20%
@eorud SewL&BIE.  Cawgrelsl L dbsalmsv h.600 sy DiHeT GHBIHDH
QlleNEVENUISH  HIT6TITH

a) Rs.650 b) Rs. 800 ) Rs.750 d) Rs.700
282. The average of first 40 even natural numbers is

WP He0 40 QPrlen. Quisy slewibeilen Fymail

a) 40 b) 41 c) 43 d) 39.5
283. The average of 1, 8, 27, 64, 125 is

a) 40 b) 44 c) 45 d) none of these
284. The average of 28, 19, y, 30, 28 is 25 then find the value of “y”

28,19, y, 30, 28-6i1 agmafl 25 erefled Y-6i1 WIS BHTewias?

a)l b) 3 c)5 dy7

285. The average age of students of a class is 15.8 years. The average age of boys in the
class is 16.4 years and that of girls is 15.4 years. The ratio or the number of boys to the

number of girls in the class is

QM auGLLIeeNeT Lomewied omeialsellen Fyrafl suwig 15.8 wrewreuiseflen Fyme
gl 16.4 wremieilseien Frmmdl suwigl 15.4 elafled DieIaU@GLILIEIGTEN  LDTEm0T6I
LomenoTex]l &b 61Tl 6dT6T6u0T 6001 b em B Uil 60T - 631l GH1D?

a)l:2 b)2:3 c)3:4 d)3:5
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286. LCM of primenumbers is

a) product of the prime numbers

c)1

usterewigeles LCM oy emai

a) UGBT elemisbeell OQLHHBHMIBEGF FIOID

c)l
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b) sum of the primenumbers

d) noneof these

b) usr eemiEeen EmBHHMBEGF FIOID

d) s1gieie0em6v

287. Find the greatest four digits number which is divisible by 15, 18, 25?

15, 18, 25-s60 10aF gllwns eu@G@dbsbamigul 10&LEUTUT BTeIE GE60dhE 6T6men6mdH

BHIT60TH

a) 9000 b) 9450

c) 9600 d) 9900

288. Findthe LCM of : (22 x 3¥ x5 x 77,22 x 3* x 5° x 7,2 x 3 x 5° x 7 x 11)

a)2 x 3¥x 5°x 7*x 11
C)2x3x5x7x11
289. If§=§then (x+5):y+8)isequalto
a)3:5 b) 13:8

290. % is what percent of i

%@e‘b % SUETEHI 6TAURIGTEY] (P 266N
a) 50% b) 100%
291. Two fold ratio of 1; 8 is

1:8 .61 @MUy lSHHMSH HTewis?

a)l:22 b)8:1

b)2x3x5x%x7

d) 22 x ¥ x5 x 7" x 11

c)8:5 d)5:8
c) 200% d) 400%
c)l:64 d)64:1

292. Recently Central Government withdraws the Armed Forces Special Powers Act from

which of the following state
a) Manipur

c) Meghalaya

b) Tripura

d) Mizoram
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FIOUSHHLSHHW  DTF 6% LOMHVSHH 0 PUWSL UL FBlY FLLH0SH 6llevbHdld

O®TemTLg|
a) LoswilILT b) Hflygm
C) Guosmeouwm d) Gz myid

293. INS Sardar Patel naval base is situated in the state of
a) West Bengal b) Andhra
¢) Karnataka d) Gujarat
INS sigmt UBL6d SLMBLENL 6MIDUID DIEWIDHEIGTEN LOMBl6VID?
a) GLoB@ eUBIBTENILD b) @ubdrid
C) SMBTL&HLD d) ®egind
294. The establishment of CBI was recommended by the committee
a) Santhanam Committee b) A.K. Mishra Committee
¢) Krishna Committee d) Administrative Committee
CBIl omwss ufibsmiens dmwdHsH &0
Q) FhBTEID (1D b) 6.6%. eroym @ap
C) Amayemt G d) pifeurs &
295. Match

Tiger Reserve
a) Satkosia
b) Bandhipur
¢) Melghat

d) Sanjay - Dhubri

QuUTHHHIS

e FITemnmeOuLD

a) &L Bsmedlwim

b) upBay T

State

1. Madhya Pradesh
2. Karnataka

3. Odhisha

4. Maharashtra

LOTHI6VLD
1. wHHW F8sad

2. SIBIL&IT
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C) GosbeasTL 3. QeQT
d) gehaus - sif 4. DSTITOJUQYT

a b C d
a) 3 2 4 1
by 2 3 1 4
C) 3 2 4 1
d) 2 3 4 1
296. The company launched the education scheme Edu-cloud is
Edu - cloud eieti3 6vel AL GHemg Geuerilul_Beiterm  mBpiened
a) HCL b) TCS
c) WIPRO d) Microsoft
297. What are the main gases in water gas is
a) Carbon dioxide, Nitrogen b) Carbon dioxide, Hydrogen
c) Carbon monoxide, Nitrogen d) Carbon monoxide, Hydrogen
Bt suTwelled 2 6116 LDGH6INID GUTU|SHEH6NT
) BTG DL UHMFD, ML J60 b) smiue L ubmF®H, ML Je6d
C) &miue GoTemeEemna®H, MbHLJe6 d) smiues GoTeTHMFDH, MBI JEI60
298. Which of the following state receives maximum immigrants?
a) Uttar Pradesh b) Maharashtra
¢) Madhya Pradesh d) Bihar
&Bp 2 66 6% LOTHEVID DIFHH6ee)] GHIQBWIMID 1oHHM6n CbTeni(Beiend)?
a) 2 58y 6xad b) wemraggyT

C) wsHw LyGsad d) Seri
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299. One Giga s

QM BT 6T
a) 10* b) 1072 c) 10° d) 10°

300. Choose the wrongly matched pair.

Organisation Leader

a) Dharmalayam - V.V.S.lyer

b) Bharatha Matha Sangam - Nilakanta

c) Bharathi Ashram - Vanchinathan

d) Swadeshi Prasar Sabha - V.0.C
SHeumren QNenewien! GHiib.

SIELOLIL] HEm6V6UT

a) &iomeow - 6.8 g S

b) utys wWTHT FRIBLD - sevaemiL  LFibg )

C) urya) S Frioid - T (6h & 1BIT & 60T

d) #6sd \gsgny Feou - a2 HAHIUTiD

301. Choose the correct
1. Congress Socialist Party was founded by J.L Nehru and S.C Bose
2. Mahatma Gandhi established the hari Jan Congress.
3. Santara Congress was founded by Rajai.
Fflwrenr Fnprilenend CHis
1. smadyen Caragedery Semwlienu Ghm, S.C.Gumerd @GUITTOSHTL B 6.
2. IDBTHOT  HMHF ol STRISTeD SeHIDenL CHTL BIS eI,
3. &FHHATT HTRIBTEL DieHIDLIeHL JTeTed OFHTL B 6T

a) land 2 b) 2 and 3 c)land3 d) all these
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302. Which of the following is a rain shadow area

a) Ladakh b) Ranchi
¢) Rothak d) Panipat
&6 2_eienmeuBileLsTdHl LDemLD OB ILIEGHS?
a) euL M b) yrehe
d) uredu

C) Gyrsé
303. Choose the correct statemtn

1. In Kesavanandha Bharathi case, Supreme Court declared that the basic structure of the
Indian Constitution should not be changed.

2. The powers of CAG is of federal in nature.

gflwrenr Fnprilensid Cais
1. @baHw sipFlwevsnoliien SigliLenl. L LenWILens OTBBed: Fnl TH 6160

CaaFourenhd LIMTEH aIPHFH60 2 FFHAIDOBID FnplleTon).

2. CAG-uietr A& gl Lrl g (peumenul GCabmemt(Beengl.
a) 1 only b) 2 only c) both d) none of these
304. Kimberley mine is situated in?
a) South Africa b) Zambia
c) Canada d) Australia
SIbLITES HIMISLD DELOHSHIGTEN BT(H
a) Openr o nifdssn b) egmibtuwim
d) euervdGyeduim

C) feorm
305. Choose the correct statement

1. Wind mills makes noise pollution
2. In 2014 Tamil Nadu ranks number one in the production of wind power.

Fflwmenr FamplensndBHis
1. smBmensv WleigTID SHWTATsd el wra gBuUBS MBS
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2. sMBmensv Wel 2 @BuSHHulso@pbAHwmalsd Sbslwmalsd 2014-D6u0T960HLODBTH
(WPpHOSL 1D GUBEBIETeTSI.

a) 1 only b) 2 only c) both d) none of these
306. Who is the Chairman of the committee to study Western Ghats?

a) Mathavan b) Krishnamachari

c) Kasthurirangan d) Thilak Pandey

CoBE OHTLIFS WwemevdeT LB SUJTW AMSHSLILLL  G(aler SHemeneveut wmi?

a) LT HeN6IT b) & magemiiorgamf

C) serogmymisein d) sevdumeniGL
307. How many methods can be used in computation of National Income?

THHM UMBH6N60 [BTL(H SUBLOTEID HemibHILL LGB mEHI?

a) 3 b) 4 c)5 d) 6

308. Choose the wrongly matched pair

a) vitamin D - Rickets

b) Vitamin A - Bit tot’s spot
¢) Vitamin C - Xerosis

d) Vitamin B - Bery -bery

SHUBTen Eenemienuld CHiL

a) emaul_ L 1ledr D - M 610
b) eweur Lidlesr A - L Lm’ eroum’
C) emaut_Ltblear; C - GaGymendlerd
d) eweut L1lest B - Gufl - Gu
309. Match
Organisation Leader
a) Servants of India Society 1. S.K. Verma

b) Hindustan Republican Society 2. Gokhale
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¢) Indian Association 3. S.N. Banarjee

d) India House 4. C.S Azad

QuUTHHHH

) @h&Hul Leniwmeni &FhisLD 1. 6T610.(Lp.GUITLOT

b) @baevster Muliefs QFTemnt iy 2. GarsBsv

C) @b iBTHBWags 3. eT610. 6160 LITGITRY

d) @bsu Bsvsvld 4. .eto0. YFNH

a b C d
a) 2 4 1 3
b) 4 2 3 1
) 4 2 1 3
d 2 4 3 1
310. Whopropounded the theory of electrolysis?
a) Einstein b) Nobel
c) Faradey d) Morgan
WlsiiemBUGLIL elglsdemen Geuafull Leui wimi?
a) egeiTeToLe sl b) GmrLsy
C) uryGL d) Guomieedr
311. Chairman of District Planing Commission
wrell L FHLds Gualle Hemeveut
a) RDO b) DRO
c) DRDA d) Distric Collector (omeur L syt duur)
312. Golden period for Public Sector Enterprises is
a) First Five Year Plan Period b) Second Fiver Year Plan Period

c) Third Five Year Plan Period d) Fourth Five Year Plan period
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Qurgis Hlews Hmieuebiseien GLTBST6VLD
) (WPHOFH L HM6vID b) @gewimb Hi L smevid
C) apsipmDd S L HI6vLd d) BIeISMD &L BI6evID
313. National Institute of Brain is situated in
a) Chennai b) Mumbai
c) Kolkata d) New Delhi
Cadlw cpsmev ITUIFS epOWILD 2 6iTem G LD
a) GFetienen b) apibenLs
C) CBMELBHHT d) usIEL 6060
314. Choose the correct statement
1. Indin Service sector is growing very well in recent times
2. In 2014 - 15 Indian Mining sector registers negative growth rate.
3. Medical Tourism’s contribution in GDP is 18%
gflwrenr Fnmilensid Capis
1. @bl Csemend Hiewm &L &MV Sienelle0H S eueniFFlenwt CLUBBIGTENSI.
2. @bHwu FIRIBS Himp 2014-15-60 eIHlialdls eueniFflenus GUBBIGTETSHI.
3. QrdHas 2 6B 2 BuSHWeIsd WHHHIN SBpeoTalsr LUkE 80% s 2 6engl.
a)l&3 b) 2 only 0)1&2 d1,2 &3
315. Which of the article mentions about Election Commission of India?
@bHw CoHiHed eysmemid LBB GOILLGL FTHSI 61517
a) Art 314 b) Art 334 c) Art 324 d) Art 344

316. Chose the wrongly matched pair

Clan Founder
a) Kanva - Vasudeva
b) Sunga - Pushya mitra

¢) Saluva - Harihara

d) Bhamini

Hasan Gangu
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FHaumren Qenemienuld CHism

a) weieuT

b) smism

C) &@Emeur

d) umdles
317. Match

District

a) Namakkal

b) Salem

¢) Vilupuram

d) Thirunelveli
QUTHHHIH

W) BILO&SH6D

b) Gzevid

C) allpliyyid

d) #HmOmsLGeuad

a b
a) 2 4
b) 4 2
C) 2 4
d) 4 2

318. Blance the f ollowing equation : Lactose + Lactose = .......7

a) Glucose

C) Sucrose

UTEEHeuT
Hegu!l 0Gy
anflanyr

QBF6T HMHIG

Hills

[EEN

. Agasrthiyar hills

N

. Kolli hills

w

. Kalrayan hills

SN

. Shervoroy hills

1. SIBHHWIT 0em6v
2. Q®BTeL6V LDEMEY
3. SH6LJTUIEN LDEDGV

4. GaFieuymuIed LD6M6V

1
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b) Maltose

d) Galactose
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LeieuBlD FOHUTL DL Hlewme] OFUIs : 6uHBLTerd + 60H6LTerd
a) &6HHBHTeTD b) wreb@Lmerd
d) smeus6Lmerd

C) &a&Bymerd
319. Which of the countries are mentioned as B,B by Prime Minister Narendra Modi?
a) Bangladesh, Bhutan b) Bhutan, Bharath
c) Bangladesh, Bharath d) Belgium, Bharath
Wrsor BOrbAy Gwmouwited @It BB mr@ssiereneu?
a) UBIBNTCHaG, LL 6ol b) yLmedr, uTySHID
C) UBIBMTCHaG, LITYSHLID d) Quevgduib, uLTy&LD
320. Consider the following statements?
Assertion A : Convex mirror is used as traffic safety mirror.

Reason R : Convex mirror shows wider area.
a) Both A and R are true and R is the correct explanation of A

b) both A and R are correct, but R is not the correct explanation fo A

c) Alis true, but R is false
d) Ais false, but R is true

SIPHHMIL FaBenBH H6)6
aBol A: QUTEGaTHH OBflFamsy HeidETmlb@GHID oUITE Gl Silg LWSTLIGS MBS

smyenid R : @el oilg elFmeowomen LFLiLeTenel  SHTeuild @D
a) Apm R @yewigid gfl, Guoeud R esiug A eli@ gflwrer elsisid
b) A wppio R @remiio &f, <yemmed R etetiug A eli@ gflwmer eflendsiosen

C) A &fl, eyemmed R Heumi

d) A seum syeomed R &l
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321. Identify the correctly matched pair.
1. Rocket Fuel - Liquid Hydrogen
2. MRI - Liquid Helium

3. Vaccines - Liquid Nitrogen

gflwres QU@ mBHUleTEN Senenienuid 6wl ilH

1. Qurssl eflourmeT - Hyou ememL Fegein

2. BMhH HHengFe] LNbULTHH - FHyeu anfelluibd

3. sBUY 2md WHHSHIBET - SHIel enHLJege6i

a) 1 only b) 1 and 2 only
d)1,2and3

c) 2 and 3 onlly
322. Identif the correctly matched pair(s)

1. Electric potentioal Difiference - Volt meter
2. Heat Energy - Calorimeter
3. Force - Spring Balance
gflwre QuUTmBHSHUeTen ENenemrenulids HemiLnsld
1. Wsiienpdhd Gaurmiinh Geumsdr 16U L1t
2. Geuli S BB6eL &Beomfl 1O LT
3. eleng - alls0ellend HITaH
a) 1 only b) 1 and 2 only
d)1,2and3

c) 2 and 3 onlly
323. Consider the following statements.
Assertion A : The danger signal lights are red in color,
Reason R : Red Color is least scattered by fog or smoke.
a) Both A and R are ture and R is the correct explanation of A

b) Both A and R are correct, but R is not the correct explanation of A
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c) Alis true, but R is false

d) Ais false, but R is true

LI6iTeNBLD SnBBIHEMeH  HaI6H &HHLD.

Bl A SIUTWST elend@ael el HBHHe0 2 HeuTdbalLBGSBS.

smyenrd R flauli] mp e GHopBhed ien6er Liell Dis060HI LIeHSHUITED
FemsSULBSBSI.

a) Apm R @yewigid afl, Guoed R esiug A eli@ gflwner elsisid
b) A wppio R @remi@io af, <yemmed R etaniugr A eli@ gflwner eflendsiosen
c) A gfl, eyemed R sHeum
d) A saum syemed Rl
324. Which of the following is not a fundamental unit?
a) Ampere b) Mole
c) Radian d) Candela
SDHBHMILUBMIED 615 DIQLILIDL. DIVG BI60607
a) b wi b) Guomev

C) Gyiguiiedr d) Gessinigevm

325. The universal Gravitational Constant G = l

mj;m;
mass). Find the dimensional formula of “G”.

(Where F-Force, d - distance, m;, m; -

F.d?
mjmp

a1 uflomesr eUTUINILITL 6DL &HemTL_ 515

mitinwed wrdled G eeiugl G = (F-elewa, d-gmyip, M1, m2 - Menm) erefle G-

Q) MLT? b) ML3T™ ¢) MLT? d) ML2T
326. Match

a) Raibow 1. Total Internal Reflection

b) Twinkling of Stars 2. Reflection

¢) Glittering of Diamond 3. Dispersion

d) Kaleidoscope 4. Refraction
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QuUTmEHHIH
a) eumenesd
b) Bl FHSymiIseT O6TEnIH60
C) emeurdh et LNyasLieiiL

d) semevL_merv@eHL
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. s o6 aHoymefiiy
2. Uygluediiy
3. Bpiiflens

4. @6llalevdH60

a b C d
a) 4 3 2 1
b) 3 4 1 2
C) 2 3 1 4
d) 3 2 4 1
327. Hydrogen filled balloon flies high in the air. Why?
a) The mass of the balloon is less b) The weight of the balloon is less
c) The gravity is more d) Force of buoyancy is less
MEBL_Je6S MIFLUILL L LgOmedr Smmpsled 2wyl umliLg] 6Jedr?
a) LgTetlell MenB GHMBEITS BBLILIHT6D
b) usorelen eTML. GHeWBEUTH B(HLILISHTEL
C) mi eleng SiFHWOTH SHULISTED
d) sy elws Gopairs SHLILIST6D
328. In 1824, The famous library called Saraswathi Mahal was built at .........
a) Madras b) Madurai
c) Trichy d) Tanjore
1824-860 FJorveud)  1DHT6L 6leheniD LiBLD OUBM HIevsId 61MI@ SU LU B ?

a) G etrement

C) Hmsd

b) wasiemy

d) sehameyt
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329. Who among the following European(s) was.were advocated to ban Sati Practice in
India?

1. Franciso-de-Almedia
2. Alfonso-de-Albuquerque
3. William Bentinck
4. Robert Clive
@bFHwmelsd 8 @ullienu suedumibHul GrrilwissT wmi?
1. Uyreirdlero@am-19-i60GIouILT
2. SevBuTeT@aT-19-HI60L|H T
3. allevellwid GUeNTIgHI
4. @umuil’ &lemerel
a) 1, 2 only b) 3 only
c) 2,3only d) 3, 4 only

330. In 1623, The English were killed at Amboyana by ..........

a) The French b) The Portuguese

c) The Danes d) The Dutch

1623-@Q60 M BT Henen SIDLTUIENT 6T6iB QL HFHev LBESETemsv OFulkh egCrmiiwir
wimi?

a) L0 6haHaBBTTTH6N b) Gumi&mafuiiesit

C) GLawii el d) LFmdbaryisein

331. Who was known as “The Akbar of the English East India Company”?
a) William Bentinck b) Wellesley
c) Dalhousie d) Cornwallis
‘@Bl HpsdHH Ul HDOLIENUNET DIBLT 66 SHSBLUILIL L6 wimi?
a) Nev6wid GLIeNTIgMI b) GaisbGeverved

C) LevOamend) d) smyesr sumederd
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332. Which of the following Act was abolished a 15-members ‘India Council’, which was
established by the Government of India Act of 1858?
a) The Indian Independence Act of 1947
b) The Government of India Act of 1935
¢) The Government of India Act of 1919
d) The India Councils Act of 1909

@bHW oIFHEF FLLID 1858 cpsuld 2 HouThSUULL 15 BUTH6T Gemewi  ‘@bawl
LGB’ 61h& FLLID (LP6VLD HemevHSHLILIL L 7

a) @bHAW eNBHmevF FLLID 1947 b) @bHw Sw&EF FLb 1935

C) @bHAW S&F FULb 1919 d) @bHw weiprHIEeT FULID 1909
333. Who was known as ‘The Frontier Gandhi’?

a) Netaji b) Sardar patel

c¢) Khan Abdul Ghaffar Khan d) Nelson Mandela

‘6T60EM6V  BMH) 6160 DIWLPEBBLILIL LU Wi ?

a) Crared b) gigri LGL6v

C) &6l SIIGHIEL HTUMT HT6dr d) Opsvaen 1awIGL 60T

334. When was Tamilnadu State Assembly passed the Tamilnadu Panchayat Act after local
self government Institutions got ‘Constitutional Status’ by Parliament?

@RbFH Ul BTLTEHLOOIBID 2 6TenTl & DMILILBEHHG ATFUIVMIOLILSH HESGHIFH IPRIGSIU

Ledtedri HLOLPS FLL LOBIBSHSHTEL @ _6Tenml & QHTLiumes FULID eoUTIEH C&Temni(®h

Ui’ L gl?

a) 1992 b) 1993 c) 1994 d) 1995
335. Who was known as ‘Madurai Gandhi’?

a) Pasumpon Muthuramalingam b) Kamaraj

¢) Vaidyanathar d) N.M.R.Subaa Raman

‘IDFHIMT BTHF 6160 DIeMIPHBLILIL LT uimii?

) UGDOUTET  (LpSHSHITTLO6O I 6T b) smogrei

C) meuGHHIBTHIT d) e1601.6TLD. YT FHILITTLOGH
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336. Who has been called as ‘Father of Tamilnadu Library Movement’?
a) S.R.Ranganathan b) Avinasillingam
c) C.Subramaniyam d) S.Sathyamoorthy
‘SUOIDBTL(H HTeVE RUISBHHI6 HhHend 616 DHenLPSHELILIGLeIT WImi?
a) eT610. ST, BATHIBHTSH6N b) siprdelnisn
C) &.aliyenilwib d) erer0.g5HWiepiHe)
337. The image formed in the human eye is
a) Real Image b) Virtual Image
c) Inverted Real Image d) Inverted Virtual Image

elld HewTenied 2 HaUTGWD LIDULD sleueuTm RHBESL?

a) Qui Uibuwres SmeELD b) Qurui Wibuwrs  BHBESID

C) Hmevdip Goul LbLioTs b EID d) semevdip GQuTul LibuwTe BHBESID
338. Match

a) Faraday 1. Radio Activity

b) Alessandro Volta 2. Barometer

c) Torricelli 3. First Battery

d) Hendry Becquerel 4. Electro Magnetic Induction
QuUTHHHIH

a) umy@L 1. safwesd

b) sivervaTen Grm GeusvLT 2. umGymusL_i

C) GLmfl QgFeved 3. letiBMheH HITEMIL_6D

d) Gemens Gu&ECHMT6L 4. 10HIBMHS HITGHIL 6D
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c) 2 3 1 4
d) 3 2 4 1
339. Consider the following statements
1. Power of a lens is the reciprocal of its focal length
2. The S unit of power of a lens is m™
Which of the statements given above is/are correct?
LeiQUBLD  SnBpIsHemend  Heuel
1. @@m Oevendlelr Hmeir 6T6iILIGH Db Olvsiidlen Gelll HMFHH 6 HMELSLPIWITELD
2. @ Oeveiidlalt Hmeflein 6l610.09. Sie0@ 1S YGID.
CumaswiL Fampiled Fhlwmeng
a) 1 only b) 2 only
c)l&?2 d) none
340. Identify the incorrectly matched pair
a) Radiation Exposure - Roentgen
b) Energy Present in Food Items - Calorie
c¢) Power Consumption - Kilo - watthour
d) Power of lens - Meter
HABTH  QUITHHIHIUIETEN E)encnlenuids HITeuIb.
a) sdialsdler Siee] - FTew 6
b) o _ewme QuUImL seied 2 _siten uBBeden Siene] - &Geomf
C) el oLBM6eL LIWeUT(H - &@eom euml  Loewl
d) OGevenidleir &Hmedr - O LiF
341. Choose the correct statement
1. In India unorganized sector having huge volume of work force.

2. Public sector units cannot create work force like unorganized sectors.
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Fflwnenr Fnmrilenend CHis
1. @pHwrelsd Semioli] Fmpr QHTHevmersy 1d DFHBHeNe] GCGHTIHEOTENTHNT 2 6T6I6nlI.

2. Sl Frmyr QHmidlevse GUTEIB GUTHISH HieOB HEpieuahiG6T Caleney eUTUILIENL
QUHBHA60EMED.

a) 1 only b) 2 only c) both d) none of these
342. Which of the protein is used for the production of antibody?

a) Albumin b) Alphaglobulin

c) Betaglobulin d) Gamaglobulin

SUEWILIQLITIY 2 [HoUTHBHH60 OLIHLO6TeY LWTUBD LIHD 6187

a) SeoLLl6r b) ewsoum @ BGsnmLiedeit

C) i Lm &Bemmedler d) smor &Genmmede
343. What is the reason for the use of KO, in oxygen cylinders?

a) absorbs CO;, b) Produces ozone

c) Produces CO, d) absorbs stream

AHeImen 2 memendberiled KO, LwieiBid  smyemid

a) CO; aumuemen o_Mlehs b) @Bgmer 2 (Heurdhs

) CO; aumujemer ©_(HouTdhas d) syrelenw 2 _nfehs

344. Match the following

a) Lothal 1. Bhogao

b) Ropur 2. Ghaggar

¢) Kalibangan 3. Sutlej

d) Harappa 4. Ravi
CUTHSSIB

a) GeumHH60 1. GumasrGeur

b) Gymui 2. BIHBM
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C) &TeLIBIH6 3. 106y
d) emyour 4. gmel

a b C d
a) 2 1 3 4
by 1 2 4 3
C) 1 2 3 4
d) 2 1 4 3
345. Choose the wrongly matched pair
a) Surat Split - 1916

b) Indian Society 1872

1866

c) East India Association

d) British India Society 1839

FHupTen enenrenul BHism
a) &g Loy - 1916
b) @bdwen CFTensL ig - 1872
C) ApHBHA W HIPSHID - 1866
d) A 9es@bAW SLpsID - 1839
346. Seva Sadhan was started by
a) Gandhi b) A.C.Mukharjee
c¢) B.Malabari d) Tilak
Crour FHei DIMIOLIHLIGGHTL MIsSIWIeuT
a) &b b) &.8.(1psieg
C) L9.osoLimil d) Sevait
347. Who is related with Chittagong Armoury Raid?

a) Kalpana Dutt b) C.S. Azad

c) P.K.Dutt d) Nalini Gupta
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etk QUSHLMIEG Bowalst STy weut wmi?

a) seoLeT H

) U.Cs.55%

b) &.e1610. 1575

d) peflel @rism

348. Choose the wrongly matched pair

Volcano
a) Etna
b) Kilimanjaro
c) Katmai
d) Barren
Heummen Nenewienld CHis
a) e1L_eorm
b) Sefloreham@ym
C) &L Lomul

d) umyedr

Country
Italy
Zambia
USA

India

B55me
eqmibLwm

USA

@b

349. New all India Services can be created by

a) UPSC

c) Rajya Sabha

b) Lok Sabha

d) Prime Minister Office

UHW SImeiHH b LIGwNBHemen 2 ([He)Td@GLDNIDLIL]

a) UPSC

C) DTHl6LBIBETENEI

b) waseneneu

d) ysoi  SiEVIeIEVSLID

350. Laser used in cancer treatment is

a) He - Ne laser

c¢) CO, laser

b) Ruby laser

d) Ultra laser

uBpICrTul FAalFengullsd LweTLIGD BGevgedr
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a) He - @p Bevait b) epd Gevai
d) seorgr Geogi

¢) CO, Gevait
351. Choose the correct statement

1. Seasonal unemployment prevails in Indian Agriculture.
2. In India, rural poverty is determined based on the criteria of 2400 calorie / day

gflwrenr Fnmrilensids CaHis
1. @pHw elleusTuidhsHs0 LmHausTer Gousneoullsiienio SrewrliLBaSBEI,

2. @bsHwrelsd 2 el SigliLenLulsorer eupienoulsi  Siemaled &lmolym GgHeneu
d) none of these

2400 &Geurfl / BTelT @G ID.
a) 1 only b) 2 only c) both
352. Zojila Pass situated in the state of
a) Jammu and Kashmir b) Uttarakhand
c) Sikkim d) Himachal Pradesh
Cegrdlsveom HeWIITUI 6TH%H LOMTHVSHH60 2 6iTengl?
a) by - ST b) 2_&aymmem
C) Hfadb d) @wrsgev L178Has
353. Which body having power under Art 3 of the Indian Constitution?
a) Parliament b) Legislative Assembly
c)a&b d) None of these
@bHW  SFFwevsnolIL el FIHH 3-601 AHSTID CUBB Diewioli] 6187
) LIMJT@pLO6IBLD b) wrElevgl’ L eiimid
c)a&hb d) @860 gsIdlsvenev

354. Panchyat Raj was introduced in?
AbHwrelsd LehFTwHSH JTTR ABIPHOT 6016
b) 1958 c) 1959

d) 1952

a) 1951
355. Poverty in India as on 2013 - 14 is
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2013 - 14-60 @hAHwnelsd auBIENIOUTET 616

a) 27% b) 23%
356. Head Quarters of BRICS Bank is
a) Mumbai
¢) Mascow
BRIC tq;fpapd,; jiyikafk;
a) (pievLl
C) wrero@aim
357. Which of the following is an Indirect Tax?
a) Wealth tax
c) Excise Duty
&0 2 eitemeummlled 61H1 OMBLPH6IE ?
a) QFnsHsI eul
C) ®6umey 6uif)

358. Choose the wrongly matched pair
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c) 39% d) 20%

b) Cape town

d) Shanghai

b) GaLiL6y6dr

d) ewgrhism

b) Capital gains tax

d) Income tax

b) Capital gain tax

d) eugpromenr e

a) NABARD - Rural Development

b) IDBI - Industrial Development
c¢) LD Bank - Medium Term Loan

d) RRB - Agri Loan

FHeupTen Eenenienul BHis.

a) pumi(® oyE  eUeNITF
b) IDBI - OzmPed eueniFd
) LD eumiad -

d) RRB - oMleuamul &L 6l

SHHUI HT6V L 60T

359. Which of the following created the first Governor General of India?
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a) The Act of 1858 b) The Act of 1833

c) The Act of 1813 d) the Act of 1773

QbHWmelle (LpHev HauTerT GCeTensy 2 [HouThHSWH 618517

a) 1858-o1b e &L LD b) 1833-oyib eI FULID
C) 1813-oub oemi(p &L LD d) 1773-ou10 ouemi &1 L1D

360. The year o f the Act, that is the reson for the set up of Macculay committee on civil
service?

QsaT6sn Halled Fialerd SO DHOHHULIL HTFenIOTd FLLID Geusilwimer <6u010H
61517

a) 1813 b) 1935 c) 1919 d) 1909
361. Which is caused for the Kwok disease in Humans is

a) Mango b) Dates

c) Ajinamoto d) Gulam beeda

welldmeb& gBuBLD pmo Crruier smyewll 61?7

a) LomDLIPLD b) Guifena

C) oidlen@uom QL d) @eomb 1
362. Which of the following is not an ore?

a) Bauxite b) Pig iron

c¢) Malachite d) Galena

&0 2 eieMeuBmIeT 61H1 HTH Di6vev?

Q) UTHemFL b) GmefibLy

C) LOTELENFL. d) seSemm
363. Match the following

Element Colour of the flame

a) Barium 1. Yellow

b) Sodium 2. Green
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c) Silver 3. Black
d) Lead 4. Apple green
QuUTmEHHIH
QUIT(H6IT SLIBIBLD
a) Gufunb 1. oEhF6iT
b) Gzmguib 2. UFMF
C) Geusiterfl 3. sy
d) smfud 4. 06T LFMTF

a b C d
a) 4 1 3 2
by 1 4 2 3
0 1 4 3 2
d 4 1 2 3
364. Boundary line between south & North Korea is
a) 38" Parallel line b) 17" Parallel line
c) 49" Parallel line d) 56" Parallel line
LG - Openr Garflwum QenL Guiwimen sievemsvd Cam(h
a) 38-aum1 RQemewt CHTH b) 17-eug Sewewr G

C) 49-aum1 RQememt CHT(H d) 56-ug1 Bemewt G

365. Adi dravida Jan Sabha in Tamil Nadu was established in
SOD BITLIge0 PHHTTelL i e Feou GHTLMmISILLL Ui (
a) 1816 b) 1820 c) 1892 d) 1899

366. Ramakrishna Mission was founded by
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a) Paramahamsar b) Vivekanandhar
¢) Saradha d) Tagore

JTE Hagewn Quibald GIHTL hIdweT

a) LI b) eNGausmenibsi
C) smysm d) srami

367. In India, for the first time, no confidence motion was introduced in which of the
following state assembly?

a) Tamil Nadu b) Punjab
c) Kerala d) Magarasgtra

RbHWTelled (PHT(PEHBULTS BLOLISMS Ee060T HFLomeid GETemr( eugliL L
FULUBUTemey 61517

a) HODPHTH b) uehamii

C) Gaiyermm d) wsryTeggyT
368. Which of the following is not a hormone imbalance disease?

a) Agromegali b) Goitre

c) AIDS d) Dwarfism

&6y 2 _eienaummlevsr &I amTiGorer @emp GHTUI DisveVT?

a) 2158yTOH6] b) sruii

C) LTl _610 d) @eitengHHeitenio

369. Choose the wrongly matched pair.

a) Gulf of Aqua - Jordan
b) Gulf of Aden - Yemen
¢) Ligurian Sea - Greece
d) Cardigan Bay - UK

gflwres QUTHBHHTH Senemrenul CxHism

a) DIBMUT  CUEMETEGLT - GenmiL_medr
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b) g6t auemen@HLT- 6JLDGIT
C) @ fwier &L 60 - &Siferd
d) smigsen euemen@GLT - UK

370. Contingency fund for the state is operated by
a) Governor of State b) Chief Minister
c¢) Finance Minister d) President of India
LOTHEVSH ST THTUTTT HFHemWl enBUITeTLIGUT
a) WIHey EHHI b) waevemFai
C) PP iemw&ai d) ®uwrs sHemeveui
371. Choose the correct statement
1. Gandhi started Salt Sathyagraha in 1930 and he ended it in 1932.
2. Vinobhave is the first individual Satya Grahi.
gflwrenr Fnpilensid Capis
1. &MhFHwgssT 2 [ FHHUTHTEHMS 1930-60 COHTLMIE 1932-60 (PIHSHI MUSHSTI.
2. Gemmur@eu (p&H6eL Hell BUT FHHWTHITEH euTH.
a) 1 only b) 2only c) both d) none of these
372. The fundamental unit of Human Nerve is
a) Neuron b) Nephron
c) Medulla d) Cerebellum
weflg BHIDLeT CFuIsvs 60G)
a) Buyymedt b) Qrbriymes
C) Gosveor d) GafGusvevd
373. Ecdysone is secreted by

a) Birds b) Molluscs
¢) Insects d) Reptiles

elbemLBaFmelt & &ILLFHI 6157
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) UBeaIBHSIT
C) uFHsei
374. Art 390 deals with the state of
a) Jammu & Kashmir
c) Meghalaya
allgl 390 2 L6 Q& TLiyenLUI LOTHl60D
a) WD - BTEPLST
C) Guoameouwr
375. The editor of ‘Indian Mirror’ is
a) K.C.Sen

¢) Mirunalini

‘@bdwiest 1O eledLIHen ey Afuir

b) Guomeverv

d) eerieuenr

b) Manipur

d) Tripura

b) wemili iy

d) gifiygm

b) G.S.Aiyyar

d) A.B.M.Bose

a) Bs.d.0lF 6t b) 29.e1610.ujeMeVEVWIF

C) Wmewrmerien d) A.B.M.Burerd
7. Find e alue o 2t 0n

a) 2 b) 20 c) 0.5 d) None of these
377. Find the value of 125° - 8° - 117°

a) -117000 b) -351000 ¢) 351000 d) None of these

378. Which of the following are in descending order of their value?

et eumeuTIBlsd @BHIEG euflenguilevieeng e1gl?

a)s 7 8 11 ) 8 11 7
9’11’15’ 17 15717711
C)11 7 8 5 )11 7 5 8
17’11’15’ 9 17°11°9’ 15

379. In a family the father took ¥ of the cake and he had 3 times as much as each of the
other members had. The total number of family members is




BHHWH 1HHHIHCBTeNEHD CHbaHle Y4 URISTOH DNHGHBLUSHH60 @6UCETHRIHLD
dBHHIH OBTeTEHIDDITEme L 3 IDLBIG 61aN60BGHBIOLSHIH 2 6ienalider 6
6TE0T6MN 6D B

a)4 b) 5 c) 10 d) 12

380. Find the least multiple of 23, which when divided by 18, 21 and 24 leaves, remainders
7, 10 and 13 respectively.

18, 21, 24-960 @i elewiensm GHGW Curgkl 7, 10, 13-53 BHWTH HenL BB
SieNGeNemT 23 G DL MHIG, 6lelled DIEUG6UETTEN6ITD BTN,

a) 3002 b) 3013 c) 3024 d) 3036

381. If x =7 - 4v/3 then the value of x + iis
X = 7 - 4/3 erefilsv X + i—,@'sr WHDUSH HT6wIH.

a) 3v3 b) 8v3 c) 14 d) 14 + 8V3

382. The average weight of A, B, C is 45kg. If the average weight of A and B be 40 kg and
that of B and C be 43 kg, Find the weight of B.

A, B, C-sefleit ggmafl stem 45 &HGeum; A, B-saflen ayrafl etew 40 &Geum; B, C-amefeir
gynafl eremL 43 &Geom elafled B-6i1 slemLenuidh HT6wIHb.

a) 28 kg b) 30 kg c) 31 kg d) 32 kg

383. The sum of the squares of three consecutive natural numbers is 2030. What is the
middle number?

apeiml OHTLTFHwmenr Guied eTewibermen ITdbHmibeMeT FmbBamHs0 2030 elaisd HH
6I6UTEN6EWIE  SIT6UIEb.

a) 25 b) 26 ¢) 27 d) 28

384. Ten years ago, A was half of B in age. If the ratio of their present ages is 3 : 4. What
will be the total of their present ages?

UHEH QUBLMAIBEHSE e A-61 aawisTeng B-6ir euwgdlsd LT, Siauiamerie
SBEUTMHUI aIWIGIHeT6T aldSlsHd 3 : 4 sefled HBEUTMHU QIUIGIGBETET Fn(BFH60

a) 20 b) 35 c) 45 d) none

385. If 2=3"=6"7then (i + i + i) is equal to

2*=3"=6" aaflev G + ; + %)@GM LA IMLI  HTEIH
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b) 1 0> d) -~

386. The population of a town is 176400. If it increases at the rate of 5% per annum, what
will be its population 2 years before?

R BEJHH 10HH6T CHTensd 1764400 @eaCaumm eIBLIPD 5% 1&HHTESHTEND
o WihHTeL SIewi(h UHLMIBEHDHE (P BHBTHEH LDHH6T COHTensd

a) 140000

c) 160000

b) 150000

d) 180000

387. The sale price of an article including the sales tax is Rs.616. The rate of sales tax is
10%. If the shop keeper has made a profit of 12%, then the cost price of the article

elpuener sufluLen Caida @m Ourmeisnt elBm elemsv m.616. elBuemen sufl 10%

oBEId Georud 12% S bIBEHI 6160 DL bdH ellenevenlids HT6mIsb.

a) &. 500

b) &515 c) &.550 d) &.600

388. The sum of three numbers is 98. If the ratio of the first to the second is 2 : 3 and that of
the second to the third is 5 : 8 then the second number is

paim eTenidbelel FnbHev 98.  (WHeJTewi(hy elevibelen eMHlHD 2 : 3 wBEID
s Fullyeni(® elenidbelen eldHlHD 5 : 8 6l6ve0 GTCWTLTID 6T60I6N6ITE BT,

a) 20

b) 30 c) 48 d) 58

389. 4 mat-weavers can weave 4 mats in 4 days. At the same rate, how many mats would be
woven by 8 mat-weavers in 8 days?

4 umtul QpUILSITSHeT 4 UTUIGemeT 4 BT H6rMed OFUITTH6T 6leflsd 8 wLMUl -
OpUILIeITHeT 8 BT H6illed 6TdHHMe LITUISN6T GFUIeTTEH6N?

a)4

b) 8 c) 12 d) 16

390. 2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same
in 11 days. Then 8 men and 6 boys can do three times the amount of this work in

2-opemidei mmId 7 Fpieuisst CFiba @ Cousmevenws 14 BT &6Med (PIQUILITTS6N.

3 et wppid 8 Fmieuisst CaFipbad 216k Gemeusvenuws 11 BT Herlled (WPLILITTEHET 6T6v60
8 el ommId 6 HAmieuiset Caibam DBHEUTEL (paIml DL BIG ECalensvenul 6185H3H6m60
BT H6er6e0CF UG (LPIQLILITTESH6NT?

a) 18

b) 21 c) 24 d) 30
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391. 45 men can complete a work in 16 days. Six days after they started working, 30 more
menjoined them. How many days will they now take tocomplete the remaining work?

45 yeiime @ Gouemevenwl 16 HIL&Heflsd OFUIFH (PpQLILTTEH6T.  Cousmevemul
UTDLISHSH 6 BTLBEHSHGL LIB@& 30 Uewidsel FnbHeords CFibgh OCBTeTHMITHeT 66860
Walueiren Cemeusvemul (LPI9dhd 61HSHMEN BT H6IT G ?

a) 4 days b) 5 days c) 6 days d) 8 days

392. A leak in the bottom of a tank can empty the full tank in 8 hours. An inlet pipe fills
water at the rate of 6 litres per minutes. When the tank is full, the inlet is opened and due
to the leak, the tank is empty in 12 hours. How many litres does the tank can hold?

biedud QBT guirergsl 8 welGhrHaled BT Brwlw T gedw HTlCFUISBH. @
G@oruwmergl 6 el Lt pilemenr 1 HIOLGHH60 STedlwTes 2 6ienm GHTLIQUled 2eMBBISBSI.
SbH W CsTiguid BiFbu 12 well@hIn &EmgEl slaflsd OHTLQuies Hen  Siene)]?

a) 7580 b) 7960 c) 8290 d) 8640

393. A man in a train notices that he can count 21 telephone posts in one minute. If they are
known to be 50 metres apart, then at what speed is the train travelling?

Sruiedled LwenHHIS CBTEIYMHEGLD Q@HeusTs0 1 BIOLGHFHe0 21 COHTenev@ud
HIDLIBIGBENET 660160 (WIRBBH.  NBHHBHSH CHTemevBUF HIDLIMIGEHEH G,
@emL_Buiugeitenm Hryd 50 L LT etefled Gpuievlesr GoubsdHendHd HTeuis.

a) 55 kmph b) 57 kmph c) 60 kmph d) 63 kmph

394. Find the simple interest on Rs.3000 at 6 ¥:% per annum for the period from 4™ February
2005 to 18™ April 2005.

.3000-6@ 6 Ya% sHaialllp eisdhals0 4 Lllgeufl 2005 (pHev 18 gligsd 2005 eueny
BML_BGD QU I9enUIdH HTEHTS.

a) 37.50 b) 37 c) 38.50 d) 45.50

395. A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the rest at 18%
profit. He gains 14% on the whole. The quantity sold at 18% profit is

@m elwmeurfl 1000 &.8 Fidsemyulss @@ UGHdW Sip GeorudhIevd LHemuws 18%
BeomuhHeID BB QU BOWTHSWTE 14% GSeomUwenL &Smi ereflsd 18P
Qe FHev alBm Fidbsmruiler oi6e)]

a) 400kg b) 560 kg c) 600 kg d) 640 kg

396. A man is standing on a railway bridge which in 180 m long. He finds that a train
crosses the bridge in 20 seconds but to cross himself in 8 seconds. Find the length of the
train and its speed.
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Sruieomenadl @@ LeiHmen 8 elemgosefed 180 Hempsiten LTeHmEH 20
AT HEMEVID HL HBHMBEHI 6TeoNed QRTuilelledt HeMHendHd SHT6uIb.

a) 120 m b) 150 m c) 180 m d) 100m

397. A Shop sells 1 chocolate at Rs 1 each. you can get 1 chocolate by exchanging 3
wrappers. If you have Rs.15. How many chocolate can you totally get?

RMm FOLSHMT h.1-5@& 1 FTH00l. HMHAMTT. 3 FTHEL 2 _mBHM6NT
CaThHHT0 1 FTHO. HMHSIBTT. 6leled h.15-5@ AHBULFLD 6UTRIGLD
g 0l60L_H6T60  6T6v0600N M ?

a) 15 b) 20 d) 22 d) none of these

398. Find the number of lead balls, each 1 cm in diameter that can be made from a sphere
with the diameter of 12 cm.

12 Q&.16. el Lapsiten CamendHaledlhal 1 OF.15. el L (6o 615HHemenn LI )61 (HEH6NT
E&uwiw pgub?
a) 1000 b) 1331 c) 216 d) 1728

399. Two cards are drawn together from a pack of 52 cards. The probability that one is a
spade and one is a heart is
52 FL(pHei OBmewiL FL (B 1960mHe QI FL(BH6T shSHHILGHBH  Slene
Q6ImI eBLG UBD QTIH ABTTIYITED BHHS HHLHH| HTEWH.

400. The following pie-chart shows the % of Literat and illiterate - Males and Females in a
city (250,000 members)

Miterate female
(L& =rg Gus )

Literate Iale
(Les & amh )

Literate Female
(L & Gued )

Mhiterate Male
(L& =15 Z4eml )

What is the difference between the number of Literate males and Literate females?

UgHsH UMBEHSGD LIQHH OLIBEhHGID 2 66N aldhHungin?

cormvese (A Specialised Institute with shortcut Ideas)
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a) 75,000 b) 1,500 ¢) 5,500 d) 500

401. Which of the equation is used to find the Mean Difference?

Fynaf eleNdbald HTem 2 _HaD FLOILTH

L L

n

2y 20! by Q2!

n n

402. Which of the following statement is not correct about ACTH?

1. protein hormone
2. Induces melanocytes
3. transfers proteins

ACTH QsrLiumen gnBmiseiled SHeummend e1gi?

1. uyys emmiGomed

2. QevGemenaL BaHemen HTenl(BHMBSH
3. Uremisensn @D LoTBH3ISBS

a) 1 only b) 2 only c) 3only d) all of the above

403. ‘Glowing coal’ is related with

a) coal b) Protein structure

c) Carbon gas d) Fatty acid

“erfigemred &MWL 60T QFHTLTLEmL WG

a) Mevai b) s Semwiiy

C) BIiLIed 6] d) Qsmapiiy sudeoid

404. Which is used to manufacturing of plaster of paris?

a) Gypsum b) Epsum

c¢) Carbon d) Oxygen
urferd gmhgl HwTfeas 2 sHeledml 61gl?

a) gD b) emigd

C) &miLIes d) o dberdegeit

405. Which of the country joined with India for Kholongchu Hydro Electric Project?

a) Japan b) China
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c¢) Bangladesh d) G+lhd;

406. Choose the wrongly matched pair

Art Directive Principles
a) Art - 39 - Free Legal Aid
b) Art - 48 - Protection of Forest
c) Art - 45 - Animal Husbandry
d) Art-51 - Interantional Peace

SHoupTen Eenenienul BFHis

Art CBBlepams

a) Art - 39 - @eveuF FU L 2_Ha
b) Art - 48 - QUGIBIGBET  LITGHIBTLIL
c) Art - 45 - ST6OBeNL LTofiiL
d) Art - 51 - FiauBaps SieMLog)

407. Which of the following is not a computer protocol?

&8y o _eieneumpilever &I Hemlledl GIBSI(LDB  Bi6L6V?

a) POP b) SMTP c) IMAP d) SSP
408. The founder of Bharatiya Brahmo Samaj is

a) Raidas b) Radha kant

c) K.C.Sen d) R. Tagore

urggdw WybGom Flormid Sienwlemu G HTL miglweut

a) gruigmerd b) grer SmHs

C) Bx.4).0F 60 d) eyui. Hrami

409. Choose the correct statement

1. Western disturbances blows over India from February to March.
2. Kolleru Lake situated in Utkal plains.
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Fflwrenr FamplensndBHism
1. @bHwrelsd CueBssHHW  RewLwml STBHI FDUT (1pHev LUFeufl eueny eisdBgl.

2. Q&TeuBeuh gfl 2 _dded Fleuefuled 2 _siengl.
d) none of these

b) 2 only c) both

a) 1 only
410. Choose the correct chronological order.
a) Home Rule Movement, End of First World War, August Declaration.

b) End of First World War, Home Rule Movement, August Declaration.
¢) August Declaration, End of first World War, Home Rule Movement,

d) Home Rule Movement, August Declaration, end of First World War.

gflwmenr smevauflengulsd e1(1DHALD
a) STl & BUIBHID, (PHev 2 _e0sLIUTT (Lp1g6)y, BB DINHMD

b) wpmev 2 suslIBUTT (pI9e| Heteuml & Ruibsld, BB DHMS

C) UHB SPHMB, (WPHev 2 60sLGUTT (1pYe), HedtenTl & Ruidbsld, PsHer0bH
DB EHMB, (PFHeL 2 _60sLBUTT (LpIg6).

411. Vaikom Agitation held in the year of

meUBBD CUITTLLLD HewL OLUBB 60T
a) 1924 b) 1929 c) 1926 d)
1928
412. Which of the following is a polyndrome series?
&Cp 2 eitemeumpilever &I LTedewtl Gymib euflenaulisd o sitengl.
a) 5’ GAATTC 3’ b) 5 GAATTC 3’
c) 5’ CTTAAG 3’ d) 3’CTTAAG 5’
413. The Article deals with compulsory education
&L LTW Heval QBT FTHFH
c) Art 22 d) Art 24

a) Art 21 b) Art 21 A
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414. Match the following

Ore Metal
a) HgS 1. Sulphide
b) MgCOs; 2. Carbonate
c) BaSO, 3. Sulphate
d) NaCl 4. Halide

QUTHSHSHIS

ST 2 GeomsId
a) HgS 1. FevemLIB
b) MgCO; 2. smiLGeot
c) BaSO, 3. FeuBul
d) NaCl 4. Gamenev®

a b C d
a) 2 1 4 3
by 2 1 3 4
) 1 2 4 3

d 1 2 3 4
415. Father of Indian Economic Planning is
a) Nehru b) Visveswaraiya
c) Naoroji d) Gadagil
@bHW CUTGHSTTSTY SILL LGS Hbend
a) Gmrm b) eflero@eusrveuyuiuim
C) OpenBrmed) d) sm’_dlev
416. Choose the wrongly matched pair

Land Use

a) Devadhanam - Sivan temple
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b) Thiruvidiyattam Krishnan temple

¢) Palli Chandham - Schools
d) Chala bhogam - Free food
SHUBTe  Qenemienuld CHis
HleVLD LIuLI63T
a) Cxheuspmenid Hlouett GBmulen
EAGREEEEINEY

b) FmelenLwim Lib
&60al  [HleneVWILD

C) ueitell &FhsLD
d) gmev Gursid BeveuF 266
417. Choose the correct statement

1. Agriculture sector is the major employment generating sector in India.

2. In India, Agricultural lands are characterized by under utilization.
gflwrenr Fnmpilensid Capis
1. @bdHwrelsd oighs Cousmev euTUILIL] 6UPRIGD HieHM SNEUFTWILD.

2. @bsHw Geuenmewt MHeLmIBET UBMlENT HIHMSH L HHBL LILGTUTL 1960 E606M6VL.
d) none of these

C) serelwim@Loil

419. Choose the correct statement

1. RBI established in 1935

a) 1 only b) 2only c) both
418. Thalaiyar Falls is located in
a) Namakkal b) Salem
c) Kanniyakumari d) Dindigul
SHMOWTH DHET  IDLOHSHI6TEN  LOTEUL L LD
a) BTGBV b) Bzsuid
d) SHemBdbss

2. Panagal Raja was the Governor of RBI for the longest term.
3. Manmohan Singh was the governor of RBI in 1991
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Fflwrenr &mpflensid BHism

1.1935-g11b oY60I(p Gilesy HINBIGLL L .
2. Fle-ulel HEUTEIITH HeWIL HTevD Lisnlyfh Heut Lemdsed Jregm e,
3. wenGomdser Fm 1991-60 Filegy Heuteuymds  LisvollwmBnsleai.

a)1l&?2 b)2&3 c)1&3 d) all of these
420. Astronomical unit is
a) 3x 10° ms™ b) 9.467 x 10°m  c¢) 1.496 x 10"m d) 24 x 60 x 60

421. Choose the wrongly matched pair

a) 1 milli metre - 10> m

b) 1 micro metre - 10-° m

c) 1 nano metre - 10-° m

d) 1 Angstrom - 10-m
QuUTHHHIS

a) 1 106069 LB Lii - 10-*m

b) 1 ewioaGym 8L i - 10-° m
) 1 BGeurm 1S Lit - 10-° m

d) 1 symhieror g - 10-"m

422. Buddha’s death place is
a) Gaya b) Saranath
¢) Kushi Nagara d) Madhura
USHST LoJeniloenl [bdh G LOTH 266G
a) swm b) arymBrs
C) GABSIID d) weign

423. Court of directors and Board of Control of English East India Company was abolished
in the year of

BQuIEGBT Slmel, S BLULTL BHGH ) USWOBMB Hn60HSH U,601[H
a) 1858 b) 1833 c) 1813 d) 1909
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424. Right to property was removed from the fundamental rights in the year of
Cardgifleno ongliuenL. 2 fenwseilev @Ibal HHSHULLL Dy emib
a) 1974 b) 1978 c) 1982 d) 1986

425. Third branch of South West Monsoon’s Arabian Sea branch normally enter into Gujarat
in the month and date of

OeeBoB@ Umey STBBleT SLlbaL60 Hewenulen cpeimreudl Llfle] @&errahLonmevddlsd
BIEDIDULD 6ULDSEHLOTEN LOTSHLD, CaHd

a) June 15 b) July 01 c) July 15 d) June 01
426. Which of the following city is not located in the Golden Quadrilateral Road?
a) Surat b) Bengalluru c) Puri d) Raipur
&0 2 6ien 61hH BHID SHHS BTBEHJ FTeneL HI L HFHe0 CFyms?
a) &IH b) CumisEm® C) d) gmingi
427. The head quarters of International standards Organisation is
a) Rome b) Geneva
c) Newyork d) Paris
International Standards Organisation (ISO) seneveniowisid o siten GL 1D
a) Gymib b) Gegesieur
C) Bupuwiiés d) umferd
428. Which is used to produce Urotrophin?
a) Chlorine b) Carbon
c) Ammonia d) Silver
wCrm”_Gymienr swmflinied o sHeyeug 61g1?
a) @&Genmifleor b) &miue
C) 1Bomeiluim d) Geusirerd
429. Worli Tribes lives in

a) Damon - Diu b) Andaman

c¢) Dadra - Nagar Haveli d) Nicobar Island
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aumtell LIpmIGIoulent eum(p LG

Q) LmDedr - emLuy, b) sibgpLomest

C) &SIHIT - BIsi apGaied d) MBsmui &e)
430. Arrange the Indian Vice Presidents in correct chronological order

1. Zakir Hussain
2. S.Venkatraman
3. V.V.Giri

4. Kishan Kant

SN GHQUITHSH HMevalTHenen Hmev auflenguied eT1HeD

MTHT SN F 6l
61610, Cl6)MIGL_[JTLO6IT
ail.o.&lifl

FOGeST HMHd

R S R

a)l,234 b)1,3,4,2 €)1,3,2,4 d)1,4,32
431. Which of the part controls the involuntary action of our body?

a) Medulla Oblongata b) Cerebrum

c) Cerebellum d) Hypothalamus

el 2 L ellel HeeFengduwiBm Ruidbamibenst &l BULL HSHID enouID 6157

a) Go{Beveor S1BeOTHRIBHL LT b) Gefiiyid

C) GFMGuevsVID d) emamrGLITSHTeVLD6MD
432. “Dhurpad Raga” is in the Veda of

a) Rig b) Sama

c) Yajur d) Atharva

“sITugHImsd” GLib GuBmeTen Gaugld

a) Mé b) &mo

C) wiggeit d) @ipien
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433. Match
Majahanapada Capital
a) Kuru 1. Kushinagara
b) Avanti 2. Hastinapur
c) Malla 3. Taxila
d) Kandhara 4. Ujjain
QUTHSHSHIS
LOSHTFGILSHLD HEM6EVHSBT
) &® 1. GBI
b) Sieuhd) 2. emerogleumyi
C) o6vsvT 3.5L 860D
d) snbsryd 4. 2_gmuie
a b C d
a) 2 4 1 3
by 4 2 1 3
) 4 2 3 1
d 2 4 3 1
434. Choose the wrongly matched.
Invention Inventor
a) Insulin - G.Banting
b) Microphone - KarlBenz
c) Gramophone - Edison
d) Radar - Taylor

HOUBTEN enemienuld, CHid

S BLIQLIL olehehed
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a) G)eirgeVlem - o LITGuoTIQ Ml
b) ewiaGrmBLITes - HTT60GILIGHTEN
C) SymoGuiTest - 6TIQ & 60T

d) GyLmi - OLuIevr

435. Which of the following is Mohr’s Salt?

&0 2 eiemeummled e1g Gomit o ] SH@&Ww?

a) FeSO4(NH,), SO4.6H,0 b) K2SO4Al;(SO4)3. 24H,0

¢) NazB407.10H,0 d) C¢H,CH3(NO2)3
436. In which year 9" schedule of the Indian Constitution is added?

STFWevemIDLILT6T 9-6ughl UL IgUlsL 61hd ewih CFidbaliul L gl?

a) 1950 b) 1951 c) 1974 d) 1978
437. Choose the correct statement

1. Bishnoy Movement was started by Amirtha Devi.
2. Ramsar Convension was held in 1971.

gflwrenr Fnmpilensid Cxpis

1. UegGswmul Quidbsid SibfleaT CHallwimsd SHieumisll L g.
2. gmbgmi wonmprG 1971-60 HewL GLIBBSEI.

a) 1 only b) 2 only c) both d) none of these
438. Arrange in correct chronological order.

1. Direct Action Day

2. Mountbatten Plan

3. Interim government

4. Formation of Constituent Assembly

gilwren Hme0 auflewagulled eT(HD
1. GBrY BLOIQHMNS HT6I
2. Guememar Gu L gL 1D
3. QMLHBM6L DTG
4

DTAwied Hiewiul Fenll SienLoLIL]

a) 1,2 3 4 b) 3, 4,1,2 0)2,4,3,1 d) 43,21
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439. The total expenditure of ‘Safe India’ Scheme in 2014 - 15 budget is (Rupee)

a) 1000 crore b) 10,000 crore ¢) 5000 crore d) 2000
crore

2014 - 15 b ey HFHBemev Dfibenauled ‘Epusph Mosmul’ FHLHHeo Gordhs
OF6ve)y GHTEMS (eHLITUI)

a) 1000 Gamig b) 10,0008y C) 50008y d) 2000@esmig
440. Which of the cities are connected by NH,4?

a) Delhi - Kolkata b) Kolkata - Chennai

¢) Mumbai - Chennai d) Chennai - Bengaluru

@i, epeold REMETHBLILIBLD HBHTMIGHET 6T6n6u?

a) G606l - GBTELHHBHT b) OsrevsdHHT- CF6iiene

C) wibewl - QFeiTenet d) QFeiremenr - GUBIBEH

441. Choose the wrongly matchedpair.

Journal Founder

a) Al-Hilal - Abul Kalam Azad

b) Comrade - Mohammad ali

c) Punjabi - Lala Lajput Rai

d) Al-Balagh - Mohammed Igbal

HAUBTEN Nenemienild BHid

ugbFHMbmns B\ mieuelT

a) oev-anfleomed - SO HOEVMD UFTH
b) &mbGyi_ - (WHIGH eV

C) ughami - GUTEVTEVRLIZS Ul

d) o0 - ueord - (P&BIDGI BHLITED
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442. Match
Desert Country
a) Sonoran 1. USA
b) Kalahari 2. Bostwana
c) Karakum 3. Argentina

d) Pantagonian

4. Turkmenistan

QUTHSHSHIS
LITEm6V6)6ILD UIC)
a) @z m@evrmymest 1. USA
b) ssvammil 2. GumervL_sumen
C) &Tyn@ELDb 3. SITOIgemg6uIT
d) uimewir_m@esmeufuiest 4. HIieHOeerogH e
a b C d
a) 2 1 3 4
b 1 2 3 4
) 2 1 4 3
d 1 2 4 3
443. Article deals with Right to Freedom of Religion is
0% FSHHISSBSTEN 2 Menenws eupRIGHs0 Art
a) Art 24 - 26 b) Art 25 - 28
c) Art 29 - 30 d) Art 32
444. Choose the correct statement.

1. Retinol is vitamin A
2. Phylloquinone takes part in blood clotting
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Fflwrenr  FnmnllenendCHis

1.  Qrligemsd 6T6iILIGHI emeL L IO 6 S@E&LD

2. evBeur@uilenimedl JHad 2 _mmEH6eVle0 LIBIG6LMBISLID.

a) 1 only b) 2 only
445. E = MC? was propounded by

a) Edition

c) Margony

E = MC? asiiLens  gnplwisuit

c) both d) none of these

b) Einstein

d) Nobel

a) 619 6ot b) medervless
C) miGemen d) Gprued
446. Choose the wrongly matched pair
Element Atomic Number
a) Hydrogen - 01
b) Helium - 02
c) Lithium - 03
d) Boron - 04
QUTHHHTH RNememenuld CHidH
HEULOLD SIeW)| 616007
a) eneBL Teg6dT - 01
b) enfeduwib - 02
C) 6dG&Huwib - 03
d) Guimymedr - 04
447. Nelong Valley is situated in
a) Gangotri National Park - Uttarkhand
b) Kanha National Park - Madhya Pradesh
¢) Manas National Park - Assam
d) Bharathpur National Park - Rajasthan
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HOVTRIE UsTeNSHHTHGH DMLObHSIGTEN GSL LD

a) snlsreHfl Cadlwu kst - O HBHT BTG
b) seianr Csdlw ymisT - wHHW LyBsHaid
C) wmemerd GpdFlul LmisT - SIFTID

d) upsyi CsAw et - TTE26Y0HT 60T

448. The article deals with Amendment of the constitution is
a) Art 340 b) Art 352
c) Art 362 d) Art 368
SITFWIEVMLOLIL] SH(HSHHOHTLILTEN FJHSHI
a) F7HH 340 b) srsa 352
C) FrHH 362 d) srsa 368

449. Priti Patel, an Indian origin sworn as aMinister in which of thecountry?

a) USA b) UK

c) Canada d) Australia

fgHa) uBLed eteli3 BbFHUl aubaFTauelulen 6lbhd BT IQET DHEDIDFFITH
QurmIiIGumBmIeTeTT?

a) USA b) UK

C) ST d) euervdCreduim

450. Choose the wrongly Matched pair (seupmen Genewionuwi Gxis)

Bank Year (Established)
a) IDBI - 1964
b) IFCI - 1948
c) Exim Bank - 1982

d) NABARD - 1985
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451. Which of the organization developed the India’s super computer ‘PACE’?
a) NAL - Bengaluru b) C-DaL - Pune
c) DRDO d) T — Chennai
@bdwrelssr PACE’ a6 @GUui sblul Leny SWmheHsd Dienioli] eigl?
a) NAL ngq;fSU b) C - DAL GNd
c) DRDO d) T - nrd;id
452. Which of the enzyme is not present in Intenstinal Juice?
a) Erypsin b) Lipase
c) trypsin d) Lactase
fm @Lev Fmsled Eevevnd CUTMHET 6187
a) erfliidler b) e9Guerd
C) LCAidfer d) eordGLTerd
453. The explosive called as Picric Acid is
afld idlevd 616 AMIPBBLILIGID Gaug QU6
a) TNT b) TNB c) TNP d) TNK

454. Choose the croorectly natcged oaur

Medium Speed of sound (m/s)
a) Coy - 450

b) Helium - 965

c) Alcohol - 1500

d) Aluminium - 5640

Fflwmenr Qememenuls CHia

s) Cox - 450
b) anfedlund - 965
C) SELHAMBITEL - 1500

d) swsdlefuid - 5640
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455. Choose the correct statement
1. The largest port in India is Jawaharlal NehruPort, Mumbai.
2. The largest natural port is in paradip, Odhisha.
Fflwmenr Fnmrilenend CHis
1. @pHwmreler WOSICURW HiEWBUPSHID (PLDeHLI WeuamieoTsyd Ghm HIMBLPHID
2. @bFHwmelsr W6ELONW RuIBend HIDBUPSHD UTTSHL - QQEQT.
a) 1 only b) 2 only c) both d) none of these
456. Join Naval Excise of India - France, 2015 was held in
a) Paris b) Goa
c) Panama d) Kolkata
@bHw - Lgrererd sUUBUML Fnl B JTemied BHLeugHmed 2015-60 B GUBB S 1b
ayumflero b) Gsmeur
C) LeuImLDT d) QsTevsHHT
457. The article gives equality of opportunity in the matters of public employment is
a) Art 15 b) Art 16 c) Art 17 d) Art 18
Qurgl Geuemev aUTUIITEL Fl0 2 MeMID QIPRIGLD FTHSH
a) #1681 15 b) sydH@ 16 C) 81581 17 d) sr6a 18

458. Choose the wrongly matched pair

Peasant Movement Leader
a) Bardoli - Gandbhi

b) Bijoila - V.P.Singh

c) Pabna - Ishwar Roy

d) Telengana - Kumarraiya

HUBTET  ENenenTenuisHCHi b

alleugmul yyL_gl HMEV&T
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a) U@z Te BTH)
b) 198zgreSuiT ol.L0. A
C) umiienm FOYOGUIT  [JTUI
d) QmevmisTenT @LOMFUILLIT
459. Match the following
Revolutionary Movement Leader
a) Mitra Mela 1. P.N. Mitra
b) Anushilan Samiti 2. Savarkar
c) Swadesh Bandhav Society 3. Ajit Singh
d) Bharat Mata Society 4. A.K.Dutta
QuUTHHHIH
sHalgeursd Suidbsld HEN6V6UT
a) W&yT Guermm 1. W.erer.10ggm

b) simiFevsi F105)

2. SMeUTT&T

C) 5830 UbBHeI FOH 3. 9IHdm
d) utyg wrHT CFTema 1 4. .85. HHHT
a b c d
a) 1 2 3 4
b) 2 1 3 4
C) 1 2 4 3
d) 2 1 4 3

460. Choose the correct statement
1. Capital formation is very low in Indian Industries.

2. Capital formation depends upon the savings of the people, profit of the companies.
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Fflwnenr Fnmrilenend CHisw
1. @pHw QOHTH6L HIMPIUIED FLPEVHN 2 _(HEUTHSBID  OBH GHMMB6).

2. APEUSH 2 (HAUTHBID DdHH6MMen GFLOIL, MHmleuemhiSaTen 60TLD SduleBenys
QUTHSHHI DIEHIDULD.

a) 1 only b) 2 only c) both d) none of these
461. The Salem Steel Plant was established in?

CFevld GO SUeWEL BMIULILL L 65T(H

a) 1978 b) 1989 c) 1956 d) 1952
462. Chairman of 13" Finance Commission is

a) Y.V.Reddy b) Krishnadas

c) Vijay Kelker d) Madhu sudhan

13- BFHBGHpalen Hemeveu

a) Y.V.Gyi g b) & magemsTerd

C) eflegus CwbevabiT d) wagigsHe

463. Choose the wrongly matched pair

Liquid Boiling point
a) Ethanol - 349 K

b) Chloroform - 334 K

c) Acetone - 380 K

d) Water - 373K

HAUBTEN QNeneTenisH8 Hidh

SlyeuL QasmHBenso
a) 615 HEMT60 - 349K

b) @Genm@yrumin - 334 K

C) oL GLredr - 380 K

d) Bi - 373K
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464. Vikkiramashila university was founded by
a) Dharmapala b) Rampala
c) Gopala d) Vijaypala
AllGBATID FoOT LIsVHM6VDH HIPHHMS HimieTwleut
a) SiouTeoT b) gmbumeor
C) Gasmumevr d) eflegwiimeor
465. LHighest populous state as per 2011 census is
a) Bihar b) West Bengal
c¢) Uttar Pradesh d) Rajasthan
2011 &&6i OFHTmHUTODIHS 10&HE6T CHTENHOHTEWIL  LOTHIEVLD
a) s b) Gom@eumisTeND
C) &_&8lyCxhaid d) gregervogmedt
466. Kakrapara Hydro Electric Project situated in which of the river?
a) Tapi b) Ravi
c) Chenab d) Mahanadi
STHIUTTT BIS6T HULID 6Thd UBNIELDMIDSHSBLILIL (BeiTend?
a) pug b) gmed
C) Ggenmr d) wesnps
467. Which of the following lies in northern most?
a) Palar b) Ponni River
c) Cheyyar d) Vellar
&HCp 2 6iTemeuBSled QI HHTH DMLDHSHIGTENGE
a) umeomm b) Quresiedl <umi

C) Oeuiwrm d) Qeusitermm
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468. Wich country is a source for the advisory Jurisdiction of Supreme Court of India?
a) USA b) UK
¢) Canada d) France
2 _FFbHE LAIBHIH NI QUPRIGD BHSBTID 6% BTG LP6VLDTEGLD?
a) USA b) UK
C) HeuLT d) Wgmeserd
469. The acid used in storage battery is
Cxoliy 10601 BHeVHFH 6L LILIGTLIGLDDILO6VLD
a) HNO; b) H,SO4
c) HCL d) None of these
470. The Tetanus usually affects
a) eye b) kidney
C) nervous system d) lungs
QUL Lemerd Gpmuilsd LTHdHslILBD 2 miiL
a) & b) SAmBreid
C) BJIDL| LDGWIL VLD d) miewguiyev

471. Choose the wrongly matched pair.

a) Indian Statistical Institute - Calcutta
b) Indian Institute of Forest Managemnet - Bhopal

¢) National Institute of Ayurveda - Chennai
d) National Institute of Siddha - Chennai

SHUBTeT Qememionuld O\FHidH

a) Indian Statistical Institute - QBTEOBHHSHT
b) Indian Institute of Forest Managemnet - Guimumed
c) National Institute of Ayurveda - CFeiiement

d) National Institute of Siddha - CF ciTen e
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472. Which of the following year, Industrial Policy was not released?
&Cp 2 6ien 61bdH eI CHTPB CaTeTens GeusulL L allsbensv?
a) 1956 b) 1978 c) 1980 d) 1991
473. Right to information Act came into the year of
HBaI0IMID 2 Mewp FI L IDOSTWIH eUTLILIL L Y61
a) 2004 b) 2005 c) 2006 d) 2007
474. In India, large quantity of dolomite is obtained from which state?
a) Uttar Pradesh b) Gujarat
¢) Madhya Pradesh d) Bihar
AbsHwirellsd GLTeVMOL. DHBID SHleML SHGWLOTHIEVLD 61517
a) 2_5gylulyCsHeib b) ®&esys;
C) wHHWIFCHF1D d) dasmi
475. ‘PANCHI” is
a) Areial vehicle b) Ship
c) Tank d) Missile
‘PANCHI’ eterLigh
a) eMomesrid b) sliL6d
C) L) d) geymenem

476. 9 labourers can complete the construction of a wall in 18 days. How many less days
will 12 labourers take to complete the same wall?

9 Ozmbeorenisefleir @m Souemy 18 BT &6Me0 HLIQ (PQLILITTHET 6660 DHSH
Causmevemul 12 QFmiplevmenisesl CQFUISHBHTEL 6THHMEN BT HEHHE (LPILITH

PR&EHBEHSGD?
a) 13.5 days b) 14.5 days

c) 4.5 days d) 3 days




477. The present ages of A, B and C are in the ratio 3 : 5 : 8. Eight years ago, the sum of
their ages was 40. Find B’s present age.

A, B, C g &6wrfler HBCUTendW auwigisele alldsd 3 : 5 : 8. 8 alHLBISEHHSE
(Wil SeuiHellen euLIFIHeNen FnbHev 40 erallsv B-Geir HBCUTENHW U HH

BHIT60I .
a) 20 b) 18 c) 25 d) 30

478. 50 runs in the 25" innings brings down a batsman’s average by 2. Find his average
after the 25" inning?

25-eug GuTLiguied @@ L enLwiment 50 gl L misenen 6I(heHGLOUTIDH Heigkl FFrafluisd
Ambal 2% RpsBEDT eleiled 25-aug Il Cumipd@ ey ieufler Fyraflenuids SHmemism.

a) 102 b) 100 c) 98 d) 30
479. 40% of a number is 80. What is 30% of one - fourth of the number?

@i etemtemilsd 40% e 80 elatiled SisiGleusHTENNEL Ya-60 300p-2d BHM6wISH.

a) 60 b) 15 c) 10 d) 30
480. 5 days before April 13" 2011 was a Friday. What day would be 5days after April 13" ?

a) Wednesday b) Friday

c) Monday d) Tuesday

12.04.2011-@&D 5 BILHEHEHGS (P&l OeusTemalipento eeed 13.04.2011-651 5
BT HEHHEGL L6 6165163 BIPEMLD Q)I(HLD?

a) g6 b) Geusiter
C) &misbeit d) QFsieumu
481. Find the missing number.
2,3,5,7,....,13
a) 9 b) 10 c) 11 d) 12

482. A mixture of 30 litres contains milk and water in the ratio of 4 : 1. How much water
should be added to the mixture to make the ratio 8 : 3?

30 VI &Bevemeuuled UTeLOBMID BT 4 : 1 elehiy MBI HHH0 2 _66NFEL.  6T61aI6N6)
by BFiHHTL LHwl el@Hd 8 : 3 eledl HemLdb@GHWb?
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a) 5 litres b) 6 litres
c) 4.5 litres d) 3 litres

483. A train overtakes two persons walking at speeds of 3 kmph and 5 kmph in 14 seconds
and 14.4 seconds respectively. If they are walking in the same direction as the train. Find
the speed of the train.

o @yuieorend aise SHevdwiBsoBuwi 3kmph, skmph s Gousdhded BLHHI GFeLID
Qrevii(y pUTHemeN 14 efleuimly, 14.4 elemgseied HLHBHBEHI slaned Qruiedlenr GeusdHhend

BTN,
a) 72 kmph b) 78 kmph
c) 80 kmph d) 75 kmph

484. A pipe can fill a tank in a hour. Because of a leak, it took 1 hour and 10 minutes to fill
the tank. Find the time takenby the leak to drain all the water in the tank?

QM STWTIH @@ QBT Igenul 1 wewll GBrHHled MIlyw. CHTLuTendl HFeughHTeo
3iF Hirou 1 wenll 10 HIOLBIGeT HFmSEH.  6l6le0, BT HIFDLIW CHTL IQUITeNS
sTelalee] CrHIHaHleL Dbslelen aflCuw GeuemGuimib?

a) 10 hours b) 8 hours
c) 7 hours d) 9 hours
485. Find the number of ways a batsman can score a century only in term of both 4’s and 6/s.

QM WL MLIFFTONT 61hHemen allfldefey 4 wBmID 6 U LmiGemen WL GO lgHd
FHHMS Sl9Hd (LPIQU|D?

a) 2 b) 4 c) 6 d)8

486. The number of boys in a class is noe and a half times the number of girls. If the
strength of the class is 70. Find the number of girls.

QR UGLLIeVI6TeN  oTewT6eNTE6M6d  6T6amT60l enBUITENSI LOTEmIRSH6N 60  6TevTentdbenduilsy 172

U@ SU@&LD.  LOTewIe)l, Lomeialldberen eewlenlldend 70 6l6ile0  LOT6wTai &6 6T
66U G0N 6M3B BT 6T,

a) 35 b) 32 c) 28 d) 25

487. 1£3%= 27" and = + = = = then find the value of b.
3a 9b 3b

a_ b . .1 i_i
3 =27 wm@w33+9b—3ba60ﬂ60 19-@60T LA ILINS BT,




\\

J”’"

>~ r pecSs
- = &

ua"uums";u"orlnrsc ( \ Sl)(‘CiﬁlliSl‘(l ll‘stit‘..tl‘ “‘itll .\'hﬂl‘t(‘ll(’ I(ll"c‘S)

'/n,\ '
i‘T 2 NATRAJ INSTITUTE OF TNPSC

-e.

3 b)3 2E oF
488. If the height of a cone is doubled, then its volume is increased by

DI 2_UWITHMSB DIHBIDTHH N0 BT 66| 6IalaI6Te)]| g HMdEID?

a) 100% b) 200% c) 300% d) 400%

489. A machine is sold at a profit of 1-%. Had it been sold for Rs.40 less, there would have
been a loss of 10%. what may be the cost price?

QM Subdromaigk 10% Georusded aBSILGHBEH. DB h.40 GHMBUTH
alBmTed 10¢p BLLID HDLEBHBH 616360 DIHET DL 6NV HT6wISH.

a) Rs.175 b) Rs.200 c) Rs. 225 d) Rs.250

490. A trader makes a profit of 25% after allowing a discount of 25%. If he instead allows a
discount of 28%, then what would be the profit percentage?

@@m elwmurfl 25¢p HeiepLly OBTHHHID L. 20% GSevruiwenL Smri erefled Seut 28%
H6MEmLIY CBETHHHHHBHTEL 6T6alaITe] EEVTLID DML [HIHHLILITT?

a) 6% b) 18% c) 16% d) 20%

491. Eight men and twelve boys can finish a piece of work in 10 days while six men and
eight boys can finish the same work in 14 days. Find the number of days taken by one
man alone to complete the work?

8 oemideil LoBBID 12 Fmeuiser CFiba @ Gouemsvenws 10 BT H6ilsd GFUIH
wpuuTissT. SI68%H Geuemsvenut 6 SewIE6T WBEID 8 Fpieuisen GFipba 14
BIL 660 (pliLmiseT elafled @ oiew WL B HeMGw ieiGousnevenut 618 Hemen
BT _Herle0 QFUIH Apilimi?

a) 100 b) 120 c) 140 d) 280

492. Three chairs and two tables cost Rs.700 and five chairs and three tables cost Rs.1100.
What is the total cost of 2 chairs and 3 tables?

3 BIB&TelEsT BmID 2 GUehsiseien allensy ¢h.700. 5 HIBSET6 LOBMID 3
Quehamerien aflemsv H.1100 eleflsd 2 BIBHTES WBBID 3 CUEhaB6T6 eMensvenUIsh
HITE0T .

a) Rs.800 b) Rs.1000 ¢) Rs.600 d) Rs.1200
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493. The largest value in a collection of data is 7.44. If the range is 2.26, then find the

smallest value in the collection.
yeitell eleugmisefenr SUOLM WL 7.44, eiFa 2.26 eaflsd FHABM WwHlenLS SHT6emIsm.

b) 5.18 c) 5.38 d)2.1

a)5.28
494. Find the standard deviation of the first 10 natural numbers.

WP He0 10 Ruied elemiberlell H L elendHld HTewrd
d) 1.414

a) 2.87 b) 2.78 c) 2.17
495. A card is drawnfrom a deck of 52 cards. Find the probability of getting a king or a

heart of a red card.
52 FL:L&eT Qamemi FI (sl 19e0hheH @ FLBH TBHBULULLTODIH SITegreursEeur

SIeVeVEH BT IgeTHBaur Disvevdl Flaull] FILTHC6 SHEBHE HHDHHMIS HTEwIH
1 4 5 7
%) 52 b5 kT D3
496. The probability that a non - leap year will have 53 Fridays or 53 Saturdays is
QMM FTHTIeN UMBLSHHL 53 OloueielbdSmndeTDI060H 53 FoulldbaIpemLs6IT

QUHOUSBEHTEN  HBLDHHEN6UD HTEWIH.
2 1 3
23 b)7 47

c)%
497. Find the area of the quadrilateralformed by the points, (-4, -2), (-3, -5), (3, -2) and (2, 3)

eeumid LeiteMbenen 2 Fdld6nmed 2 W BIBSIHH6T LUjlemnus srens. (F.91) (-4, -

2), (-3, -5), (3, -2) and (2, 3)
a) 22 b) 24 c) 26 d) 28

498. Various Expenditure (in %) incurred in publishing a book.

Promotion cost
{eflemt up GFaay)
Printing cost
. (L Yy G=ss
a0 (L Y 2l
10
Rovalty oo
(T ul ) 15%
Binding ] P'alpar Cost
(mreh ooy

(Rememg Feb )
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Whais the central angle of the sector corresponding to the expenditure incurred on
Royalty?

o flew LURIGHGTW dwwd CHTemrddlen LFHInLdS HTewIs.
a) 15% b) 24% c) 54% d) 48%

499. Foreign Exchange Reserves of a country (in million US $)

6000 ~

5040

5000

4000 -

3000

2000

1000

What was the percentage increase in the foreignexchange in 1997 - 98 over 1993 - 94?
1993 - 94 &fbal 1997-98-@ 2 wihs OeuslpT H GFeomeusmiuiled FHeisLD.
a) 50% b) 33 %% c) 24% d) 100%
500. The LCM of (x®-a®and (x - @) is
\5.6.10. smewras (X - a° and (X - a)°
a) (x3 - a3) (x + a) b) (x3 - a3) (x - a)°

c) (x - a)? (X* + ax + a?) d) (x +a)? (x* + ax + a°)
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Answer Key

l.c 2.a 3.c 4.b 5.¢ 6.d 7.a 8.a 9.b 10. a
11.b 12.¢c 13.a 14. a 15.b 16.b 17.d 18.c 19.b 20.c
21.a 22.d 23.b 24. a 25.d 26.b |27.a 28.¢C 29.¢C 30.d
31.d 32.b |33.a 34.d 35.b 36.C 37.b |38.c 39.b |[40.c
41.d 42. ¢ 43. a 44.d | 45.b |46.b |47.d |48.b |[49.d 50. a
51.a 52.a 53. a 54.b 55.¢ 56. a 57.d 58. b 59.b 60. c
61.d 62. c 63. a 64.d 65. b 66. c 67.d 68. b 69. b 70. a
71.d 72. ¢ 73.c 74.a 75.a 76.b 77.c 78.b 79.a 80.c
8l.b |82.b |83.c 84.c 85.a 86.b |87.c 88.a 89.b 90.a
91.d 92.b |93.b 94.b |95.c 96. a 97.b |98.d 99. b 100. ¢
101.b |102.a |103.a |104.a |105.c |106.c |107.c |108.c |109.b | 110.a
111.c¢ |112.c¢ |113.d |114.b |115.d |[116.b |117.a |118.d |119.a |120.d
121.d |122.d |123.c |124.¢c |125.d |126.b |127.a |128.b |129.d |130.b
131.c¢ |132.c¢ |133.c |134.d |135.d |[136.d |137.c |138.d |139.b | 140.d
141.a |142.c |143.c |144.b |145.b |146.c |147.b |148.c |149.b |150.c
151.c |152.c¢ |153.a |154.b |155.d |156.c |157.d |158.b |159.c | 160.b
161.a |162.b |163.c |164.c |165.c |166.c |167.d |168.c |169.c | 170.a
171.c |172.d |173.d |174.c¢ |175.d |176.a |177.d |178.d |179.b |180.c
181.c |182.d |183.c |184.d |185.d |186.c |187.a |188.d |189.a |190.a
191.d |192.¢ |193.b |194.d |195.d |[196.c |197.d |198.a |199.b |200.a
201.d |202.d |[203.a |204.a |205.b |206.d |207.a |208.b |209.a |210.a
211.a |212.d |213.c |214.a |215.a |216.b |217.c |218.b |219.b |220.a
221.¢c [222.d |223.d |224.c |225.b |226.b [227.c |228.d |229.a |230.b
231.b [232.¢ |233.c |234.c |235.d |236.a |237.d |238.c |239.a |240.a
241.c |(242.c |243.d |244.d |245.b |246.c |247.c |248.b |249.d |250.b
251.a |252.b |253.c |254.d |255.a |256.a |257.c |258.d |259.b |260.c
261.b [262.d |263.c |264.b |265.c |266.a |267.b |268.b |269.c |270.b
271.a | 272.c |273.a |274.c |275.d |[276.b |277.c |278.c |279.c |280.d
281.b |282.b |283.c |284.c |285.b |286.a |287.d |288.d |289.d |290.c
291.c [292.c¢c |293.d |294.a |295b |[296.b |297.b |298.a |299.a |300.a
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301.c |302.a [303.c |304.a |305.a [306.c |307.a |308.c |309.d |310.c
311.d |312.b |313.b |314.c |315.c |316.c |317.c |318.d [319.b |320.a
321.d |322.d |323.a |324.c |325.b |[326.b |327.b |328.d [329.c |330.d
331.b |332.b [333.c |334.c |335.d [336.b |337.c |338.a [339.c |340.d
341.c |342.d [343.a |344.c |345.a [346.c |347.a |348.b |349.c |350.c
351.c |352.a [353.a |354.c |355.b [356.d |357.b |358.d |359.b |360.c
361.c |362.b |363.a |364.a |365.c [366.b |367.a |368.c [369.c |370.a
371.b | 372.a |373.c |374.a |375.a |376.c |377.c |[378.d |379.c |380.b
38l.c |382.c [383.b |384.b |385.a |386.c |387.a |[388.b |389.d |390.b
391.c |392.b [393.c |39%.a |395.c [396.a |397.c |398.d |399.d |400.c
401.a |402.c |403.b |404.a |405.d |406.c |407.d |408.c |409.a |410.d
411.a |412.b |413.b |414.d |415.b |416.c |417.c |418.d |419.a |420.c
421.b |422.c |423.a |424.b |425.b |426.d |427.b |428.c |429.c |430.c
431.a |432.b |433.a |434.b |435.a |436.b |437.c |438.b |439.a |440.c
441.d |442.d |443.b |444.c |445.b |446.d |447.a |448.d |449.b |450.d
451.c |452.c |453.c |454.b |455.a |456.b |457.b |458.a |459.d |460.c
461.a |462.c |463.c |464.a |465.c |466.a |467.a |468.c |469.b |470.c
471.c |472.b |473.b |474.c |475.a |476.c |477.a |478.c |479.b |480.c
481.c |482.d |483.d |484.c |485.d |486.c |487.c |488.a [489.b |490.d
491.c |492.a |493.b |494.a |495.d |496.d |497.d |498.c |499.d |500.c




